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Explain briefly the following concepts:
(/) Business fixed investment
(i) Capital account. 3

Assume people of the country expect inflation to be

~ equal to 5 percent by the end of the 20th Century but

in fact, prices rise by 20 percent over these ten decades.

o

Describe how this unexpectedly high inflation rate would

~ help or hurt the following : 54

(/) Firm that provides a fixed nominal pensiuﬁ when

the worker retires.

(i) A person taking out a mortgage in 1950 for 50

years.

Suppose the government increases the expandit:lre. Use
the IS-LM model to show the impact of the increase

in government expenditure under two assumptions :

() The government keeps interest rates constant

through an accommodating monetary policy.

(i) The money stock remains unchanged.

Use suitable diagram _ 7
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Suppose during the year the consumer price index rises
from 150 to 162 and the nominal interest rate is 9

percent. What will be the real interest rate ? 3

Using the quantity theory of money and the Fisher

equation explain in detail how the rate of growth in

money affects the nominal interest rate ? 5

Consider a loanable funds market of an economy. The !

following equations describe the economy :

Y=C+G+I
Y = 3000
G = 1000
T = 1000

C=250+05(Y ~-T)

I = 1000 — 50 r
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(/) Find the equilibrium rate of interest and national
savings. : ‘ 3
(7if) Now suppose the government reduces the .taxes
to 500. Compute by how much amount do the
following change : disposable income.
ﬂ:nnsumptfnh, investment and natipnat savings due

to fall in ‘the tax. 4
(31) 7F @S fof wF ad & S sudem =
GAFF 150 | agH 162 B I % a4 qiefaw
N S 9 WK ¥ aRdf S & a2 ?
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C=250+05(Y-T

[ = 1000 — 50 r
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(@) Explain how the national wealth of 5 country can
change ? 3
(b))  What is a money multiplier ? Suppose an economy has

a monetary base of $ 20 million. Calculate money supply

in the following situations :

(7 All the money is held as demand deposits and

banks hold 20 percent of their deposits as reserves.
(if) All the money is held as currency. 5

(¢) (/) Define budget surplus. What does negative budget

surplus means ? Explain using suitable diagram. 3

(if) Explain the effect of increase in government

purchase on budget surplus. 4
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The following data is given for an economy for the

year 2015. How each of the following transactions would

affect the GDP and why ? 3

(/) Rs. 20 lakh is paid as interest on the national debt.

P.T.O.
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(if) Ice-cream maker began the year with Rs. 10,000
worth of milk in his factory and at the end of

the year he is holding Rs. 11,000 worth of milk.
(b)) Suppose a bond pays $ 1000 in one year.

() Calculate the price of the bond when interest rate

is (i) 5 percent and (i) 10 percent. 2

(i) What will be rate of interest if the price of bond

is § 500 and $ 800 ? 3

(¢) () What do you mean by crowding out ? Explain

using a suitable diagram. 3

(i) When the demand for real money balances is less
responsive to the rate of interest, crowding out

is more. Explain using suitable diagram. 4
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What are components of current account of the Balance

of Payment of a country ? - 3

P.T.O.
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Assume that the demand for real money balances is

represented by the following . 3.2

M/P=Y [0:4 — (r + expected inflation)

Where: Nominal Income (Y) = Rs. 4,000

Real interest rate (r) = 8 percent

Expected inflation = 12 percent is constant in short-run

()

(i)

(1)

(i)

Calculate Seignorage, if the rate of growth of

nominal money is 20 percent forever.

Calculate the inflation tax when actual inflation

equals 12 percent. Is it equal to Seignorage i

L

What is liquidity trap ? Is monetary policy
ineffective in .this case ? =g
Explain why the income tax system or social

security system are considered automatic

stabilizers 7 4
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M/P=Y [0.4 — (r + expected inflation)
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Explain how each of the following transactions would

enter the balance of payment account of India : 3

() The Reserve Bank of India purchases dollars and

sells rupee to American bank.

(if) Indian hotel is sold to Italian investor.

PO,
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Does Hyperinflation die a natural death or a stabilization
programme is required ? What are the elements of
stabilization programme ? Also explain the costs
associated with such programmes. 5
Given the following information :
Consumption C=270-+080Y ¢ Y=~ T
Investment | | = 480 — 6i
Government expenditure G = 120

Tax T = 150

Price level P=3
Nominal Mdney Supply M = 900
Demand for money L = 02Y-4i

Full employment level of income Y, = Rs. 3,000.
() Compute the Monetary and Fiscal policy multipliers.

(if)y Compute the increase in the nominal supply of

money required to achieve full employment.

(iify Compute the increase in government expenditure

required to achieve full employment. 322
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Hal & fag =@M =02y =
A H YO YT &R Y, = Rs. 3000, T
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(@) Why are exports added and imports deducted when we -

calculate GDP with expenditure approach ? 33

(b)) How is the rate of interest determined by the demand

and supply of money (assuming no banks in economy)? 4

|
What happens to the interest rate if : 1
() Nominal income falls. l

(i) Central bank chooses for expansionary open market

operations. : sq
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Explain whether an exogenous increase in price of oil
will shift the short-run aggregate supply curve or
aggregate demand. What are the policy options available
for the macroeconomist working with the government
to minimise effect of these events on the economy ?

Use a suitable diagram. 7
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L. Attempt any four from the parts (a) to (e) in this question : 4

(@)

(b)

(i)

(if)

(i7)

(2)

For any two vectors x and y in R", prove t
[l = v < B = 5
Find the equation of the plane through the poi

(-1, 2, =5) that is perpendicular to the plani

2x+y+z=land.t'+y—2z=3.

Does the following set of vectors span R*? W

or why not ?
v, = (4, 8, 0), v, = (2, 3, B, ov =304
Vi (1, 0, 1).
What is the minimum number of vec;:urs require
to span R’ ?

Prove that if a matrix A is orthogonal, then tt

determinant of A is £1. Prove also that the conve

is not true. 4
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(d)

(e)
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A system of linear simultaneous equations is given by :

x+2y=10; 3x + 6y = p; gx + 8y = 40.

)

(ir)

()

(i)

()

)

Find the conditions on p and ¢ for the system to

be consistent.

In each case, specify the degrees of freedom of

this system and how many of the equations are

superfluous ?

Prove that if a linear system of equations has more
than one solution, then it has infinitely many

solutions.

An orthogonal matrix is a non-singular matrix A
such that A" = A!, Show that the determinant of

an orthogonal matrix is +1,

Define the property of linear independence for a

set of vectors {x, x,, ..., X, }.

Prove that the set of non-zero vectors {xl, Xy X3}

is linearly independent if the three vectors are

. pair-wise orthogonal.

P.T.O.
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x+2y=10; 3x + 6y = p; gx + 8y = 40.

()

(if)

(i)

'pacfmﬁ?ﬁﬁmmﬁﬁﬁw

fm & 9ma (consistent) M %ﬂ S IEFEED
gl

Y® " H 39 e w1 waea wmifeat
qa3C § e off Faeu BF fRay g
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e (0 gfesii & TH L83 oo EAER B SIS o %_g[,

@ WA (linear independence) & 70T
gfrafua wifsa |
iy fog #ifsm fr swma ofst w1 W
(.. x,, x,) Yo @@ o g Ak A d
HiTY FHAR (pair-wise) TTHIA e
Attempt any fwo from the parts (a) to (¢) in this question : 2x5

-

(@) (i)  The equation xy + 2yz + 3== = 6 implicitly defines :

z as a function of x and y. Find the directional
derivative of the function in the direction (2, 5) at

the point (1, 1, 1).

(i)  Find the value of the second order direct partial
derivative of z with respect to y for the function

in (/) above at (1, 1, 1).

by () Calculate the rate of change in z at r = 0 if

doulany = \hz+l.

3
5t° + 3xy 5
Z @O N =
2wy

w=¢ + 1.
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(1)
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(i)
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‘Show that the equation of the tangent plane at the

point (x, y,, z,) on the surface z = ny is given

! s Ay = e =
by yx + xy — 222 = 0.

Draw the level curve for the function

fx, y)= -,/,1-'1 - x? passing through (3,5).

Find the unit vector perpendicular to the level

curve at this point.

State and sketch the domain for the function

flx, W) =Jy—xIn(y+x).

wwﬁﬂm(a)ﬁ{c)ﬁﬁﬁm’fa’rﬁm
e ;-

(@)

(0

I 2y + 2pz + 322 = 6 T T F 2 Fl
xdyd FEA B = & o T $
g ®od & fag g, 1, 1) W g 2, 5) 4
fevrens 19 S (directional derivative) T

I |

P.T.O.



(6)

=0

(#)

O]

(if)

(1)

() B f(x,y)=Jy—xIn(y+x) T domain
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! Attempt any rwo from the parts (a) to (¢) in this question : 2x6

(a)

(b)

(/)

(1)

0)

An equilibrium model of labour demand and
autpuﬂt pricing teﬁds to the system of equations :
Pf(L) = w =0 and PAL) = wL + ¢, where [ is
twice differentiable with /“(L) > 0 and £”(L) < 0.
All the variables are positive. Regard w and ¢ as
exugenﬁus so that P and L are endogenous

variables which are functions of w and ¢ around

the point A(w, ¢, P, L) = (wn, e e Lﬁ}. Find -

dP dP dL dL
dw’ de Ow dc

expressions for by implicit

differentiation.

For the function L(w, ¢) in (§), find an approximation

to L(w, ¢) at (w c,) close to (w,, Cg)-

State the definition of a homothetic function.

P.T.O.
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(iiy-  Are the functions f/ and g are homothetic. Give
reasons.

.
JX Xy iy X)) F A(ﬁixl_p +85x,° +oa ﬁ”:r,;”] P

Y

gle;: X0 2log x, + Slog x,.

. 02 08)
(@) ()  For the function z = flx, y) = [~ F e
evaluate the elasticity of substitution and verify

Euler’s theorem.

(i) Is the sum of two quasi-concave functions

necessarily quasi-concave ? Why or why not ?

T Y A 9 @) ¥ (0 B A 5l @ & W

gifse

@ O maﬁnﬁaﬁﬁﬁ%%ﬁuﬁm%
TS GrAaEdl HiEd (equilibrium m.-:,:del}ﬁ
frfafea g fem g ek €

PrAL) —w =078 PAL) = wL + ¢, ST&l fQ IR
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HATFAAIT (twice differentiable) &, forgd

FAL) >0 F f7(L) < 01 9 B HHAICHF B

HE @it f& w9 ¢ HIedSIId (exogenous) %
S o6 p 3 L sreia =) € S T fag
A(w, ¢, P, L) = Wy iCot I’ﬂ, L) F A v g

c® ®EA T Y& FAGHEAA (implicit

oP dP dL dL

diﬂerenlla!mn)aﬁ HEd | - e D s

2d 9% T -ﬁﬁ’:ﬂzl
(i) WM (1) § B Lw, ¢) © (w, ¢,) P THT
(w,, ¢,) R Gf=shed @ Fifeg
®) () B"m‘iéifzaath—cﬁ(hanmfheuc function) Tt aftsren
fafau |
(if) 'ﬁﬁri%if@‘c'f e £ 9 ¢ emdfes § W wE,
TEhl HERU & ¥ SR difau
n
Sy, Xy %) = A8 482550 + o+ 8,0, ) 9

8x, x,) = 2log x, + Slog x,.

P.T.O.
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‘ (02 o0s)" - "!
(¢) () el - = Jix, y) = (T 37 TJ %ﬂ Hﬁ-{gn‘qq"i
1 T (elasticity of substitution) T Hifeu g

mlas ial

Al b

AR & 9HA (Euler’s theorem) & Fofad
ey |

e

e e e’ i

(i) T T STF-3Taqd (quasi-concave) Tl hl
arrea fifvea AR W eTg-otaad A ¥ 72
A F; OAE 2
4, Attempt any three from the parts (@) to (d) in this question : 3x7 |

(¢) Find the critical points and classify them as local
maxima, local minima and saddle point for the function
2 —(x’ +;.~2]
flx, V)= +2V):e™ :
() Find the maxima and minima of the function
: x! - x (v -2
a(x, y)=2x+4)e " (2y-DhHe- defined on
the set S where S is rectangular region with vertices

(0, 0), (0, 1), (2, 1) and (2, 0).



(¢)

(@)
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x(a, b) = AVab is a production function for good
x using inputs @ and b. Use the Lagrangian method to
find the amount of the factors required to produce an
output X at minimum cost, when prices of the inputs are
p, and p,. Check the second order conditions and verify

the envelope theorem.

Find the closest point to the origin on the curve given
by the equation x> + xy = 1, x > 0. Also calculate the
minimum distance. What is the rate of change in this
distanca. as the constant 1 in the equation of the curve

increases marginally.

T U H 9 (o) ¥ (@) H Q7 @9 & S|

<ifs

-
-

@ O fx, ) =2 +2y) @ ) R wE

fﬁﬁaﬂ (critical points) sG] ﬁﬁvm GRS E% T
m(]oca] maxima), T ﬁff:ﬁl"ﬁ(lnca] minima) 9
F131 95 (saddle point) & TR W =ifia wHifu)

P.T.O.



(b)

()

(@

AN W S F ¥ SEYIF HIH (factors)

(14) 1615
gq=Ed S W gfrsnferd FAd
2 ) = i dies =2y —1el- 2 g Sfeaes
(maxima) & FIfEASS (minima) T HIFQ ST S, ¥
el (vertices) (0, 0), (0, 1), (2, 1) @ (2, 0) ST STATHR

& (rectangular region) gl

x(a, b) = AJab , ST o 9 b HI HEFA q I x|
1
F1 IAET Fod 71 S HI AR ¥ H FAAH |

1 AT St faf¥ (Lagrangian method) %1 TEIFAT |
} T Hifew, afg S w5 & p, 9 p, €1 fodE

wﬁwﬁaﬁaﬁ'ﬂﬁﬁqa Wm(envelnpe

theorem) 1 Tefua shifeiu |

m.t2+xy= |, x > 0 gr0 fAuif@ o W qa
forg (origin) & THuaw feea fag =1 3@ sl
o = o 1 o S B | we @ e
| # Aret wfad | 3§ =gAad gl # 9fted @

T RN T ?
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Attempt any fwo from the parts (@) to (¢) in this question : 2x4

X

2 & :
(@)  Show that the function y = (x + 1) — — 15 a solution
)

d

. 2 3 v ; Tl
to the differential equation af_ = y — x, which satisfies
.

2 A
the initial condition y(0) = —. Sketch the solution.

-

L0

y

(b)  For the differential equation -{3}- = y"’ -y — 6, draw

the phase diagram and identify the equilibrium values.

- Identify which of the equilibria are stable..

(¢)  Verify whether the sets A and B are convex :
A= {(x, y)ix‘?‘ +y% <16, x* + y? 24}

2x + 5
x+2

B= {(J:,y)ly > ,x::»{}},

HIHE T I () A (o F QB W
dfsa .
(a) Wﬁﬂﬁﬁyﬁxﬂ}—-‘;—x,wmﬂw

(differential equation) % =y - x % TH TA € N

o uRfesR 914 (initial condition) 1(0) = —i— ] e -

FT@ ¥ T B F embEw (sketch) HIFSTT |
' P.T.O.



(16). =, a6t

(b) mamﬁﬁw%:fﬂ_ﬁ@wm_

(phase diagram) FATEU ALT HIEATEET fmg,aﬁ & A
Ffa | e graEEE @ €, 9w it

(¢) 'HW A d B & S'ﬁ'ﬁ (convex) %, TegTiad
SIS

A= {(x, y)lxz +y2 <16, x% +y° 2:4}

2x + 5
* 2 x>0,
B {(x,y)Iy i }

16 3,500
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(2)

(@) Imagine an economy with only two business firms, XYZ
Ltd. and ABC Ltd. The XYZ Ltd. owns wheat farm. It sells
come of its wheat production directly to the public and
rest to ABC Lid, which produces and sells bread. Th'.

following table shows the transactions of each business

during a year :

S.No. Particulars Amount (Rs.)

XYZ Ltd. Transactions
1. Wages paid to employees
2 Tax paid to government
3 Revenue received from the sale of wheat :
() Wheat sold to public—Rs. 40,000
() Wheat sold to ABC Ltd-Rs. 1,00,000
ABC Ltd Transactions
1. Wages paid to employees
2 Taxes paid to government
3. Wheat purchased from XYZ Ltd
4. Revenue received from sale of bread

Calculate the GDP, using product method.

3914



(h)

(©)

(3) 3914

(1) Calculate the money growth rate required to finance
the budget deficit of Rs. 10,000 in an economy. Given

the following information -

Income (Y) \ = Rs. 1,00,000

Nominal Mﬂney Supply (M) = Rs. 80,000

Price level (P) = ERs. 70 3
(i)  What is Hyperinflation ? 2

Explain the effect of adverse supply shock on price level
and output in the following conditions with suitable

diagram :
()  When aggregate demand is held constant,

(/)  When aggregate demand can be increased, 7

Ltd.%‘l‘lﬁﬁi%@ﬁ%l%ﬁﬁ%m
Eﬁraﬁﬁmmawﬁwﬁamase
L:d.aﬁéaﬁ%,ehﬁmﬁﬁﬁwwm
Hﬁmaﬂﬁ%l@aﬁf%?ﬁmﬁ%ﬁaﬁ
mmtﬁﬁ%ﬁ?—aﬁﬁﬁ@ﬁﬁ%l

P.T.O.
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wU | ST Tfonr (F3)
XYZ Ltd. & @H-aA

1. wefE @ fen T 9w ' 60,000

5. @R & fgm W 20,000

3. g & faskl | W@ STH-
(/) S @ =1 T AE-40,000

(ii) ABC Ltd. &1 s= T 71§-1,00,000 1,40,000

ABC Ltd. &1 TH-GHA
. wdEfE @ e T da 40,000
7. @R H faa T H 8,000
3, Xyz Ld ¥ TE FH HA 1,00,000

4. =g Ufeal @ fawt @ 9w ST 1,60,000
'Wﬁﬁmcnpﬁmaﬁﬁal

() (i) TH syeferaear # 10,000 ¥ & TS
%ﬁmﬂﬁﬁqwmgﬁga{
| Frefafea e & T ¥
s (Y) = 1,00,000 ¥4
grafas 7g1 gfd (M) = 80,000 L3p|

g & (P) =.20$qﬁ




(9)

(a)

(&)

(€)

(5) 3914

(i) faewifa = & 2

Frfefen feafadl § w9 == 9 saeq w faadq
Ifd w=h & yuEl #t sfaa o gm sTEm
Hifed

(i) <9 "Ffes wA feor @@ T
(i) & "Ffesd WM 9% gFd 2

Explain the components of current account of balance of

payments, 3

What happens to the equilibrium rate of interest in the

following situations ? Use suitable diagram.
(/) Decrease in nominal income
(i)  Decrease in money supply. 5

() Define IS-curve. Explain its derivation

graphically. 3

(/1) Explain the factors causing shift in IS-curve. Use

suitable diagram. 4

(31) YIH 39 & =16 @4 ® T3] s F6

(=)

Frefafaa fafel § dqem = <0 %1 70 22
fea o3 &1 swdm =i

P.T.O.
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(@)

(b)

(¢)

(6) 3914
(i) Hﬁﬁﬁsﬂmﬁaﬁi
Gy w1 9fd H T
() 1sT% 1 qRenfHd i a3 g 1S9
+ famior #1 = SIsE |

G 1s-a% T fawsmE e B i icareafica
Al HifsA | 3feq fo &1 s9Em &ifSd |

Briefly explain the following concepts
()  Business fixed investment.

(i) GDP and GNP. 3

Rohit borrowed Rs. 50 lakh from a bank in 2015 at some
rate of interest to be paid in 2016. During the course of
the year actual inflation was not equal to the anticipatel .
inflation. Who gained and who lost and why ? Explain
in both situation (i) anticipated greater than actual an |

(ii) anticipated less than actual. 5

(/) Explain the various stages in the monetary transmi
sion mechanism.

(i) How does increase in the money supply affect th

price level and output in the long-run ? Explain usin

AD & AS curves as per classical model.
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(37) Trfefen sTaumonsii 1 dfaa =men fm .

(=)

(])

() Tgad feer faw
(i) GDP I GNP |

ﬁ@ﬁzmsﬁﬁmﬁsomwﬁmﬁm@
AN ] R faan, st fF 2016 # qram fran s
Tl o4 B <R, arafad wEif omfad @ aer
T W R wen A R wf ww =i 2
<l feafedt & sarem wif ) sm () sTfa e
areferss @ tfoes € a9 i) omifer eRfy arcfys
q %9 B

() TfeF TR 93 F At st
AT FifS |

(i) <HEE F g3 9fd A firee #in wwo g
SR Al Y yuifad W@ ¥ 2 wenfawa
AT & STTAR AD 9 AS Th1 1 STIT FTE
AT hiford |

Which of the following transactions are included in the
calculation of India's GDP ? Give reasons in support of

your answer :

() Interest on national debt.

(#1) Commission charged by a real estate agent. 3
P.T.O.



(b)

(©)

(1)

Real GDP = Rs. 48,000

(8) 3914

Given the following information :
Quantity of money (M) = Rs. 4,800

Nominal GDP = Rs. 96,000

(i) What is the price level and velocity of money in

this country ? 2

(i) Suppose the velocity is constant and the economy’s
output rises by 20 percent each year. What quantity
of money and money supply should the central bank
set next year if it wants to keep the price level

stable ? 3

Explain the effect of investment subsidy on equilibrium
interest rate, consumption, investment and GDP. Use
suitable diagram. Compare the results with other fiscal

policy measures. 7

ar & gpp # o # frAfafea Al
ﬁﬁéwﬁﬁmw?mﬁ-mﬁn
ﬁma’ﬂﬁﬁi:

() TS RO W A
(;aﬁqaqézqﬁ?mﬂmwm
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(9)

(a)

)

(9) 3914

ﬁﬁﬁfrﬁﬁﬁmﬁ‘ﬁ%:

HET & AT (M) = 4,800 99

HHTTH GDP = 96,000 T3
A g® GDP = 48,000 T

() ¥9 sdeHeT | wMa ®R 9 qm #1 A a

¥ 7

(i) A it fF 9 feer & 9 srefergee =
ST 20 gfqvrd gfoad @ =we@ & O a1y
ﬁmﬁmﬁaﬁﬁmﬁwagﬂiﬁfﬁmﬁ
FC B AR 9% Fma = w T e
el & 2

HETH =9 T, 3959, F391 9 Gpp W Fiy afa
% YHT FH AT Ff sfad faa @1 swim
IR 99 wfomH o= TeEEE suE 8
g gaT Fifs

Why are market values used to measure GDP ? Explain

with example. 3

Explain the determinants of the demand and supply of

central bank money. 5

REO:
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(¢) Using the equilibrium condition in financial market
(loanable funds), show the effect on equilibrium interest

rate, national savings, and investment in the following

cases :
(9 An increase in government purchases.
(i) A decrease in amount of taxes. 7

Use suitable diagram.

(31) anﬁmﬁquﬁﬁmmﬁﬂaﬁi
mm%?mﬁmﬁmﬁmn

(H)ﬁqﬁﬁﬁmaﬂqﬁaﬁﬁﬁfﬁﬁﬁw
ar@lmnaﬁﬁm@nﬁfam

(H)ﬁ?ﬁummﬁﬁ@mvﬁmwmdgm

o < i e A e W frfated fefe

L

& qura @ <z c
() @ ®wa 4 gfsl
(n)mﬁtﬁ*ﬂﬁw:m

Shg fam &1 ITAM i |

1

]
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Cille) | 3914
(@)  Use the following data to calculate private saving and
government saving :
GDP Rs. 8,000
Net factor payment from abroad Rs. (—-)100
Consumption Rs. 2,500
Government purchase Rs. 1,500
Interest payment on government debt Rs. 250
Taxes Rs. 2,800
Transfers Rs.1,200 3
(b)  Using the quantity theory of money and the Fisher equa-
tion, explain in detail how the rate of growth in money
affects the nominal interest rate. 5
(¢0 ()  Derive the aggrégale demand curve using classical

quantity equation ? 3

(7))  Explain the role.of multiplier in determining the slope

of IS-curve. Use appropriate diagram. 4

P.T.O.



SqaT 2,500 ¥94
T w4 1,500 ¥4
T WO T SAE I 250 T
FT 2,800 ¥4
AT 1,200 T4

(if) 15—%%%@?{%%1&011?1110@3%%}
mﬁaﬁmaﬂﬁﬂlaﬁmﬁﬁaﬂw
Hiferd |



(13) 3914

(@)  The following data is given for two vears output and prices

for an economy :
2011 2012
Commodities Price(Rs.) Output (kg) Price(Rs.) Output (kg)
A 10 60 16 100
B . 6 80 12 140

Calculate the Nominal GDP, Real GDP and GDP deflator

taking 2011 as base year. 3

(b)  State and explain various costs of hyperinflation in an

economy. 5

(¢)  Given the following information :

Consumption C =360 + 0.80Yd; Yd=Y-T
Investment I = 640 — 6i
Government expenditure G = 160
Tax T = 200

Price level : P=3

Nominal Money Supply M= 1200

Demand for money L=02Y-4i

P.T.L.
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Full employment level of income Yj. = Rs. 4,700

() _ Compute the value of Monetary and Fiscal policy

multipliers.

(i) Compute the increase in the nominal supply of money

required to achieve full employment.

(iii) Compute the increase in government expenditure required

to achieve full employment. 322

(m)@aﬁaaw%%qaaﬁﬂﬁqﬁaw
& s Fretfafen fow o ¥

2011 2012

Tl wHd S Fd SR
Fw) (fm mm)  FE) (& I

-
A 10 60 16 100

B 6 80 12 140

2011 F SUR 99 T gU Gishfash GDP, AR(d® GDP
3 gpp ferx F@ HIfSA |

(a)wmﬁwawﬁaﬁmﬁﬁaﬁﬁmwﬁﬁ
qART § A HifSd |
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(9) F=fafea sifwe feu 7o § .

EEE . C=360+080Yd; Yd=Y-T
e I = 640 — 6i

WHEN =g G =160

R T = 200

FIHd &' - P=3

ESLE T e e A B M= 1200

g1 & fau w\im L =0.2Y- 4i

AF 1 g ISR -

i Y, = Rs. 4,700 ¥

(i) ﬁ’ﬁmamﬁﬁuﬂﬁrwwq@maﬁﬁﬁn

(i) wmwmﬁﬁmww%
&t gid d gfs w1 w@ wif

(i) 01 VSR W &y & e oiavas @i =99
4 gfe &1 3@ Hifd )

3914 15 10,000
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used throughout the paper.
: T8 - B S SN W fedt R ww e # i ofes = =
w1 HEAH TH ¥ OBl We
The question paper is divided into fwo Sections
Jfour questions in all, selecting two questions from Section A and o from Section B.

Use of simple calculator is permitted.

T& gEe § 9 4 fawfsa g
‘.--— At 9R UvEH & 3ok i, 'c'ffwmawsi‘r{?ﬁﬂrmanﬁl
- ee—_—— it oA B A ST R .

Section A (VT 29)

(2) In a two person (A and B) and two good (X and Y) pure exchange economy,
the ordinal utility functions of the consumers A and B are given as :

1 3
U, (X, YP=rsln X, % <in Y, and U (X.¥) =X, X))

ET.O.
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where X, X, Y,,Y, are the consumption of X and Y by consumers A and B
respectively. A is endowed with (10, 0) whereas B is endowed with (0, 10).

() If Aand B trade with each other using the competitive mechanism. Write the m
clearing equation for X and thereby find the general equilibrium price ratio
allocation ?

(i) Is the competitive equilibrium allocation equitable ? Why or why not ?
(iii) Is the competitive mechanism equilibrium allocation fair 2 Why or why not

(iv) Ifthe initial endowment were interchanged between A and B, then write the m
clearing equation for Y and thereby find the competitive mechanism equilibrium
ratio and allocation ? Does any agent envy the other ?

(b) Is it possible to have a Pareto efficient allocation that is not equilibrium in a 2%
exchange economy ? If yes, under what conditions ? Show in an Edgeworth box.12:

(37) Y fafem srefeeen # < = (A 991 B) U9 <1 3% (X @21 Y) §1 =9
A TN B & FHAEE SWIA e fEmER ffu o T o

U X, Y)= -nX, +tha Y, 0 U, XY, = min (X, Y,),

Sl X, Xp, Ya, Yp FOR1: A T B G X T Y IR F STHA T
Al (10, 0) R S&feh B i T=AT (0, 10) B T9ET T T
() I A qW B Wawmdl 99 F TN FW TW TH TR F A9
FW T, A X F U SoR gewieE g fdfed qor g

A 9 o e s |
G) T Sfeeudt SqeM oeed MW ¥? i swen @ AE 2
i) 0 SiqAn W@ Sded eeen frea §2 w4 weEl & 98 2
(iv) AC A T9 B & 99 IR 90 &1 IRHE-TEH a7
Y & fou s=R monhE aHee fafae ao 39 yer gfaest @
Tod A AR e e w1 R o =k g =AfE 4
| W@l Bl | I
(F) 1 TH T T AT THT W F 2 « 2 fafe sdferewn |
T A2 AR & A e ofifefeE 82 w woad @fm § fesd |
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2. (a) Five persons A, B, C, D and E constitute a society having preferences regarding four

alternatives w, X, y and z. The following table shows how each person ranks these alternatives

|

from the best (topmost) to the worst (bottom most).

i

Person A Person B Person C Person D Person E
| w z z w y Bl

.. X y X ' y z

¥y ' X w % w

z | w y z X
_ (i) If they vote first on w versus x, then vote on the winner of this first contest versus
' y and lastly they vote on the winner of second contest versus z, then which alternative

is the final winner ?

i (if) If instead voting is done first on w versus z then on the winner and x and last

on this winner versus y, which alternative wins ? |
q (iii) What do the answers to parts (i) and (i7) illustrate ?

(iv) If each person gives ranks of 1 (to his best), 2, 3 and 4 (to his worst) alternative

then which alternative wins in this rank-order voting ?

(b) “Every point on the convex utility possibilities s¢t can be welfare maximum?. For what
- kind. of welfare function is this statement true ? 15+3.5

(%) {5l 9o § 9" AR A, B, C, D 991 E € 5=t mafasad =R fowed
\ w,x,y,ﬁ?ziﬁmﬁlﬁﬂmﬁmwg'ﬁm@ﬁﬁm
R fawcdl ® wEds (W $W) § Fgea (ve8 F=) F:4 3a
T?

e

P.T.O.



Hfed A HAferd B Al C At D HfkT E
w z z W :
x y X y z
¥ X w X w
z w ¥ z X

(a)wﬁammww%mﬁgwmﬁwﬁ

(a)

() AT 9B w T x § HAGH BN §, AAYAR SHSb faerd qdqr p A
T T, SR ¥d H gud Al & fosiar wd z # Haew 2 R,
Fad: wAa fawey fas=dr 2mm?

(i) 39 999 AR T w AW - ° ¥ fed s & fau gaem e
T, T 9% A e fosar q@w x H "W fEw e ¥, w6 e
mﬁémﬁmy%ﬁawmwﬁmﬁwm
32

(i) 9T (j) AT AW (i) & IW F <A T2

(v) A Yo Al T fawey =1 W& 1, T 2, 3 91 frgreay
®H 4 ¥F M T AW E-FH AaeE H A fawey Stam?

gl 59 sl e & fou 98 w9 @ §2?

A beekeeper chooses the number of hives ‘H’ to keep. Each hive produces one kilog
(kg) of honey which sells at a price of Rs. 60 per kg. The marginal cost of holdi
*H’ hives is : MC = 20 + 8H. The hives are located next to an apple orchard.
The orchard owner benefits (without paying) from the bees because bees pollinate
the trees and bees from one hive pollinate one acre of apple trees. The cost of artifi c?'_

pollination is Rs. 24 per acre of apple trees. .
(/) How many beehives ‘H’ will the beekeeper maintain ? *

(if)  Is this the economically efficient number of beehives ? Explain.
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(ifi) What changes would lead to a socially effcient operation ?

(iv) How much subsidy should be given to the beekeeper for inducing him to produce

socially efficient number of beehives ?

Consider a plant that manufactures dynamite “d’and a nearby farm producing tomatoes‘r’.

The cost of production of dynamite is :
T C, d, n) = =d* + (n — 2)°

where ‘d" is the amount of dynamite produced and *»’ is the intensity of use of a nitrogen
in the production process. The side product associated with use of the nitrogen is ammonia
- a fertilizer that is released into the air. Such fertilizer promotes growth of tomatoes
making the production on the farm cheaper. In particular the higher the intensity *»’ the

1
lower the farmers cost : T C, (¢, n) = = #* + 2¢ — nt.
The prices of tomatoes and dynamite are P, = P, = Rs.1

(/)  Find the level of production of dynamite ‘d” and intensity ‘n” that maximizes

~ the profit of the dynamite manufacturer. What is the maximal level of profit ?

(i)  Given the intensity ‘n’ from (i) find the optimal level of production of tomatoes

‘r" and the profit of the farmer.
(7iif) Find the joint profit of the dynamite manufacturer and the farmer.

(iv) Economists say that the positive externality is associated with too little activity, compared
to the efficient outcome. Are your findings in this problem confirming this
statement ? _ 9+9.5

L (DuE me wew B9 F SET 0 O | YOS 5 T e T

AN

1 SUEA HE ¢ TSEH FHA 60 TIU YA Fhdmm ¥ Ay wem #
9 @ MC = 20 + 8H ¥ B4 UF QF & 9 B AG-U9 ¥ oS
F1 Al AYAFEE ¥ 9 T FA § i Yols HYTRS 1 B TH
THe & Fa & UG H WO FA ¢ FEHT WEA TR WO FE AN
Rs. 24 9fd THT T

P.T.O.



(9) TH SHTMEE ‘@ IURH 3R S T9elF TF S | fa=r 51f/m)
H AT T 2 TC, W) =2+ (- 2p

(@)

) OB F TEm aifE w9 ¥ wwe ven 32 swen w6

k162
() WYRFEEE fFay B9 a9 W@ ?

(i) FHH IREAT TF TR €9 ¥ KIS GEOE F ARG w02

(iv) AYEIEl Uelh 1 WSS ®9 9 Hy@ qynfReE & ooe &
F1 &g fohadl anfties memar (wfeas) & st =i 2

W&l ‘¢ SEAMIEE A ¥ AR o EIRE T dea € S e
T JE A E1 MEESE B WY iR A SR € W @R
T H fE B ¥ W e W OWE TR F IWRT ) oaed TR
WM B FH FE ¢, @ AR W 0 Hdlod B SHER GhEE @
FH T T : TCl(t,nJ=-2-tz+2£—nt.

P; = P, =Rs. | SEAMEE AR THRR & HiOd B

() TEEMEE F IR AR o H dEa T e W emEEmE
F A FEOY FF BT ¥

(i) =n'ﬁaﬁamm(f)a%m%ﬁﬁmaﬂmmmm
- #AR fFEE # @y feaw e

(i) TETER-SARE AR REE # OgE oy fefad

(iv) ARG H Fa0 ¢ % s=aq Rom # qow § s
WW@WW%!%WEﬁWEﬁW@W
e e e ¥2 | —

Ann (A) and Bobby (B) share an apartment. They spend some of their income on
private goods separately and some of their incomes on public good like TV. A’s util}t}’
function is : Up(X4, G) = G14X,3and B’s utility function is : Ug(Xa. G) = G!2Xg"2. |
where X, and X are the quantities consumed of private goods by Ann and Bobby

and G is the size of the public good, where, G = gat gg. the contribution of A
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and B for buying TV. Both Ann and Bobby have income of (W , and W respectively)
Rs. 2000 each per month. Price of public good is given as, P; = 100 and price

of private good is given as, Py = 1.P reflects the marginal cost of public good.

(i)  Write the conditions for the provision of the Pareto efficient amount of public good

assuming both Ann and Bobby can pool their resources.
(if)  Find the optimum size of G for the provision of the public good assuming X, = X.

(b) There are two types of workers in the labour market, high ability workers and low
ability workers. Let education be a signal to the firms and firms pay each type of worker
according to their marginal product. A successful signal causes high ability workers to
receive Wy and iow ability workers to receive W, . In pérticu}ar, the cost of acquiring
education ‘C’ for workers is Rs 15,000, Wy = Rs. 40,000 and W, = Rs. 20,000. B
is the proportion .of high ability workers.

()  If there is a pooling equilibrium in the model, what should be the proportion of

high ability worker, [3.

(if)  What kind of equilibrium will occur if the cost of acquiring education is less than
Rs.15,000, assuming B as above ? 9.5+9

(3) T T A6l TF FEH H WY WA 8| A AT FE F FHY 99 o0 aged
W FA-FT TE F AU FD W S a5 W S fF oo |

T 61 SHAIT BT U, (X, G) = GV4X, ¥4 a9 Sisll o1 STEIFE1 %ol Uy

L (x G)—GleXIfl%aﬁanm Xp RI: T a9 SfE gRT SUe i
€ WA G WS L SEE X AT G- g+ e ¥l @

% ‘ﬁi{aﬁf E‘%WW(W W, 41 Wp) Rs. 2,000 81 HESIH o5

WWPG—loowﬁsﬁqegaﬁwqd Py = L. PGW:T'EIﬁEEIQﬁ
e @ s3I 2 :

() WESE 9% H T A T % YEYE 6 IW fared A
ﬁtﬂaﬁfﬁmémﬁﬁm\aﬁmm%l

TR Y

'\'.

BT.0.
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(i) X, =Apg TF QU WESTH g & WOuH F fou G &1 e
I i |

() M IoR # < YHR F fiF T, T2 Al 9 SfiE a9 FH e
gt | 9 ot foen w6 & fom = d@6d ¥ 9w o vom TER
#H% F UHN I9E F AR PTAH 6 ¢ T G5 T3d 559
art #fhER w: oWy T HH GHAT O ARl W W, W™ R H
W%lﬁ%ﬁﬁﬁ%ﬁ?ﬁ%ﬁﬂﬁ%‘@%%ﬁﬁww
¥99 ¥, Wy = Rs. 40,000, W, = Rs. voeooamﬁﬁmm@r%ﬁm
FIIA T

() SFR Hled H 3hed (IferT) Tger &, @ =9 amar A SrEsdie
ST, B B

() afc e o< HE F AW 15,000 Y FH L, 995G q@
TgeM AT AR p F IfefEd I T oE fo W |

Section B ({TTT o)

(@) Mr. Gnash, who will distribute Rs. 4 between two people A and B. asks the
simultaneously write any whole number between 0 and 4 on a piece of paper. If
‘sum  of the two numbers is at most 4 then both will get the numbers of rupees
have written. If the sum exceeds 4 and both have written the same number then
will get Rs. 2 else the one who has written the smaller number will get the num
rupees he has written and the other will get 4 minus this amount. Determine the
response of each player to each of the other player’s actions, plot them in a dot-ci
best response diagram, and thus find the Nash equilibria of this game.

(b) Consider the following game :

Flayer B =St u e ey
———,
L R
Player A u 24 1.0
D 0.1 4.5
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(@) H Bd | R &g

A

(

9

)

2205

(/)  Find out mixed strategy Nash equilibrium of the game if the game s plaved

simultaneously.

(i)  Draw the extensive form for this game and find out sub-game perfect Nash egulisrum

if the game is sequential and player A plays first.

(7if)  Are the Pure strategy Nash equilibrium of the game strict equilibria

definition of strict equilibrium.

? Explamn giving

10+9

() fa. Siw, @ =af A T B % 9 Rs. 4 foafa @ 31 == @ @™
FS % Th Ihe W 0 94 4 & =9 &8 H quis == === = &

—

Fedl T A & de’ HI demsd F AW Afywaw 4 =

ZH 3 T

g fae T e & SR v9d foa SN 9 o o= =9 o4 3

afes & 91 SH1 7 TF & AR fe@n ¥, a1 SF w2

= A AR

¥ 1 Fm wR F e ® AR A 3 oem v fos T A e e
e fadt ¢ 30 97 v fiertt @R R = 9t o foeem | w9 faers
& Waad Wiafwea @1 fruRor Fifs3, 3% ele-uwa a2 394, @R =
YHR TH O H N TgAT Gt 2

RaeTet A

BTN KT

faerst B
L R
U 24 1.0
—

e

@ waﬁ@mmw% ﬁﬁmmﬁ%ﬁwwmwwﬁ
(i) A H AGFH T H Td HIVA 99 SU-Bd IRyl 9 Gged 71

HIY A T ATHEE T AW T fEeret A S B

(i) N TA F LG WA A HIed FOR Uged 2 FOR Faew F

IR 9d gU THEEA |

P.T.O.
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(0.9 4405

(@) Two people are engaged in a joint project. If each person i puts in the effort X, a
non-negative number equal to at most 1, which costs them C (X;) = X, and C (X,)
= X,, the outcome of the project is worth F(X.X,)= 4X,X,. The worth of the project

is split equally between the two people irrespective of the effort levels.
(i) Find the best response function of the two players.

(if) Make the best response function diagram and find the Nash equilibria of the game. :
(iii) What are the payoffs of the players at these equilibria ?

(iv) Which pair of effort level, the payoffs to the players is highest ?

(h) Consider the game below :

Player 2
L R
Player1 | T 4,8 0,0
B 8,20 XY

(/) Inasimultaneous game, if (B, R) is the only Nash equilibrium of this game, what

must bc_e true of X and Y?

(i7)  Present the game in extensive form. If this game is played sequentially, identify all

sub-games with Player 1 moving first.

(iif) Assuming (B,R) is the sub-game perfect Nash equilibrium (SPNE) outcome, what
must be true of X and Y ? 10+9
(27) <7 T T WY RS H o B 1 AR T AR i a9 X, TR TR AR
T S AT 1 SR ¥, SEE @FE C (X,) = X, T C (X0
€1 39 9RAH @1 IRUM F (X, X,) = 4X,X, ® God & a0a% gl URAsH |
% Ued ol T W & A" 3 dril & 99 599 =9 3 fawfsa fem
ST

() T Tocnfedl & o= wfafshar ®oa =9 i |



s 5 GRS 4405

(i) TES WlafEd o SNE TRY 99 A % 6 W HIer ® A
i ' |

iy T Tgerl W faenfedi w1 s=Eh w=m g2
(v) O T # eEw g9, foefedl & fau waifus av=m 82

(7)) Frafafes 8@ | faar =ia -
faeret 2

faart| v | a3 0,0

B 8,20 XY

() TH SHSIEE B #, A (B, R) W T H THAA 9 Hged ©, o
X T Y& SR H F g9 A dMee?

(if) éﬂﬁwmﬁwﬁﬁﬁlﬂﬁwﬁﬁmm@@m
T %, 3T 9 SU-Td H TedH ey, oo feamE 1 9eed =
ol

S = S (B R) S T T TgeR (SPNE) 1 ROT® &, @ X T
Y & R H & §d g e ?

A monopolist’s inverse demand for the good is given by P (Q) = 100 — Q and cost is

given by C(Q) = 0. Consider three cases.

P.T.O.



( 12 )
Case-1
Suﬁpose that monopolist can perfectly price discriminate among the consumers. -
(1)  What is monopolist’s profit in that case ?
(if) Is the allocation Pareto efficient ?

(iff) Calculate the consumer surplus ?

Case-2

Now suppose that Monopolist can charge different prices on two segments of the m

with different demand eurves. The demands on two segments are :

Q(P,)=50~=P,and Q,(P,)= 50

L R

P,
(7v) Find out equilibrium price and quantity if the firm practices third degree price discriminatio
Case- 3

If the Monopolist is not allowed to price discriminate and has to charge a single price
from all consumers.
(v) What would be the equilibrium price and quantity in this case ?

(vi) Compare producer's and consumer's surplus in the three cases: perfect price discri

third degree price discrimiination and uniform price.

@mfwamﬁwﬂanﬁp(Q)zmo-Qmﬁﬂé%aﬂTm.
CQ) =0 R & T ¥ @ fufrdl ® fmr =3



G130 | 4405
Rafe T
maﬁﬁmﬁwﬁmﬁrmﬁm@r%aﬁt@ﬁqﬁﬁﬁamm%l
() 39 feafg § wfusr) &1 o9 T §2

i) TN FEA WA FIA €2

(i) SR S ¥

Rafa &

s W G 5 T AR $ R O 9w a9 @ ¥ ke

Iﬁqaﬁﬁm%la‘rié@iﬁﬁﬂQ,(Pp:so--EP,HaTQatszso- = P, %I

vy T T FE A W A S W TEm e ¥ A Sqed g R
AT AG RIS |

faf d

o TR ® 5 e w0 % o T8 ¥ aw wf seeel ¥

& F age ¥ A

v) 39 forfq § d9eM g9 SR wen @ 2l

(w){ﬁmﬁﬁa?ﬂuﬁ%ﬁmaﬁﬂaﬁﬁa ﬁnwmﬁé‘@ﬁaﬁ
| SR SR SusEEl & SR Hi- ge Fied |

(a) " Two firms (A and B) compete setting the quantity. They face the market inverse

demand P = 200 — Q, where Q = q, + qp. and they both have a marginal cost :
MC = 20.

(/)  Find the Cournot-Nash equilibrium.
PTO.




(®)

(a)aﬁ(AamB)mﬁuﬁﬂmﬁ%ﬁqmﬁm%ﬁw

- (if)  If the two petrol stations compete in prices (P, and Pp) and settle at Nash equilibri

G4 )

(i) How would the equilibrium change if the government decides to subsidise Fi

with 12 per unit making MC, = 8 whereas, MCg = 20.

(iify How would the equilibrium quantities and prices change if there were three identi

firms with MC = 20 ?

Consider Hotelling's model where two petrol stations labeled A and B are located alo
a street length of 1 km. Assume that consumers are uniformly distributed along the str
length. Each consumer has a transportation cost equal to 2d, where ‘d’ is the distan
traveled back to one’s house after filling up petrol. Suppose that A is located at 1

of a km and B is located at 1 km. Assume that production is costless.

(/) Determine the demand functions Q, and Qp for the two petrol stations.

will they charge the same price for petrol ?

(iif) What will be the profits of the two Petrol stations ?

A HOGEA FE EL P = 200 - Q, S g, + gy T SH F W
A § ¢ MC = 20

) W—W@?WWI
(i) WG A fFE FHR IR W AR FER wE A F A IR 12

_aﬁ%m(nﬁqﬁ)éﬁmﬁvﬁmﬁ%aw MCA=8?|H%MC-
=20 ¥ W T
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(iif) T HlﬂtaﬁIﬂHﬁ\iﬁmWﬁﬁaﬂ?gﬁﬂqﬁ{-ﬁ? TH-HAE ®H
¢ el ¥ @ Mc =20 & 2
(F) @efem died W fa=r #ifea = A 791 B 1 U8 =y 1 feft ot wes
R fem T WA SifSe % Suded w99 §9 ¥ 929 W AR T oues
ST 1 OREET @ 2d % SRR ¥, SR We 9 3 ar W 9y
SH H U € HA S R A 14 T W R ® 9w B 1 et w o
s B | e Ml o By o
(i) ﬁﬁ@aé&ﬁémiﬁnm%aﬁ%ﬁaﬁaﬁﬁm
@) AR I WA R B (P, 9@ py) F R =@ ¥ w W @
e H R 20 A = 3 We @ fau w @ wvw agan?
(i) QFI YA Il R M9 F BT ?

4405 : 15 3,500
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(2)

(@) ()  Show that in the endogenous growth model

permanent change in the share of populati
employed in research does not change the long r

rate of technological progress.

(/)  Examine under what circumstances, a consta
research effort can sustain long run growth in {

economy. 5+3

() ()  Allowing firms to charge a price above the margij
cost is important to promote innovations in |

economy. Explain.

(i) Consider an economy with a fixed saving rate |
no technological progress. Suppose there is a
that does not directly affect the capital stock
the casualties reduce the labour force. 's?;"hat is
immediate impact on total output and on ou
per worker? Assuming that the saving rate
unchanged and that the economy was in a stez
state’ before the war, what happens subsequer
to output per worker in a post war economy ? Dy
the growth rate of output per worker increase

decrease after the war ? 2+13
(¢)  Aneconomy has the production function Y = 0.5VK

(1) What is the per worker production function



(a)

(h)

(if)

(17)

(v)

(1)

(i7)

(3) CETERERIT 4622

In terms of the saving rate 's' and the depreciation
rate '8, derive steady state levels of capital per
worker, output per worker and consumption per

worker.

Suppose that 8 = 5%. What is the steady state
output per worker and consumption per worker when

s = 10%.

What is the Golden Rule steady state level capital

stock per worker when & = 5%? 14+3+2+1.5

E’Qﬁ?{q iED Wﬁh (endogenous) Qﬁﬁl Higd
H, WY § @ gu s %?B%mﬁ@nﬁi
R, W wifa # A o
F1 GREfda 7@ @t 3

ﬁﬂﬁﬁﬁaﬁlﬁﬁwﬁmﬁﬁum,
ARG H SHFEEAE g3 Foan
THA §, The Fifow

tﬁﬁfaﬁmmﬁaﬁmaﬁma@
Wéﬂﬁﬁmﬁﬁm(immvmiun}aﬁ
Fe@l < ' "oyl ¥ wwemsu)

R 7@ v 9 faq SrEifims wfa g

U A9 W faer #ifw ) 59 wif

i U g8 §oft w=f 1 @Y i w genfa
P.TO.




2.

(a)

(iif)

(iv)

)

(4)
T& =Tar T Al o gaed e (casualties)
HRU AR HH & S el Fe SR
oy sfis SR T e 99 FE 2 4
R T f e o T ¥
gqaﬁuaﬁaﬂaawﬁmawmeady stal
F ot saru fF 958 & 9% 9fd gHs

sifirer o7, wfa gffrek 3 @ wfd A 39
ﬁif@ﬁ[ﬂm{steaq}* state) AT F T @
T fF 5 = 5% S s = 10% & @
sy 3eare 9 i St ST o e
ST 5 = 5% & Q1 yfa gfges Isil i @l
£9H (colden rule) FEoRTEEAT TR 1 =M

Suppose an individual has a utility function of
following form : U(c,) = In ¢, for every time pel
t. If he discounts future utilities at a cons
discount rate &, show that his intertem '

optimizing behavior, using an intertemporal bul



(b)

(c)

(ir)

()

(47

(i7)

t ISRl 4622
constraint, leads to the result that the ratio of
marginal utilities of consumption in each two
adjacent periods over time is equal to the ratio of
one plus the market interest rate to one plus the

consumer discount rate.

Using the above result show and also explain under
what conditions will consumption- rise and fall over

time. 4.5 +3

Derive the expression of the present value of income

stream in Modigliani's life cycle hypothesis.

Discuss how, using these components, Modigliani
derives a consumption function which is statistically
measurable. From your answer explain how

Modigliani solves the consumption puzzle ?
254312

Show using the adaptive expectations hypothesis,
permanent consumption in period ¢ is a function

of permanent consumption in period r-1.

Explain how Robert Hall reformulated the

consumption theory by incorporating the

assumption of rational expectations. 3544

P



(a)

(b)

(¢)

()

()

(#1)

(1)

( 6) 4622
ﬂﬁ?ﬂ’mﬁ?ﬁﬁwﬁﬁiﬁimﬁﬂ Fds
TE A B U(c) = In ¢, &1 Al 98 Jiaw
52 10 31123 ro | L £ £ £ et S = - o (discond
12l & A1 TuiEu 3R STRREE (intertemporal)

oz gfaay % oA SHP STReTfe

W(nptimizmim]waﬁ O T
2l 3 (adjacent) srafir 1 3usim w1 R
SRS 1 SHAE (1 + 9eR A @) 4
(1 + SUNERT F1 F22 (discount) Fl GT) o HA
ST AU B '

‘Wiﬂﬁvﬁﬂnﬂﬁmﬁma
fF g feafadl # Susim 999 & @19 92
o E | |
ﬁﬁﬁﬁﬂﬁﬁ-ﬁ?ﬁaﬂ—ﬁqﬁm&‘qﬂﬁm
yae o adHA Jed g TR AT i
Hifefrerart 37 =21 F1 Heraal 9 0 TFR
uF TE S9N wed I HW © o fF
gifera &9 9 "WOHE €, 39E G
FiIfou | o7 ST A e fF Afstaarl
fFg yER IUAM el w1 gawd g

ST (adaptive) TN HREFET H1 T
{ evfen fF sm@f H R ST, s
(-1 TRl SUdm # wer B € |




i

(a)

(5)

(¢)

(i)

(1)

(i)

(79 4622
grEmEn fF WA wfd A fRE TR qehaTd

(rational) JETEET 1 HIfAS FTeh IU

fagemt &1 g A

At the end of 1988 and the beginning of 1989, the
inventory sales ratio was beginning to rise in the
US economy. Business cycle forecasters were
worried about the possibility of a recession later
in 1989. Explain why a high inventory sales ratio
would be a recessionary signal. Is this relation

always true ?

What is the ¢ theory of investment ? 4435

Suppose we have a Cobb - Douglas production function

given by Y = L''*K¥ | >y >0, here Y = output, L =

labour, K = capital y = share of K in output.

()
(1)

(/i)

(1)

Derive the expression for the desired capital stock.

What'will be the value of the desired K stock when
y = 0.3, Y = Rs 5 lakh and rc = 0.12. (rc = rental

cost of capital)

What are the effects of fiscal and monetary policy

on the desired capital stock ? 2.5+2+3

Tobin distinguished three kinds of preferences that
an individual might havé towards risk. What are

they ? Explain their equilibrium portfolios with the

help of diagrams,
P.T.O.



(a)

(b)

() 1988 % 10 W 9 1989 o W H -

(8) 4622

(ir)  Explain fll'{]l'r'l the above analysis how the aggregaté
money demand can be derived in the portfolid
balance model when an individual di'versiﬁe

between bonds and money. 3 +4.5

YA (inventory sales ratio) US economy s
ST 1 | SRR 9 WeTesR 1989 9 3

s # WA F weEE B At fafaa &
grzmeu fF WiE-faw! oua Her w1 U
i A R TE A T T B §
Gy faaw w1 g fagura =7 2
HH ofifse f&F a9k o™ v = L' Ky g9/ e
UF FE-STdd SURT HAd ® SRl 1 >y > 0
Y - 3G, L = 94, K = Yot a91 y = 3G H K F|

3T T
0] aﬁ(desired)%ﬂ@m@ﬁmwaﬁm_
(i) SEy=03,Y=5/@ T A4 re=0.128 T
aifer K TIE 1 AE AW 2 (e = renta
cost of capital) T?:ﬁ &1 fwTen @rm | .
iy USERIEr | Hifsw Aifad & aifed gsi 2
W F-F 99E 2 T 2 '



(c)

(a)

()

(1)

(#7)

(1)

(i)

(#1)

(9) . 4622
Al 3 Sifem & fa fedt =i & de
YR o g \?Hrm (preferences) oF &
f% o | & - & 2 5% wa wreeren
Tt ﬁa'ﬂ Hj;tﬁﬁ (portfolios) Ea m@ Ea)
Herd ¥ gHIE | .
ST faverav #1 wera § wsmy fr o
afed mo-gxf (bonds) 9 H3I 45 Ty
f%rﬁﬁiw (diversification) Sh{dl % Q?ﬂ' frafa
H ﬁ'&‘ﬂ—ﬂﬁ e HISA (portfolio balance
model) H HHY W51 A oY W ST
S HEdl g1
"A dramatic rethinking of monetary policy took
place, based on inflation targeting rather than on

money growth targeting’. What were the reasons

“for this ?

Explain, using the Taylor rule, how the economy
adjusts when, first - inflation is above target and
samnd‘-when unemployment is above the natural
rate ? | 4.5+3
E:-:arﬁine the view that debt financed £ovt. spending
keeps economic activity unchanged. What dre the
limitations of this argument ?

“The higher the ratio of debt to GDP, the larger
the potential for catastrophic debt dynamics’.

Explain, . 4+35

P.T.O.



(c)

(a)

(b)

(1)

(1)

(if)

(1)

(i)

(IO g e v o n

Di_:aiinguish between nominal price rigidity and rea
price rigidity in the context of the New Keynesia
macroeconomic models.
Taking the case of a monopolistic firm, explain wil
a diagram how a firm's decision not to cut price
inspite of a Fut.l in demand, due to menu costs ca
have advers.e effect on the society. 3442
Hifger Fifa @1, THRIfA @&AHA (inflatio
targeting) h Wﬁ.tﬂ HTJ-'.Tﬁ "qqﬁ'l & 't‘?f Th
(money growth targeting) X STIHTRE T
AH T (dramatic) Tﬁfﬂ’( {rf:lhink_ing] §"3:ﬂ
T WY N OERT A ?
éﬁ?ﬁuﬂaﬁmﬁmﬁ AT
9 WET | HW W q9l HU, 5
qA wEHfaE WA FW A ?
FBUI-TIAd (debt financed) &R =949 |
fifaf @ =R smRafia wa ¥, 59 fae g
e FHIfT | 39 qe H A G E
‘SHULGDP. ST fota sifas 2, wors
(catastrophic) 29I RIGED (debt dynamics) &
el SaAt @ AfuE BN HEeE



"3

(c)

(@)

(5)

(©)

()

(if)

1))

(iii)

(9

(i)

(1) | 4622
qq-hsi1 (New keynesian) TH - 319

Aigell o d< | Wi Fivd-gea 9 arafas
HIAA-GA S WA RN T HITT

U THIMFER 1 % 99a 1 od 50 0
@it 1 Werdar @ a9eEy fF 5§ finge
& SR FHIHA-9F T % FRO B T
T FA FHH w1 ol gee wosfrga
YN ST Hehdl T

Explain how asset price bubble affects the financial
system and what measures should the central bank

take to resolve the problem.

Discuss how collateral reduces the problem of

asymmetric information. 5425

Explain the process of determination of equilibrium

in the housing’ market in the short run.

What are the factors that determine the position

of the demand curve for housing in the short run 2

When will the long run equilibrium of the housing
industry be reached in a non-growing economy ?
343 +1.5

Explain with an example that an economy with a
higher average inflation rate has more scope to use

monetary policy to fight a recession.

~ Why wars typically bring about large budget

deficits ? 4435
P.T.O.



4622

(@)

()

(o)

)]

(i)

()

(i)

(iif)

(i)

(12) + 4622
m & ‘Tﬁﬂ"qﬁ’f-ﬁqﬁ w (asset pricei
bubble) T W fardta @ 1 weierd FA
$ qo1 TE e % PR ¥ i S
#1 F FEH I ey ?

STA (collateral) ToH® WHR amqﬁqﬂ skl
=1 THEN F1 F9 A €, T e Hif
ST AR e H g % Ui
1 ufEra & GHARTI

sTaTE ¥ Wi a% @t fefa w1 e
ﬁﬁﬂ—aﬂﬂﬁmﬁq‘iﬁﬂm% ?
Wﬂﬁmﬁmawﬁﬁrﬁqqfaﬂﬁﬁl i
¥, H orered SqAm # e qrEEEl
Fd g e ?

o e F e d g S a

Fﬁlﬁiﬂﬁ?ﬁ-&ﬁ@aﬂﬁmﬁﬂ
¥ Afew Afa F sTEm W s T
T -

Jqy A AR W AL A W H
W T ?

2 3,500
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YYA-99 WA A H E
fr=l e wae & I S
THF FET 15 % g8 H
e TR deReie B SYAnT &1 STAfa @ ST R
s gy & e wiferst e weAaE B o W T T
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State whether the following statements are true or false. Gi €

reasons for your answer :

@)

(i)

(i)

v)

+ u, if the OLS residuals (e)) are plotted against time

\

If the regression model : Y;=B, +B,X,
+ B;Xy; + u,, is estimated using the method of ordinary
least squares, the sum of the estimated residuals (e}

is zero.

For the two-variable regression model, Y, =B, + B,X,

() and a distinct pattern is observed, then it is

indication of heteroscedasticity.

o

If the p-value for a test statistic is greater than the
chosen level of significance o, then we reject H, a

a level of significance.

In the regression model Y; =B; + ByX, +u;, some
variation in' the values of the explanatory variable (X]

is necessary for estimation of the regression coefficients,

The model : Y = B, + B,X, is a mathematical -

but not an econometric model. - 5x3=]



N pay gy —

frafafea =@M & § o 7o §1 A9 TEm g

f?'mwaﬁfm : |

o afe  gferer ATE@ ;Y =B+ BX,
+ ByXy; +u;, H1 STIAM .ua.wg. fafy J
firebrenr T & @ STgeIiT ST (o) F Ry,
YA B

) Q-wX ufeTEA WiE@: Y, =B, +B,X, + -uf;
% fr oM ATATE. AR () B Wy
0 & forg @ FW W Y @ S oy
| B %aﬂ@-sﬁzﬁqz'} (Heteroscedasticity) b %
¥

(iii) Hﬁ@ﬁ&lﬂﬂiﬁéﬂaﬂ%mﬁ—qﬁ%
TR H o @ fE T AW D oa vy
W H, F FEHFX F T

(v) SfTHA AEd : Y, =B, + B,X, +u;, W@%
W (x) ® qeE H F7P e gl s
aAA @ fau smevas ¥

) m:y=ﬁl+ﬂzx,@1ﬁﬁﬁqm%;m
uF opdfia Wiew E ¥

P'T‘Q'.



(a)

(b)

(©)

(e )

The following auxiliary regression results were obtz

using OLS residuals (e;) of the original reg'ression mg

e? =—25+19.57 X, - 10.54 X?

R% =(0.1423 n =

(/) Perform White's General Heteroscedasticity Tes
10% level of significance. State the null ;
alternative hypotheses clearly. Do you f

evidence of heteroscedasticity ?
%

(if) Are the OLS estimators still unbiased and,'.

in the presence of hetéruscedasticity ?

The hypothesis Hy : p = 75 is tested. against
alternative hypothesis H, : p <75 using a random sa
of size 25 from a normally distributed population

o = 9 using a 1% level of significance :

() Calculate the probability of Type I error if‘i

e =

(if) Will the probability of Type Il error be large

a 10% level of significance is used, instead §

Discuss any five consequences of multicollinearity
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oA gfama AE@ Y, =B, +B,Xy tu, B
ANTATH. AR (o) B ST FQA T

- fr=fafea wems wfoma o gra fee T

(@)

e? = —25+19.57 X, —10.54 X2

R?=0.1423 n =80

(‘:’J 10% WX & Had 9T WS H A
TUASFRIEET (Heteroscedasticity) 2% HIfT I
WA (null) 3R IFfeTss STIAMI &I T
€Y 9 FaEC| F 9E geasfefadt #
v faea &2

(ii) & NG, FhaTadal selysiefae &l
Jufeafa # off frouy iR wa@ = €7

9ftweTA T Hy : p = 75 dFfeas aftmewT

Hl:u{?sﬁﬁmw;ﬁaﬁaw_

(c =9 W& IRf=F T (THR 25) H ST

a’m‘{i%ﬂ%ﬁﬁu‘wwqﬂwﬁmm%:

(ﬂ*azcr 1 qfe wT GUEAT H TUET HIfST
qﬁﬂﬁp=?2%l'

P.T.O.



()

(a)

(b)

(i) OLS residuals.

(-8°7)

) T TG N FE M FWET qD A
¥ aft TEE TS 10% Hed w1 WH I
fom smar ¥ 2 '

HeethI el  (Multicollinearity) & &gl
qRumEl R 9=l #ifew .

Suppose that the r;agressinn model .Y; = B, + B,X, :
is estimated using the least squﬁres method
"‘I’I- =.b1 +6,X;. If Y is related to Z through
equation, Z =5 + 2Y, ﬁnd another regression mg
Z; - A + A)X, + v, is estimated using the metk

-~

of least squares as Z; =a, +a,X,.

() Are the slope coefficients of the two estima

-

regression equations the same, ie., is a, = &

(if) How will the ¢ statistic of a, be related to

t statistic of ‘52 ?

What do you understand by the term autocorrelatio
If the coefficient of autocorrelation, p, is not kn'

how can it be estimated from each of the fnllawi

() Durbin-Watson d-statistic
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The following regression model was estimated using data

collected from 34 stores, 5

Y, = 5837.53 - 53217 X,, + 3.613X;,

[

se = (628.151) (6.853) (0.6852)

RSS = 19472.33 - I88 = 32093.55

Y, = monthly sales of ‘Milky’ chocolate bars for store

i, (number of bars)'

X5,

; = price of ‘Milky’ chocolate bars for store i,

(in rupees)

X;; = monthly ‘in-store’ promotional expenditure for

store /, (in thousand rupees)
(7) - Interpret the estimated partial slope coefficients of
X, and X;.

(if) Test the model for overall goodness of fit using

5% level of significance. 5

P.T.O.



(EJWW%WWYI=BI+BZXj+

(@)

HY TR S Wkl €2

(8 )

®1 IAA AL wd. fafy @1 s9dm @
TR SR ATV, =0, +6,X, | WA AR
ff v wfldor z, =5 + 2y, & mom A z 3
gafua 2 sty uw =1 ufqmaa at i_
Z, = Al + AX, + v, B FIHM .U TR
faftr g/ o T S A R Z, = a, +a,X,
O DA AT SR o @ e

W.W_%,Waz=bz?
i) a T A stwe G TER 5, % D i

3 wefm a2

AT EOd:ge-gay {Autocnrrﬂla!inn)ﬂ =l HH
g 2 3fe O 9e-qay (Autocorrelation) <h1

o, T TE ¥ A B H D werw A T

(i) gﬁh—iﬂaﬂ? ﬁ—m
() SNTATE. oEfre)
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(1) 34 W/l ¥ WA fFu 7u 2 +1 I FT@

gu frafafed gfommm wfew &1 sam emman

RIE2] | %" -
Y, = 583753 - 53217 X,, + 3.613X,,

HHE A = (628.151)  (6.853) (0.6852)

- RUH.TH. = 1947233 SLUHE.TH. = 52093.55

v, - ® o Mily W A @ e
el (AR W)
X, = BR, & AU Milky e IR &1 #iva
(e ) |
Xy = ®R, & fou #fes ‘e9-w=r' wER om
(B T9q #)
() X, IR X; & sAIF@ Al eam o
ﬁm@lﬁml
(i) 5% T % HET HI ITEN FH hE FT
i & faw Afed w1 wdem wifg

P.T.O.



(@)

(b)

- GOV _INDEX = Governance Index (a higher vall

Consider the following regression results for 45 countr
for the year 2011-2012, (the t-ratios are 'given"

brackéts):
FDI, = 21.045 + 0.0545 GDP, + 1.864 GOV_INDE:
t = (1.232)  (0.744) (1.005) R% =
where
FDI = Foreign Direct Investment (billion dollars) 1

GDP = Gross Domestic Product (billion: dollars)

indicates better governance)

(/) Is there evidence of multicollinearity ? Explain yo

answer.

(if) Discuss any fwo methods that can be used

deal with the issue of multicollinearity.

The following regression was estimated using data fig
a sample of 15 houses (standard errors are given;

brackets) :

¥, =200.091 + 16.186 X, + 3.853D,

se = (4.354)  (2.578) (1.241)
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Y, = assessed value of a house (in Rs. lakhs)

X. = size of the house (in hundreds of square feet)

o
Il

0 for house i, if it does not face a park
= 1 for house i, if it faces a park
(/) Interpret the estimated coefficient of D,

(if) Test whether the presence of a park in front of
the house increases the assessed value of the
house, using the p-value approach and a 5% level

of significance. 5

A researcher postulates that the car density (number
of cars per thousand pﬂpulation)i Y, in a city depends
on the bus density (nﬁmber of buses per thousand

population), X. He runs the regression model, Y, = B,

"

+ B,X; + u, for a cross-section of 128 cities in India

and finds evidence of heteroscedasticity.

() How would the model be re-estimated if it is

assumed that error variance is proportional to the

2
reciprocal of X, that is, E{u?):?{—- ? Show that
i

the transformed error term is homoscedastic.

P.T.O.



g i

(i) Can we compare R? of the original model and

transformed model ? Explain your answer,

(F) a9 2011-2012 & 45 30 & fou F=afafaa
ofeomet T frw F, (o
fu M ¥ - |
FDI, = 21.045 + 0.0545 GDP, + 1.864 GOV_INDE
{ = (1.232) (0.744) . (1.005) R? = 0.96

o, o, - fh o Frw (o

MEd - T W IR (3RA THR)

GOV_INDEX = J¥IA ga&® (3= AF
H T ¥)

| (n < @"ﬁf@ﬁl (Multicollinearity) bl
§ 7 N waE TEEEUl
G Tt < faftd w ==t Fifse S

-a'gﬁq’lff"@m (Multicollinearity) ® &
frrer & fau fem s whar ®
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(a)lsqﬁa‘:w@a—gamwm.gq
frafafeq s #1 o mm @ T
Y, =200.091 + 16.186 X, + 3.853D,
aH e Fqfe = (4354) (2.578) (1.241)
k;qmmmraimtg@'(mmﬂﬁ)
X, = W F WX (JwS 9w #H)
Df=0ﬂﬁﬁtma§'a‘a‘m=r%=lﬁ%
=1 MR W I F G T
@ Dfﬁlmﬁﬁwﬁaﬁmaﬁﬁm

(i) W-AE (p-aeq) FheEm SR 5% dew @

TN HW g ST FHIU R o W D

T TE UE F e W B g @
et & 2

(1) TF MuFHdal Fdqa T R TR F #R wmE (FR

hl WG W TR HEY), v, 9H HAE X

W AR @ B (9 wfa =6 w1 gem) |

P.1O,
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% WG § e wiafifue @ 128 YR
M :Y"=B'+lef+”:3:|ﬁmﬁﬁm_
3R mﬁiﬁ (H'etercfscﬂdasti(:ity] T JHOT "Tﬁﬂ
gl ‘ -

o Tea ® fi ¥ sEEra $d e S

Using annual time-series data for the company ‘Pu
Juice’ for the period 2000-2016, the following equation

was 6btained L
InY, = 1.2028 + 0.0214 ¢

se = (0.0233) (0.0025)
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where Y, = revenue of the company in Rs. crores at

time ¢ and /m indicates natural log.

()

(i)

(i)

(i)

Interpret the estimated coefficients.

Explain how the annual compound gmwth rate in
revenues of the company during the period can

be nbtained. ?

Using the estimated model, how can the forecast

revenue for the year 2017 be obtained ? 5

In the presence of autocorrelation, the OLS

‘estimators obtained are Best Linear Unbiased

Estimators (BLUE). Do you agree with the

statement ? Why or why not ?

In the two variable regression .mndel,
Y, = B, + B)X, + u, discuss Thow the problem of
autocorrelation can be remedied using First Difference
Method (p = 1) if the disturbance term w, follows

AR(1) scheme, that is, u, = pu,_, + v/ 5

P.T.O.



(¢) Consider the following three-variable regression model :II
Y, =B, + ByX,; + B,X, +u;

If the method of ordinary least squares is used to.
estimate the parameters, p-mve that :

Zef = Ty? — byXyxy; - baz?ixaf-

where y; =(Y; = Y), xy; = (X, - Xy), 2y = (X - X)) 5

(%) “Pure Juice’ FUA F 20002016 FHT 7afy & forg

Iny, = 1.2028 + 0.0214 ¢
 se = (0.0233) (0.0025)
W, v, = ¢ 99 W HIA F TS (T RS
#) iR 1 wEfaw @ @ s R
() STHAI Ui @l ATl HIfST |
() w9EEe fF 3w emfuy @& RF FTH B

e A i A fE w SR W

I A TEA § 2
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(i) STEITA AgA &1 S9FT, 99 2017 & faw
Wﬂ@iﬁqﬁﬁ-ﬁmmmm
Bup
(@) () TEA:"HE-TaT (Autocorrelation) T ufeafq #
W STATH. ATIAE a9 fesw Foge
(BLUE) ¥ &°1 319 T0 &9 ¥ Tend & 2
@ = OAE 2
(i) Q TR FROTEA FESA Y, = B, + B,X, + u, B
=41 ﬁﬁl'q & w=dag-gay (Autocorrelation)
ﬁmaﬁﬂw Wm{phkl)m
WW%@QM*&HW% IR
zﬁw;ﬁaﬁﬁﬁa(l)?ﬂwwwaﬂ?ﬁ
T, a’fiﬂ?[ U, =P+ o
(1) = dm = gfome wew W faEr wifsu .

Y; =B, + B, X,, + B X, +u;

e sluawy. fafy &1 swEam Ter F1 erEm
oA & fou fen s %, @ aw w@ifam #ifs
i |

Zef = Zy? - boZy;xy; — ba2y;xy;

e, y, = (Y, = ¥), 25 = Ky — X)), x5 = (X5~ X )
P.T.O.



(@)

(b)

() Derive variance of b,, ie. var(h,), in terms ¢

(18 ) 166

It is known that the variance of scores of all higl

school students in a science test is 150. A sample o
scores of 20 high school students who took the scien -;;,_-_
test this year yielded a variance of 170. Test, at
level of significance, if the variance of scores of
high school students who took the science test th}

year is different from 150. State the underlyin,
assumptions, if any.

Consider the three-variable model, Y, = B, + B,X,,
B;Xy; + ByXy; + u; Let b, be the OLS estimator 0

the slope coefficient B,.

Variance Inflation Factor (VIF).

(i) When X, is regressed on X; and X-i Lf
obtained from this auxiliary regression is 0.921
Does it necessarily imply high variance of b
Explain.

Based on a sample of size 20, the following regressio

line was estimated using the least-squares method,’

Lol

Y; =5+ 3X;

In addition, X =2%(X;-X)?=20 and the standa

error of regression was estimated to be equal to



(%)
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Construct a 95% confidence interval estimate of the true
population mean of Y for X, = 15. Do you expect
the confidence interval to be wider if a similar interval

is estimated for X, = 2 ? Explain your answer. 5

e 9 ¢ fF wmw = A uit eEwe @
BEl B ofwl F fHEEE (Variance) 150 ¥1 20
3o fqared & BE % @R H UH T S
T 9@ fagm &t d@an 4w A, 170 F1
faaem 3@ ®1 5% TR & Wem W W Fif
Rk wem B oEl @ @R W frEen, W
T 99 HI UEE w wer o W 9, 150 A
T T |
dH W Aled W fEr g, v, = B, + B,X,,
+ ByXy, + BXy, + u, | W % 5, B, & TN
F1 ATATE T T
() b, % Ta=e 3140 var(b,), 31 Variance Inflation
. Factor (VIF) & ST{UR WI< ehifeig|
(i) S X, F X; AR X, W wfamfaa fma smn
© %A W weE e | W R2 09217,
g T, AT AR TT A (b)) W IeA
faseq =1 3@ @ & ? wHgmwud

P.T.O.
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i

() SR 20 B TH TP B AR W, F= wfer
@ & AR sluauw. fafu @ @ T

:

TS WY-TY, X = 25(X, - X)2 =20, 3K FrﬁFT‘:Fl;
#1 A% A | F AU A w OTEL
Y F STERt & T S B 95 favar s
&1 freior Fifse s@fE x, = 15 €1 = favard
s A A A A s T ¥ Ak
I8 siqua X, = 2 % fau sgwfa fean
W 7 HYAI SS9 gHERU |

7 (@) The following two regression models were estimated
using annual time-series data for the period 1990-2012
for a certain country (standard errors are mentioned in:

the parentheses) :
Model A: [nY, =2.18 +0.34 InX,,—0.51 InX;,+0.15 InX 5, +0.09 InX,
se = (0.156) (0.083) (Q.110)  (0.099)  (0.101)

R2 = 0.9823



(b)
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Model B : fnY, = 2.03 + 045 InX,, - 0.377 InX,,

se = (0.116) (0.025) (0.063)
R? = 0.9801

where Y, = demand for cheese (in kg)

X, = disposable income (in Rs.’ﬁﬂﬁ)

X3 = price of cheese (in Rs. per kg)

X4 = price _ﬂf butter (in Rs. per kg)

X5 = price of peanut-butter (in Rs. per kg)

Which model would you choose ? Test the relevant

hypotheses at the 5% level of significance and state

your conclusion clearly. 5

For the regression model : Y, = B,X, + u,, derive the
OLS estimator of B,. Show that it is an unbiased
estimator. Clearly, state the assumptions required to,

prove its unbiasedness. 5

A researcher estimated the demand function for money
for an economy for 101 quarters using quarterly data
for the period Q1 : 1986-1987 to Q2 : 2011-2012. The

regression results are as follows (standard errors are
P.T.O.



HEAA: 77, =218 +0.34 [nXy,—0.51 InX5,+0.15 nX,, +0.09 InXs

(=227 4665

mentioned in the brackets and /n indicates natural log):

TN, = 2.6027 — 04024 [nR, + 059 InY, + 0.524 M,y

se = (124)  (0.36) 034)  (0.02)

RZ = 09165 Durbin-Watson d-statistic = 0.650
M; = real cash balances

R, = long-term interest rate

Y, = aggregate real national income

() Use Durbin’s h-test to check for the presence O

first order autocorrelation at 1% level of
]

significance.

(i) Can we use Durbin-Watson d-statistic test for the

above regression ? Give reasons. 5

(%) fret S & fag 19902012 1 oafd &
mﬁmm-méamsqﬁﬂaﬂﬁ
frafafea @ wfoma #wigd &1 SAgHA
T

se = (0.156) (0.083)  (0.110) (0.099)  (0.101) -

R2 = 0.9823
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| B : [y, *= 2.03 + 045 znxz, — 0.377 InX,,
se = (0.116) (0.025) (0.063) °
R? = 0.9801 |
SR, Y, = TR & min (fem #)
X, = ferdiSs@ ama & 000 #)
X; = GAR & HHq (mﬁ-uﬁﬁﬁﬁﬁ)
x4=waﬁaﬂﬂﬁ($@mmm-
X = ie-TeR @ Fi (Fw o e )

AU PR HeA@ #1 W FwE 2 sy wEA @
W W s A w1 wlem wife sk
91 frrd &l W= w9 ¥ garu) |
(@) F@™T AT : v, = B)X, + u, B Y B, &l
H.TA.TH. SAEH Wa wife fGeed fs 9
& oy samE ¥ ozl frosmn wifam
w1 & fau enifem wem@el # saru)

P.T.O.



; (1) uw ynueRd 3 Tafa Q1 : 1986-1987 ¥ Q2 : 201

2012. & fou Jufas sifwet & 3wEm A [
m%m@amﬁmm“
T e SAHE A i & aRo
frger € (wme Ffeai she § sfeafad
R In qrhfas @ zfia H'T{T'ﬁ ) |
M, = 26027 — 04024 IR, + 059 InY, + 0.524 InM
se = (124)  (0.36) 0.34)  (0.02)

R2 = 09165 Sfdd-ae@d Si-3T®Hal = 0.650

= ITHel AHE I



Table A.3 Standard Normal Curve Areas

4960

D) = P(Z=2)
Standard normal density curve
NS
i Shaded area = D(2)
|
]
|
1
0 2
z 00 01 02 03 04 05 06 07 08 09
-34 | 0003 - .0003 0003 0003 0003 0003 0003  .0003 0003~ .0002
-33 | 0005  .0005 0005 0004 0004  .0004 0004 0004  .0004  .0003
-32 | <0007  .0007- 0006  .0006 0006 0006 .0006 0005  .0005 0005
-3.1 0010 0009 0009 0009 0008 0008  .0008  .0008  .0007  .0007
-3.0 | .0013 0013 0013 0012 0012 L0011 0011 0011 0010 0010
-29 | 0019 0018  .0017 0017 0016 0016  .0015  .0015 0014 0014
-28 | %0026 0025 . 0024 - 0023 0023 002 0021 0021 0020 .0019
-2.7 0035 0034 0033 0032 0031 0030 0029 002 0027 .0026
-26 | 0047  .0045 0044 0043  .0041 0040 0039  .0038 0037 .0036
-25 | 0062  .0060 °.0059  .0057 0055  .0054  .0052  .0051- .0049  .0048
-24 | 0082  .0080  .0078 . .007S 0073 0071 0069 0068 0066 0064
—23 | 0107 0104 0102 0099 0096  .0094  .009] 0089 - .0087  .0084
=22 0139 - 0136 - 0132 0129 ' 0125 0122 .0OL9 0116 0113  .0l10
-2.1 0i79 0174 0170 0166 0162 0158  .0154 0150 0146  .0143
=20 | o228 022 - 0217 0212 0207 0202 0197 0192 0188  .0183
-1.9 | 0287  .0281 0274 0268 0262 0256 0250  .0244 0239  .0233
-18 | 0359 0352 0344 0336 0329 0322  .0314 ..0307 0301 0294
—1.7 | 0446 - .0436  .0427 0418 = .0409  .0401 0392 0384 0375  .0367
—-16 | 0548 0537 0526 0516 0505  .0495 0485  .475 0465 0455
-15 | 0668  .0655  .0643 0630 0618 0606 0594 0582  0571°  .0559
—14 | 0808 0793 0718 0764 - 0749 0735 0722 0708 - 0694  .0681
~1.3 | 0968  .0951 0934 0918 0901 0885 0869 0853 0838  .0823
=E2+1 21151 1131 1112 J093 L1075 (1056  .1038 1020 .1003  .0985
- 1.1 J357- - 1335 1314 - 1292 2R 250 12300 42100 - 1190 170
-1.0 | .1587  .1562 - 1539  .I515 1492 1469 ¢ 1446 .1423 .1401 21379
-09 | .1841 IR TR A0es 1 e AT 1685 1660  .1635 1611
-0.8 | 2119 2090  .2061 2033 2005  .1977  .1949 1922 1894  .1867
07l A0 - 2380 5358 2327 2096 - 2266 2336 206 2177 2148
-06 | 2743 2709 - 2676  .2643 2611 2578 2546 2514 2483 2451
-05 | 3085 3050  .3015 2081 . 2946 2012 L0871 R4S 2810 2776
—0d | 3446 3409 3372 3336 3300 0 364 A8 3192 3156 -, 31
-0.3 | .3821 3783 3745 37073669 3632 . 3594 3557 3520 3482
—-02 | 4207 4168 4129 4090 .4052 4013 3974 3936 3897  .3859
-0.1 4602 4562 4522 4483 4443 4404 . 4364 4325 4286 4247
—0.0 | -.5000 4920 . 4880 4840  .480I 4761 4721 4681 4641

(continued )



Table,A.B Standard Normal Curve Areas (cont.) d(z) = P(Z = 2)

z - 00 ) B 03 04 05 06 07 08 09

0.0 .5000 5040 5080 5120 5160 5199 5239 5279 . 5319 2359
0.1 5398 5438 5478 5517 85T 5598 .5636 5675 5714 5753
02 5793 - .5832 5871 5910 5948 5987 6026 .6064 6103 6141
0.3 6179 6217 6255 6293 6331 6368 6406 .6443 6480 6517
04 | .6554 6591 6628 6664 6700 6736 6772 6808  .6844 .6879

0.5 6915 6950 6985 7019 7054 7088 J123 157 7190 7224
- 0.6 7257 7291 - - 7324 4357 7389 7422 . 7454 7486 517 7549
0.7 7580 7611 7642 7673 7704 1734 7764 7794 7823 7852
0.8 7881 7910 7939 1967 7995 8023 8051 .8078. 8106 8133
0.9 8159 8186 8212 8238  .B264 8289 .8315 8340 8365 .8389

1.0 8413 .8438 8461 8485 8508 8531 - 8554 8577 8599 8621
1.1 8643 8665 8686 8708 8729 8749 8770 8790 8810 .8830
1.2 8849 8869 .8888  .8907 8925 8944 .8962 .8980 8997 9015
1.3 9032 9049 9066 9082 9099 9115 9131 9147 9162. = 9177
14 9192 9207 . 9222 ° 9236 9251 = 9265 9278 9292 9306 9319

1.5 9332 9345 9357 9370 9382 9394 .9406 9418 9429 9441
1.6 9452 9463 9474 9484 - 9495 D505 =955 ol 9525 9535 9545
1.7 9554 9564 9573 9582 9591 9599 9608 9616 ..9625 9633
1.8 9641 9649 9656 9664 9671 9678 9686 9693 9699 9706
1L B B 1 Ky 9719 19726 - 9732 9738 9744 9750 9756 .9761 9767

20 | 9772 — 9778 9783 97889793~ -9798 -~ 98039808 —~9842 9817
2.1 9821 9826 . '.9830 9834 9838 9842 - 9846 9850 9854 9857
22 9861 9864 - .9868 9871 9875 - 9878 9881 9884 9887 9890
2.3 9893 9896 9898 9901 9904 9906 9909 9911 . 9513 9916
24 9918 9920 9922 9925 9927 9929 - 9931 9932 9934 9936

29 9938 .994’0 9941 9943 9945 9946 9948 . .9949 9951 9952
2.6 9953 9955 9956 9957 9959 9960, 9961 9962 9963 9964
2.1 9965 9966 9967 9968 9969 9970 -1.9971 9972 9973 9974

28 | 9974 9975 9976 - 9977 9977 9978 9979 9979 9980  .9981
20 | 9981 9982 9982 9983 9984 9984 9985 9985 . .9986  .9986

301 . 9987 9987 9987 9988 9988 9989 9989 9989 9990 " .9990
| 9990 9991 9991 9991 9992 9992 .9992 9992 9993 .9993
3.2 9993 9993 .9994 9994 9994 9994 - 9994 9995 9995 9995
3.3 29995 9995 9995 9996 .9996 9996 9996 9996 9996 .9997
- 34 9997 9997 9997 9997 9997 9997 9997 9907 9997, 9998




Table A8 ¢ Corve Taid Areas

0.0
0.1
0.2

v

0.3

0.4
0.5

0.6
0.7
0.8
0.9
1.0

1.1
1.2
1.3
1.4
1.5

1.6
15y
1.8
1.9
2.0

2.1
2.2
23
24
2.8

2.6
2.7
2.8
2.9
3.0

<131
3.2
3.3
34
3.5

3.6
3.7
3.8
3.9

4.0 -

500
468
437
407
379
352
328
306
285
267

250
235
221
209
197
187
178
169
161
154
148
141
136

"131

126
121
117
113
109
106
102
099
096
094
091
089

086
084
082
080
078

500
465
430
396
364
333
305

278
254
232
211
193
177
162
148
136

125
Jdle
107
099
092

85
079
074
069
065

061"
057
.054
051
048
045
043
040
038
036

035
033
031
030
029

.500
463
427
392
358
328

1295
267
241
217
196

176
158
142
128
115

104
094
085
077
070

063
058
052
048

040
037
034
031
029

027
025
023
021
020
018
017
016
015
014

500

A63

426,

390
355

522
.290

261

234
210
A87

167
148

432
A17
104

092
082
073
065
058

052
046

041
037

033

030
027

024
022
020

2018

016
015
014
012

011

010

010

009

008

500

A62.

425
388
(353
319

287
258
230
:205
182
162
142
125
10
097

085
075
066
058
051

045
040
035
031
027

024
021
019
017
015

013
012
011
010
009

008
007
006
006
005

Arca to the
right of ¢

. S

500
A62
424
387
B2
317

285
255
227
.201
178

57
138

21

106
092

080
070
061
053
046

.040,.

035
031
027
023
020
018
016
014
012

011

009
008
007
006

005

.500
462
424
386
351
316

284
253
A
199
A75

154
139
J17
102
089

077
.065
057
050
.043

037
032
027
024
020
018
.015
013
011
010

009
.008
007
006
005

004
004
003
003
003

500
61
423
386
350
315

283
252
223
197
173
152
132
Jd15
100
086

074
064
055
047
040

034
029
0235
022
018

016
014
012
010
009

007
006
005
005
004

004
003
003
002
002

500

461
423
.386
349
315

282
251
772

b

196
172

150
130
13
098
&4

072
062
053
045
038

033
028

023
020

017

014
012
010
009
007

006

..005

005
.004
.003

.003
002
.002
002
002

t

!

10

500
461

423
385
349
314

28]
.250
221
195
170

.149
o )
A1
096
082
070
060
051
043
037

031
.026
.022
019
016

013
011
009
008
007

006
005
004
003
003

002
002
002
001
001

Lk

300
461
423
385
348
313

280
249
220
194
169

147
A28
A0
095
.081

069
059
050
042
035

030
025
021
018
015

012
010
009
.007
006

005
004
004
003
002

002
002
001
001
.001

12

.500
461
422
385
348
313

280
249
220
193
169

146
F27
109
093
080
068
057
.049
041
034

029
024
020
017
014
012
010
008
007
006

005
004
003
003
002

002
.002
001
001
001

13

500
461
422
384
348
313
279
248
219
192
168

146

26

108
092

079

067
056

048

033

028
023

019

016
013
011
009
008

~.006

005

004
003
003
002
002

002
001
001
001
.001

14

500
461
422
384
347
312

279
247
218
191
167

144
124
107
=091
077
065
055
046
038
032
027
022
018
015
012

010
008
007
005

004
003
002
002
002

001
001
001
001
.001

15

.500
461
422
384
347
44
279
247
218
191
167
144
124
107
091
077

065
055
046
038
032

027
022
018
015
012
.010
008
007
005
.004

.004
.003
002
002
.002

001
001
001
001
001

16

500
461
22
384
347
312
278
247
218
191
166

144
124
106
090
077

065
054
045
038
031

026
021
018
014
012

010
008
006
.005
004

003
003
002
002
001

001,
001
001
001
001

17

500
461
422
384
347
312

278
247
21T
190
166

143
123
105
090
076

064
054
045
037
031

025
021
017
014 .
011

.009
.008
006
005
.004

003
003
002
002
.001
001
.001
001
001
000

‘18

500
461
422
384
347
12
278
246
217
190
165

143
W23
105
089
075

D64
053
044
037
030

025
021
D17
014
011
009
007 .
006
005
004 -

003
002
002
002
001

001
01
001
001
00 -

(continued)



Table A.8 t Curve Tail Areas {cor;'t".)- —

0.0
0.1
0.2
0.3
0.4
0.5

0.6
0.7
0.8
0.9
1.0

1.1
1.2
1.3
14
1.5

1.6
1.7
1.8
1.9
2.0

2.1
2.2
2.3
2.4
25

26
2.7
2.8

29

3.0

3.1
3.2
33
34
35
3.6
3.7
38
3.9
4.0

19

.500
461
A22
384
347
311

278
246
217
190
165

143
122
.105
089
075

063
.053
044
036
.030

025
020
016
013
011

009
.007
006
.005
004

.003
002
.002
002
001

.001
001
.001
000
.000

20

500
461
422
384
347
A1l

278
.246
w4 ]
189
165

142
122
104
089
075

.063
052
.043
036
030
.024
020
016
013
.011

.007
006
004
.004

003
002
002
.001
001

.001
001
.001
000
000

21

.500
461
A22
384
347
311

278
.246 -
216
189
164

142
122
104
088
074
062
052
043
036
1029

024
.020
016
013
:010
008
007
005
.004
003

.003
002
002
.001
001

.001
.001
001
000
000

22

.500

461
422
383
347
31k
277
246
216
189
164

.142
121
104
088
074

062
052
043
035
029
024
019
016
013
010

.008
007
.005
004
003

003
002
.002
001
001

~001
.001
000
.000
.000

23

.500
461
422
383
346
Al

AT
245
216
189
164

.141
121
103
087
074

062
051
.042
035
029

023
019
015
012
.010
.008
006
005

003

003
.002
.002
001
001

001
001
.000
.000
.000

.000

000

000

000

1 curve ——t Arca to the
right of ¢

| L

0 t

2
24 25 26 27 28 29
500 .500 500 .500 .500 .500
461 461 461 461 461 461
422 407 422 A7) 421 A2l
383 383 383 383 383 383
346 346 346 346 346 346
T e e s 5 B LB L)
ok ey e R e A v 277
245 245 245 245 245 245
216 216> 2152215 215 215
189 .188 .188 .188 .188 .188
164 163 163 .163 _.163 .163
141 141 .141 141 140 .140
121 121 1200 120 120 120
Jo3 103  .103 , .02 .102 .102
087 .087 .087 .086 .086 .086
073 507355073 e e 072
061 .061 .061 .061 .060 .060
051 <051 051 .050 .050 .050
042 042 042 042 041 .04
035 .035 .034 .034 034 034
028 .028 .028 .028 .028 .027
023 023 023 .023 022 .022
019 019 018 018 018 .018
015 015 015 .015° 015 .014
012 012 012 012 012 012
010 .010 .010 .009 .009 .009
008 008 008 .007 .007 .007
006 .006 006 .006 .006 .006
005 .005 .005 .005 .005 :005
004 .004 004 .004 004 .004
003 .003 .003 .003 .003 .003
002 002 .002 .002 .002 .002
002 .002 .002 .002 .002 .002
001 .001 .001 .001 .001 .001
001 .001 001 .001 .001 .00l
001 001 .001 .001 .00l .00l
001 .00l .001 .001 .001 .001
001 .001 .001 .000 .000 .000
000 -000 .000 .000 .000 .000
000 000 .000 .000 .000 .000

.000

000

30

500
A61
421
383
346
310

2717
245
215
188
163

140
120
102
086
072

060
.050
041
034
027
022
018
014
011

007
.006
004
003
.003

002
.002
001
001
001

001

.000
.000
.000

35

500

460
421
383
346
310

276
244
L5
187
162

139
119
101
085
071
059
049
040
033
027

022
017
014
011
.009-

007
005
004
~.003
002

002
.001
001
001
.001

.000
.000
2000
000
.000

40

60
500 500
460 460
421 .42
383 383
346 345
310 .309
276 275
244 243
214 213
187 186
162 .161
139 138
119 117
101 .099
085 083
071 .069
059 057
048 047
040 038
032 .031
026 025
021 020
017 016
013 012
011 .010
008 008
007 006
005 004
004 003
003 003
002 002
002 :001
001 001
001 - 001
001 081
001 .000
000 000
000 000
.000 .000
000 000

.000 000

120

500
A60
421
382
345
309

275
243
213
185
160
137
116
098
082
068

056
.046
037
030
024

019
015
012
009
007

005
004
003
002
002

001
001
001
.000
000

000
000
L000
.000
000

=(=z
500
460
421
382
345
309
274
242
212
184
i

136
115
097
081
067

055
.045
036
029
023

018
014
011
008
006

005
.003
003
002
001

001
.001
000
.000
000

.000
.000
2000
.000
000



AREAS UNUER THE STANDARDIZED NORMAL DISTRIBUTION
Example

Pr(0 < Z<1.96) = 0.4750

Pr(Z > 1.96) = 0.5 — 0.4750 = 0.025

) et s LR 02 0BT Do S e 06 07 .08 .09
0.0 0000 .0040 .0080 .0120 .0160 .0199 .0239 - 0279 0319 .0359
0.1 0398 -0438 ©.0478 0517 .0557 .0596 .0636 0675 .0714 0753
0.2 0793 .0832 .0871 .0910 .0948 0967 .1026 .1064 .1103 1141
0.3 1179 1217 1255 .1293 .1331 1368 .1406 .1443 .1480 .1517
0.4 1554 1591 .1628 .1664 .1700 .1736 .1772 .1808 .1844 .1879
05 1915 1950 .1985 2019 2054 2088 2123 2157 2190 .2224
0.6 2057 2291 2324 2357 2389 2422 2454 2486 2517 2549
0.7 2580 2611 2642 2673 2704 2734 2764 2794 2823 2852
0.8 2881 2910 2939 2967 2995 .3023 3051 3078 3106 3133
0.9 3159 3186 .3212 3238 3264 .3289 .3315 3340 3365 - .3389
1.0 3413 3438 3461 3485 3508 .3531 .3554 3577 .3599 .3621
1.1 3643 3665 3686 .3708 3729 3749 3770 3790 3810 3830
1.2 3849 3869 .3888 3907 3925 .3944 3962 .3980 .3997 4015
1.3 4032 4049 4066 4082 .4099 4115 4131 4147 4162 4177
1.4 4192 4207 4222 4236 4251 4265 4279 4292 4306 4319
1.5 4332 4345 4357 4370 4382 4394 4406 4418 4429 4441
1.6 4452 4463 4474 4484 4495 4505 4515 4525 4535 4545
1.7 4454 4564 4573 4582 4501 4599 4608 4616 4625 4633
1.8 4641 4649 4656 4664 4671 4678 4686 4693 4699 4706
1.9 4713 4719 4726 4732 4738 4744 4750 4756 .4761 4767
2.0 4772 4778 4783 4788 4793 4798 4803 4808 4812 4817
21 | 4821 4826 4830 4834 4838 4842 4846 4850 4854 4857
2.2 4861 4864 .4868 4871 4875 4878 4881 4884 4887 4890
23 4803 4896 4898 4901 .4904 4906 4909 4911 4913 4916
2.4 4918 4920 4922 4925 4927 < 4929 4931 4932 4934 4936
25 4938 L4940 .4941 4943 4945 4946 4948 4949 4951 4952
26 | 4953 4955 4956 4957 4959 4960 4961 4062 4963 4964
2.7 4965 4966 4967 .4968 4969 4970 4971 4972 4973 4974
2.8 4974 4975 4976 4977 4977 4978 4979 4979 4980 4981
2.9 4981 4982 4982 4983 4984 4984 4985 4985 4986 .4986
3.0 4987 4987 4987 4988 4988 .4989 4989 4989 4990  .4990




PERCENTAGE POINTS OF THE t DISTRIBUTION

Example

Pr(t > 2.086) = 0.025

Pr(t> 1.725) = 0.05 for df = 20
Pr{|t| > 1.725) = 0.10

Di-  17as

Pr 0.25 0.10 0.05 0.025 0.01 0.005 0.001
df 0.50 0.20 0.10 0.05 0.02 0.010 0.002

1 1.000 3,078 6.314 12.706 31.821 63.657 318.31
2 0.816 1.886 2.920 4.303 6.965 9.925 22.327
3 0.765 1638 2.353 3.182 4.541 5.841 10.214
4 . 0.741 1.533 2.132 2.776 3.747 4.604 7.173
5 0.727 1.476 2015 2.571 3.365 4.032 5.893
6 0.718 1.440 1.943 2447 3.143 3.707 5.208
7 0.711 1.415 1.895 2.365 2.998 3.499 4.785
8 0.706 1.397 1.860 2.306 2.896 3.355 4.501
9. 0.703 1.383 1.833 2.262 2.821 3.250 4.297
10 0.700. 1.372 1.812 2228 - 2.764 3.169 4.144
11 0.697 1.363 1.796 2.201 2.718 3.106 4.025
el 0.695 1.356 1.782 2.179 2.681 3.055 3.930
13 0.694 1.350 1.771 2.160 2.650 3.012 3.852
14 0.692 1.345 1.761 2.145 2.624 2.977 3,787
15 0.691 1.341 1.753 2.131 2.602 2.947 3.733
16 0.690 1.337 1.746 2.120 2.583 2.921 3.686
17 0.689 1.333 1.740 2.110 2.567 2.808 3.646
18 0.688 1.330 1.734 2.101 2.552 2878 3.610
19 0.688 1.328 1.729 2.093 2.539 2.861 3579
20 0.687 1.325 1.725 2.086 2.528 2.845 3.552
21 0.686 1.323 1.721 2.080 2518 2.831 3.527
22 0.686 1.321 1.717 2.074 2.508 2.819 3.505
23 0.685 1.319 1.714 2.069 2.500 2.807 3.485
24 0.685 1.318 1.711 - 2.064 2.492 2.797 3.467
25 0.684 1.316 1.708 2.060 2.485° 2.787 3.450
26 0.684 1.315 1.706 2.056 2.479 2.779 3.435
27 0.684 1314 1,703 2.052 2473 2,771 3.421
28 0.683 1.313 1.701 2.048 2.467 2,763 3.408
29 0.683 .1.311 1.699 2.045 2.462 2.756 3.396
30 0.683 1310 | 1.697 2.042 2.457 2.750 3.385
40 0.681 1.303 1.684 2.021 2.423 2.704 3.307
60 0.679 1.296 1.671 2.000 2.390 2.660 3.232
120 0.677 1.289 1.658 1.980 2.358 2617 3.160
~ 0.674 1.282 1.645 1.960 2.326 2576 3.090
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UPPER PERCENTAGE POINTS OF THE F DISTRIBUTION (CONTINUED)

‘difor

denom-
indtor,
N . R A 2

25 140 " 1o

10 A0 320 29
05 486 410

o1 1000 758
. 25 147 158
11 A0 323 288
06 484 39

01 985 7.21

25 146 156

12 10 398 28

05 475 389

01 933 843

25 145 155

13 10 34 278
05 467 a8l

0 %07 810

25 144 183

14 A0 310 . 273
05 480 am

01 . 8B5 65

25 143 182

15 A0 307 270
05 454  aes

01 858 . 638

25 1.42 1.51

16 <10 305 267
05 443 363

01  B53 6:

e} 142 154

17 J0 303 24
05 445 359

o1 840 61

25 141 150

18 0 301 262
05 441 355

01 829 604

25 141 - f4g

19 10 2% 26
05 438 352

o1 818 593

25 140 149

0 10 297 259
05 435 340

01 810 585

“dffor
d.l. for numerator 2.__ + df. fot numaralor Z.a .. danom
8 + 5 ] 7 8 ] 10 L1y R e g 24 30 40 50 g0 00 120 200 500 @ Pr e .
160 159 159 158 157 15 156 155 155 154 153 152 152 1St 151 150 ‘150 149 149 148 148 148 25
273 251 262 248 241 233 235 232 230 228 224 220 218 218 243 212 211 . 209 208 207 206 206 .10 ‘10
371 348 333 822 314 307 302 298 29 291 285 277 274 970 266 264 262 259 258 256 255 254 05
655 509 564 533 520 506 494 485 47T 471 45 441 43 4B 417 412 408 401° 400 3% 3% 391 01
158 1.57 156 155 154 153 153 1.52 152 151 150 1.48 1.49 1.43 1.47 147 147 146 1.46 1.46 1.45 1.45 25 °
Ses. a5t pds liomigsk ) ar ok ezsiiandagiy o eal 208 205 20 AR 200 200 190 18 197 o 1
4% 3% 320 009 301 295 290 285 282 27 72 265 2681 28 283 23| 249 246 245 243 242 240 05
622 567 532 507 480 474 463 454 445 440 425 490 402 994 386 381 378 371 389 388 ‘362 380 01
{56 155 156 453 182 181 151 150 150 149 145 147 146 145 145 146 144 143" 4a3] 14 14 Le2 2D
agl. 248 2% 233 Teas 2 22l SALAN TSI 2 o4 201 199 197 186 194 183 182 19 190 .10 2
249 326 341 300 291 285 280 275 272 (269 pge. 254 1251 247, 243 240 238 235 234 232 231 230 (05
505 541 506 482 464 450 430 430 422 416 401 386 378 370 362 357 354 347 345 341 33 336 0
185 153 152 151 150 149 140 148 147 147 q45 145 144 143 142 142 142 141 141 140 140 140 25
286 243 235 228 223 220 216 214" 212 210 205 201 198 136 193 Je» 190 188 188 186 18 185 .10 13
34) 518 303 ‘202 283 27 2Tt 267 288 260 253 245 242 238 234 231 2% 52§ 225 223 2x» 221 05
574 521 486 462 A4 430 419 410 402 3% 38 366 38 a5f 243 338 433 327 3 32 3N ur o
153 152 (51 150 149 148 147 146 146 145 145 143 142 1Al 141 140440 139 138 1» 138 138 25
sg2 299 231 224 219 215 212 210 208 205 201 196 (94 191 18d 187 186 183 183 182 180 1.80 .10 14
334 31 206 285 276 270 265 280 - 257 253 245 239 235 onl 237 224 222 219 218 216 24 213 05
556 S04 469 446 428 414 403 394 38 380 366 IS 343 2335 327 322 31 311 309 306 303 300 O
152 151 149 148 147 148 146 145 144 14 143 141 141 140 . 139 132 433 138 1ar 137 136 136 25
240 288 227 221 216 212 200 206- 204 202 1967 192 100 187 185 143 182 179 A7 17T 178 176, .10 15
329 206 200 279 271 264 259 254 251 <248 240 233 ooy 225 220 218 216 2312 241 210 J08 207 05
c42 489 456 432 414 400 389 380 373 367 352 437 320 321 - 313 308 305 298 ogs 292 283 287 .0
151 150 148 147 148 145 L4404 1440 143 TAl 140 139 138 1937/ 137 138 136 135 135- 134 134 25
245 233 224 218 213 209 206 203 201 19 194 189 167 184 181/ 179 178 176 175 174 73 172 10 18
a24 301 285 274 266 250 254 ' 249 246 « 242 23§ 228 224 219 215 242 24t 207 206 204 202 201 05
529 477 444 4.20 403 389 a78 asd ap2 355 341 3.26 318 3.10 302 . 297 2.9 286 2.54 2.81 2.78 275 .03
150 (A9 147 146 148 N4 143 143 12 TdT 1D 159, $98 AT 0138 135 135 14 454 134 133 133 25
si4. 231 222 215 210,208 203 200 198 1% 13 TEa . tBA. 18BN VB AT8, 4TS B 172 174 169 159 10 17
220 206 281 270 261 255 249 245 241 238 031 223 219 ‘215 210 208 206 g2 201 199 197 196 05
518 467 434 410 393 379 368 ' 35¢ 352 346 331 416 308 2300 262 287 283 276 275 271 268 285 01
140. 148 148 145 144 143 142 142 .14 740 B 438 137, 136 135 14 {34 133. 133 132 13 132 X5
242 . 220 220 213 208 204 200 198 16 183 185 184 181 178 175 174 w72 Lm 489 168 ‘167 1688 .0 18
316 203 277 266 258 251 246 - 241 237 234 pp7 219 245 211 206 204 202 158 497 195, 193 192 05
502 458 425 401 384 T 360 3.51 343 337 323 3.08 3.00 2492. 284 278 2.15 268 2.66 2.62 2.59 257 o
1.49 1.47 1.46 1.44 1.43 1.42 1.41 1.41 1.40 140 138 1.37 1.36 1.35 1.34 1.33 133 1.32 1.32 1.31 1.3 1.30 25
2.40 201 218 21 206 202 198 1.96 1.04 191 1.86 1.8% 1.79 1.76 1.73 1.71 1.70 1.67 1.67 1.68 1.64 1.63 A0 19
3.13 Nmﬂ 274 283 254 248 242 238 234 m.u._ 223 2.16 21 207 203 2.00 1.08 1.94 1.03 1.91 189 1.88 05 »
c01 450 4i7. 994 an 3/ 3R 343 3% 3% 315 300 292 284 276 271 287 260 258 255 251 248 .0
148 146 145 144 143 142 1.41 140 133 138 137 136 125 130 1330 13 R 31 137 130 130 129 25
238 225 216 209 204 200 186 194 192 18 igd 179 477 176 171 189 168 165 164 163 1182 181 .10
940 287 271 260 25 245 23 235 . 231 228 050 242 208 204 199 197 195 191 {00 188 18 184 05
404 443 410 387 S5 346 3% . 3 az 309 234 288 278 260 284 281 254 ‘252 248 2M 242 o
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W_ ! . UPPER PERCENTAGE POINTS OF THE y? DISTRIBUTION -

w. Example
Pr(x® > 10.85) = 095
Pr{y!>2383) =025 fordf =20
Pe{y? > 31.41) = 0.05 ;
Degr p
eBs T
w.ﬁ Freedom 9495 890 875 950 900
1 392704 x 10710 157083 % 10° 982069 % 10°° 393214 x 1072 0158
2 0100 L0201 L0506 1026 2107
3 0717 1148 2158 3518 5844
-4 2070 297 4844 J107 1.0636
5 4117 5543 8312 1.1455 1.6103
6 6757 8721 1.2373 16354 2.2041
7 8893 1.2390 .1.6899 21674 26331
8 1.3444 1.6455 21797 2.7326 3.4895
o 1.7349 2.0879 2.7004 33251 4,1682
10 2.1559 2.5582 3.2470 w.fa 48852
11 2.6032 3.0535 J.B158 4.5748 5.5778
12 3.0738 3.5706 44038 5.2260 6.3038
13 3.5650 4.1069 5.0087 5.6019 7.0415
14 40747 46604 56287 6.5706 7.7895
15 4.6009 5.2294 62621 7.2609 8.5458
16 5.1422 5.8122 8.9077 7.9616 93122
17 5.6972 £.4078 7.5642 86718 10,0852
18 6.2648 7.0149 82308 9.3905 10,8649
19 6.B440 7.6327 8.90G6 10,1170 11.6509
20 7.4339 B8.2604 95908 10.8508 12,4426
21 8.0337 a.gg72 10.2829 11.5813 ﬁ.mug
2 B.6427 95425, 10,9823 123380 14.0415
23 5.2604 10.1857 11.6885 §3.0905 14.8479
. 24 9.8862 10.8564 12.4011 13,8484 156567
25 10,5197 11.5240 131197 146114 16.4734
26 11,1603 121881 M.m_m..-u.m 15.3781 17.2918
o7 11.8076 . 12,8786 14,5733 16.1513 18.1138
28 12.4613 13,5648 15.3079 16.6279 16,9392
29 13.1211 14.2565 16.0471 17.7083 19,7677
30 13.7867 14.9535 16.7908 18.4926 205992
40 20,7065 22.1643 24.4331 26.5093 29,0505
50 27.9907 29,7067 32,3574 34 7642 37.6886
60 35.5346 37,4848 404817 43.1879 454589
70 432752 454418 487576 51.7393 55.3290
80 51.1720 53.5400 57.1532 60.3915 64.2778
90 50,1963 61.7541 656466 . 69,1260 732912
100° 67.3276 70,0548 742219 77.9295 82,3581

750 2500 250 100 050 025 010

1015 .4549 1.3233 2.7055 38415 5.0239 6.6349 : 7.878¢
5754 1.3863 2.7726 4.6052 '5.9915 7.3778 9.2103 . 10.596¢
1.2125 2.3660 4.1084 6.2514 7.8147 93484 - 11.3449 12.8381
1.9226 3.3567 5.3853 7.7794 9.4677 11.1433 -13.2767 14,8602
26746 ©  4.3515 16,6257 92064 110705 12835 150863 16.7436
3.4546 5.3481 7.8408 10.64456 12.5916 14.4494 168119 18.5476
4.2549 6.3458 9.0372 12.0170 14.0671 16.0128 18.4753 ‘20,2777
5.0706 . 7.3441 10.2188 13.3616 15.5073 17.5346 20,0502 :21.8550
5.8588 8.3428 11.3887 14.6837 16.9180 19.0228 21.6660° 235893
8.7372 9.3418 - 125489 15,8671 183070 - 204831 232033 ..25.1882
7.5841 10.3410 13.7007 17.2750 19.6751 21,9200 24725 ' 267569
8.4384 11.3403 14.8454 18.5494 21.0261 23.3357 262170 28.2995
9.2991 12.3398 15.9839 18.8119 22.3621 24,7356 27.6883 29,8184
10.1653 13.3393 17.1170 21.0642 23,6848 26.1180 29.1413 313193
11.0385 14,3389 18.2451 223072 249958 27.4884 305779 32,8013
11.9122 15.3385 19.3688 235418 26.2962 28,8454 31.5999 34,2677
12,7919 16.3381 20.4887 24.7650 27.5871 30.1810 33.4087 35.71€5
13.6753 17.3379 21.6049 25.9694 28.8633 31.5264 348053  _ 37.1564
14.5620 18.3376 227178 27.2036 30.1435 32.8523 36.1908 38.5822
15.4518 19.3374 238277 28.4120 31.4104 34.1696 37.5662 39,9968
16.3444 20.3372 1249348 296151 326705 35.4789 33,9321 41.4010
17.2396 21.3370 26,0393 30.8133 33.9244 36.7807 40,2894 427956
18.1373 22,3369 27.1413 32.0069 351725 38.0757 41,6384 441812
19.0372 23.3367 28.2412 33.1963 35.4151 39.3641 42.9798 45.5585
19,9383 24,3366 29.3289 34.3816 37.6525 40.6485 443141 46.9278
20.8434 25.3364 .30.4345 355631 . - 388852 41.9232 456417 48.2899
21.7494 26.3363 31.5284 36.7412 40.1133 43.1944 46,9630 49,6449
22.6572 27.3363 32,6205 37.9159 41.3372 44,4607 48.2782 509833 |
23,5666 28.3362 337109 39.0875 425569 - 457222 495879 §2.3356/
244776 29.3360 34.7508 40.2560 437729 46.9792 50.8922 536720
33,6603 39.3354 456160 51.8050 55.7585 58.3417 63.6907 . 66.765
42.9421 403349 56.3336 63.16M1 67.5048 71.4202 76.1539 79,497
52.2938 59.3347 ° 669814 74.3970 79.0819 83.2976 88.3794 9155
61.6983 £69.3344 775766 855271 90.5312 85,0231 100.425 104.2
71.1445 79.3343 88.1303 96.5762  101.879 106.629 112,329 11683
80.6247 89.3342° 98.6489 107.565 113.145 118.136 124.116 128.

99.3341 109.141 118,498 129.561 135.807 140

£0.1332

124.342

P
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DURBIN-WATSON d STATISTIC: SIGNIFICANCE POINTS OF dg,‘AND iy AT 0.05 LEVEL OF SIGNIFICANCE

K =1

k=2

k‘lﬂa'

=4

K=5

=85

Ke=T

K=8

k=9

k=10

o

dy

q;

Ty

d,

dy

dy

dy

de

dy

di

dy

a

dy

de

du

dy

D m - @

- b ol wdk ek =l A
N3O RURNBaIddaian2a

833

0810
0.700
0.763
0.824
0,879
0.927
0.971
1.010
1,045
1.077

. 1,106

1.133
1.158
1.180
1.201
1221

1.239
1.257
1273
1.288
1.302
1.318
1.328
1.341

1.352
1.363
1.373
1.383
1.393
1.402
1411

1418
1427
1.435
1.442
1.475
1.503
1.528
1.549
1.567

-1.583
1598

1.613
1.624
1.635
1.645
1.654
1.720
1.758

1.400
1.356
1.332
1.320
1,320
1.324

1331

1.340
1.350
1.361
1.371
1.381
1.391
1.401
141
1.420
1.429
1.437
1.446

1.454

1.481
1.489
1.476
1.483
1.489
1.496
1.502
1.508
1.514
1.519
1.525
1.530
1.535
1.540
1.544
1.566
1.585
1.601
1.618
1.629
1B41
1.652
1.662
1.671

1.679

1.6887
1.694
1.746
1.778

0.467
0.559
0.629
0.897
0.658
0.812
0.861
0.905
0.946
0.982
1015
1.046
1.074
1.100
1.125

1.147

1.168
1.188
1.206
1.224
1.240
1.255
1.270
1.284
1.267
1.309
1.321
1.333
1.343
1.354
1.364

1.373

1,382
1.391
1.430
1.482
1.490
1.514
1.538
1.554
1.571
1.586
1.600
1.612
1.623
1.634
1.706
1.748

1.896
1.777
1.609
1.641
1.6804
1.579
1.562
1.551
1.543
1.539
1.536
1.535
1.536
1.537
1.538
1.541
1.543
1.548
1.550
1.553
1.556
1.560
1.563
1.567
1570
1574
1.577
1.580
1.584
1.587
1.590
1.584
1.587
1.600
1.615
1.628
1.641
1.6852
1.662
1.672
1.680
1.688
1.696
1,703
1.709
1.715
1.760
1.789

0.368
0.455
0.525
0.585
0.658
0.715
0.767
0.814
0.857
0.897
0.833
0.967

0.998

1.026
1.053
1.078
1.101
1.123
1.143
1.162
1.181
1.198
1214
1.229
1.244
1.258
1.271
1.283
1.295
1.307
1.318
1.328
1.338
1.283
1421
1.452
1.480
1.503
1.525
1.543
1.560
1575
1.589

1.602

1.613
1.653
1.738

2,287
2128
20186
1.928
1.864
1.816
1.779
1.750

1.728°

1.710
1.696

1.885.

1.676
1.669
1.664
1.660

1,656

1.654
1.652
1,651
1.650
1.650
1.650
1.650
1.650
1.851
1.652
1.653
1.654
1.655
1.856
1.658
1.659
1.668

1.674

1.681
1.689
1,696
1.7C3
1.709
1.715
1.721
1.726
1.732
1.736
1.774
1.799

0.296
0.376
0.444
0.512
0.574
0.632
0.685
0.734
0.779
0.820
0.859
0.894
0.927
0.958
0.986
1.013
1.028
1.062
1.084
1.104
1.124
1.143
1.160
1177
1198
1.208
1.222
1.236
1.249
1,261
1.273
1.285
1.336
1.378
1.414
1.444
1.471
1.494
1.515
1.534
1.550
1.566
1.579
1.592
1.679
1.728

2.588
2.414
2.283
2177
2.004
2.030
1.877
1.935
1.900
1.872
1.848
1.828
1.812
1.797
1.785
1.775
1.767
1.754
1.753
1.747
1.743
1.739
1.735
1.732
1.730
1.728
1.726
1.724
1.723
1.722
1.722
1.721
1.720
1.721
1.724
1.727.
1.731
1.735
1,739
1.743
1.747
1.751
1.755
1.758
1.788
1.810

0.615

0.710
0.752
0.792
0.829
0.863
0.895
0.925
0.953
0.878
1.004
1,028
1.080
1.071
1.080
1.109
1.127
1.144
1.160
1.175
1.180
1.204
1.218
1.230
1.287
1,335
1.374
1.408
1,438
1.464
1.487
1.507
1.525
1.542
1.557
1.571
1.665
1.718

2.645
2.506

. 239

2296
2220
2157
2104
2.060
2,023
1.991
1.964
1.940
1.820
1.902
1.886
1.873
1.861
1.850
1.841
1.833
1.825
1.819
1.813
1.808
1.803
1.799
1.795
1.792
1.789
1.786
1.776
1.7
1.768
1.767
1.767
1.768
1.770

1572

1.774
1.776
1.778
1.780
1.802
1.820

0.447
0.502
0.554
0.603
0.649
0.692
0.732
0.769
0.804
0.837
0.888
0.897
0.925
0.951
0.975
0.998
1.020
1.041
1.061
1.080
1.087
1114
1.131
1.145
1.161
1.175
1.238
1291
1.334
1372
1.404
1.433
1.458
1.480
1.500
1.518
1.535
1.550
1.651
1,707

1.891
1.884
1.877
1.870
1.864
1.859
1.854
1.835
1.822
1.814
1.808
1.808
1.802
1.801
1.801
1.801
1.801
1.802
1.803
1.817
1.831

0.343

0.451
0.502
0.549
0.585
0.837
0.677
0715
0.751
0.784
0.816
0.845
0.674
0.500
0.926
0.950
0.972
0.994
1.015
1.034
1.053
1.071
1.088
1,104
1.120
1.189
1.246
1.204
1.335
1.370
1.401
1.428
1.453
1.474
1454
1.512
1.528
1.637
1.697

2.246
2.208
2.174
2144
2117
2,083
2.071
2.052
2.034
2.018
2,004
1.991

1879

1.967
1.957
1.948
1.939
1.932
1.924
1.855
1.875
1.861
1.850
1.843
1.837
1.834
1.831
1.829
1.827
1.827
1.826
1.832
1.841

0.502
0.547
0.588
0.628
0.666
0.702
0.735
0.767
0.738
0.826
0.854
0.879
0.904
0.927
0.950
0.971
0.991
1.011
1.029
1.047
1.064
1.139
1,201
1253
1.298
1.338
1.369
1.399
1.425
1.448
1.469
1.489
1.508
1.622
1.686

2.041
2.029
2017
2007
1.997
1.958
1.930
1.909
1.894
1.882
1.873
1.867
1.861
1.857
1.854
1.852
1.850
1.847
1.852

0.416
0.461
0.504
0.545
0.584
0.621
0.657
0.691
0.723
0.753
0.782
0.810
0.836
0.861
0.885
0.908

0.930

0.951
0.970
0.990
1.008
1.089
1.156
1.212
1.260
1.301
1.337
1.369
1.397
1.422
1.445
1.465
1.484
1.608
1.675

257
2514
2464
2.419
2378
2.342
2.309
2278
2,261
2.226

2.181
2,182
2144
2.127
anz2
2.098
2.085
2,072
2.022
1.986
1.958
1.938
1.823
1.910
1.901

1893

1.886

1,881

1.877
1.874
1.862
1.863

0.424
0.465
0.506
0.544
0.581
0.616
0.650
0.682
0.712
0.741
0.769

.0.795

0.821
0.845
0.868
0.891
o912
0.932
0.952
1.038
1.110
1170
1222
1.268
1.305
1.339
1.369
1.396
1.420
1.442
1.462
1.594
1.885

3184
3.073
2974
2.885
2.806
2,734
2.670
2613
2.560
2513
2470
2431
2.396
2.363
2323
2.306
2.281
2.257
2236
2218
2.198
2.180
2,164
2,148
2.088
2044

2010

1.984
1.964
1.948
1.935
1.925

1918

1.809
1.903
1.898
1.877
1.874
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Section I: Answer questions 1 and 2.

WIS I: 99T 1 991 2 &1 Iev o |

. Briefly explain any 5 of the following concepts :
(5%2=

(1) Revised Estimates

(i) Components under Capital Receipts
(iii) Consolidated Fund of India

(iv) Charged Expenditure

(v) Revenue deficit

(vi) Medium-term Fiscal Policy Statement
i 3 ¥ Bt S 5 smumonst = @i ¥ vk
(i) wRafee srgam

(ii) TS0 wfte & sfa wew

(i) wra =1 wfFa @




F

150 3

Balance of Payments data is given below (in US$ billion) :

Trade balance = -74.4
Errors and Omissions = 2.5
Imports = 197.65

> Transfers = 30.34

Income from profit, interest and dividend = —-14.34

Services = 36.78

Capital Account Balance = 42.62

On the basis of the above data, calculate the following :
(a) Exports

(b) Balance on Current Account

(¢) Change in reserves (1,2,2)
Wﬁmww%ﬁmw% (@ v $ ffeaT %)

MR A = -74.4
IR sk 3o = 2.5
| = 197.65
e = 30.34

A, ST adl e 4 = -14.34

RTO.
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4150 4
dad = 36,78
St @ M = 42.62

mm%mm,ﬁnﬁmﬁ:_
(31) e
() =g @ I

(@) f&fa ¥ wRady

Section II: Answer any four questions.

mn:faﬁ‘?mwﬁwmﬁﬁw

All questions carry equal marks. (15%4=60)

aft 7T sF gw 2 (15 x4=60)

3.

(1) Describe the structure of indirect taxes in India befo;
the implementation of GST. Explain some of t
advantages that can arise with the adoption of t
GST system in our country, (4,

(i) What are the challenges that should be addressed |
be able to reap full benefits of this change in th
indirect taxation system? (5




r

150 5

(i) RDoad, & T T TES WRE A RIS HU hl FEA
7 auieT AR | TR 2w A RTEA, YRR F FAAA F A
I A A el ol EHy |

(i) SR FU YO ¥ 3@ uRadA B qf @ W w
¥ weam B @ fow wF @ wAfeal @ dafta S
=BT ?

| Write short notes on the following : (any 3) (3x5=15)
(i) Budget making process in India
(i) Balance of Payment condition of the country
(iii) Progress in labour reforms

(iv) FRBM act

frifara W ARera Rool R (A o =)
(i) W ¥ =i &= gt

(ii) ¥ o e wge R

(iii) =@ gurR # wid

(iv) o% ar & i fefam

P.T.O.
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S

(i) Explain how premature deindustrialization and backlas

(ii)

(ii)

What are the major recommendations given by Fourteentl
Finance Commission? What are its implications for fiscal
federalism in India?

s e s e & S e Ry = 2 7 s A
waE & forg @y @r 7 7

6

against globalization can cause Late Converger Sta
for India?

“There*is an urgent prioritization of investmer
revival to achieve long lasting growth in the

country”. Elaborate this in the context of Econo i
Survey.

qHeEy o dvdieor @ Reeme g d TR a@a

S0 B T B T L Tl S e —
HEHar & ?
“%mﬁﬁﬁm&mﬁmaﬁmaﬂ%%mﬁaﬂ

& aeE wafear ? 17 e wdemr & gl ¥
faega v &g |

(1



r

M50

!9 (i)
(i)

? (iii)
(i)

|

[ (ii)

7

Explain the situation of the fiscal deficit in India during
1980s and 1990s. (8)

What is the difference between planned and non-
planned expenditure? Why has this distinction been

removed now? (2.2)

What is Vote on Account in the context of budget

making in India? : (3)

1980 AT 1990 & TAEH @ AT WRA A TorhGE =i il
fufy = =arem #T |

afm 9t R-Fafe =g & W T F=R 8 7 I T
=R B T gar fRar R

WRE A G g @ e ¥ 49 3| FHiS< I
8

| “To be able to achieve an inclusive and sustainable growth

for India, the social infrastructure like education, health

and social protection are being given utmost priority by the

government”. Elaborate. (15)

P10
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£25) i'fii.
Review the major macroeconomic developments in India in ',@
recent years. Discuss the factors that can explain th'
developments. . i
m%aﬁﬁmﬁ@qa@m&maﬁ
mmﬁHﬁmﬁmlﬁﬁmﬁwm_
el wRH FHT ﬂirf Hifora |

_ What are the reasons for the flight of the Indian entrepreneut
away from labour intensive industries ? Do you think Indiar
labour laws are responsible for it 2 If ves, then tvﬁal need:
to be dun;: regarding prevailing labour laws 2 F,FabnrateQ
W TEfE # s weE s A w e @
m%?maﬂq%mﬁ%%mﬁqﬂn §
T fau SRR 82 afk & @ sdam sm s §
& fau @ fem s wfiew? smen #ifm

“The performance of Indian agriculture is often assessed in

the key problems and issues. of agricultural economy of India."

Discuss the statement and suggest an - alternative approach,



——

(3) 4035
G B wed W T W A -
a g # @ St ® W R AR
 ®q & W S %1 3H wER & fafa wwa w
aﬁa@m%g&gﬁamsﬁﬁm&ﬁl
F T TM FHUT F SMEN FHISQ A GRCTH
fafy o1 gaE Q)

Discuss India’s approach towards financial globalization. What
opportunities have been-created in India following this
approach and what are the risks and challenges associated
with it ? Discuss. ;

Ffw) Tg fafs #1 A A 9Rd H SO ST
1 ¥ qo Tod wEbuw Sifem | e & g
el Hife |

Critically review the performance of Indian agriculture since
1951. Do you really think that the drivers of growth have
changed qualitatively in the mid-2000s ?

a4 1951 A YRdE HU H TEYE W SACHACTS
R e e B L5 B B A @
o WEA-2000 H faehTE 1 AR Ael FHEH 7 ICHER

Tqoed Sl €2
. : : PT.O.
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persistence of dualism in India.

Ofad yfrw #1 s e 00 T et § ST

e fara # ag drem fon ® qw fava =mR

(4) 103
Critically review India’s experience with FDI and FPI inflow

FDI & FPI&W%mﬁﬁWﬂﬁ
ATAEATHE Y& FIfoT |

The existence of ‘dualism’ has slowed down the expectet

dynamic role of manufacturing sector in India. Discuss briefl

in context of above statement the causes of emergence ang
“Tretgd &t sultafa 3 wra § faftmio 83 w1 emfi

F eaft 9 e @ ol W wfaa s i
“Service sector has contributed largely to the economic grnx-.?t
of Indian economy since liberalization, and has also playe_
an important role in facilitatin.g India’s integration with the
world economy."-Discuss. What must be done to sustain the

momentum of growth in this sector ?

“IEE h 9HE W € YRAE ¥ & 3 9Rdad

3 ot aom § wwa w1 et A uF eyl fi
frurht %1 @ &9 #§ faem @1 ufwie sEw @l
@ fom. @ fen W owfen 2 mem @i
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"India's macroeconomic conditions have shaped the pattern ¢
its ﬁnancialtl globalization and this provides a framewor
for managing it too." Critically evaluate the framewor
adopted by India to manage the challenges posed by financii

globalization.

" uRd &t oA st feafadl 3 ot fasdia St
% WEY hl HR T & 3R 7% 34 yafad w1 3
fau o w@n off 9 w71 fada Qi &
ATl & JEUT FE b AU IRA g STEE T
H1 RS YeAlHT FIo |
"India's agricultural development, has not turned out to be pri
friendly eithe-r for the farmer or the cunsuﬁer", Comment. Als¢

briefly point out what are the policy implications of thi

phenomenon.

“yra &1 Y faw, feam o 3usin A @
A Yeu s el Wi, feoroht wifed ) sue e
39 "l &l Hifa ffead w0 %, 39 s A dfy ¥
EGIEL
Do you agrée that liberalization of Foreign Direct Investment (FDI
policy may be necessary but not sufficient for expanding FD

b

inflows into India ? Give reasons in support of your answer



| {:37) 4239
F1 39 Wemd ¢ 6 fadsit wow fRw (Twdiem)
- Hifa & IERIET I SEvHE §, AR IR H TRl
arE &l g & fau gaik 98 € 7 39 IW & Uy
H & i

Discuss the evolution of the quality of Indian exports and its

comparison with peers. List and review the areas that need
k]

“intervention if Indian exports are to become more competitive

globally.

TRda frafd @t e @ Sren &ifsd SR A
HUFTEAT 29 & U godl FifSd | 3R YRG0
frafa fava = W aifys yfaeasdt s ® f smdm
i SEYIHA I & B G TAR Hifod R geren
hITST |

“India should adopt a services-cum-manufacturing rather than
a services-versus-manufacturing approach, where the two-way

linkages between the sectors are strengthened." Discuss.

“qra @l |ar-aam-fafrmin gfesin w1 a9
Qar-wg-fafmin =t writfa star =ifee, sl &5 &
e QA-TWEHE G " e ¢’ 9= wife

PTO.
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4239

(4) 4239

Discuss why has Indian manufacturing industries have had limited
impact on employment generation? How fair is it to target
stringent labor laws as the factor for low employment

generation ?

el st f6 aRdia fafmior s & SR gom
W iy = @ R 7 w9 IOW g B e
T A T e e s Fea
3faa § 2

List and discuss the factors that need to be understood for the

observed low food grain price trends in India post 1991.

1991$éﬁwﬁmmﬁmaﬁnﬁf%m
% fau 7 FRa1 F1 g9 o S¥@ €, ST Gl
TR HIfSA AR == Fifsa

Explain the concept of "global production network" from an Indian
economy perspective. Is there any connection between India's

value-added share in the world exports and India's export
growth ? -

YR s1eferaen & gftedion ¥ afys e Jeas "
i SEYURON sl T HIfSQ | +01 9Rd & frafd 9afs
R fay fafa 4 wra & afta 7oa ke & &= =8

qay & ?
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2. OB WY 8 YT &R |
3. Tt drer v & I afe
4. VYAE U D IF I A AT T |

5. fam wm Semeier SwEm it sy 2

6. FEUTT-UF T I AW a1 BY 7t v wﬂ'é’rﬁw,éﬁw
IR & AL U A B TR |

1. (a) Let the probability that a child will look after its pare
when they are aged, be p="', and let the thresh
probability that a father-mother pair finds acceptal
for receiving support from at least one child in their C
age be 0.95. Calculate the number of offspring that tl
couple will choose to have. Also, explain the fact

that influence ‘p’. (3,

(b) In a society with gender bias where females
expected to take care of child rearing activities, exami

the case for reduction in fertility when female

g0 up as opposed to a rise in male wages.

(37) =g aw s war-Rar N qer A Iaww wam
AT 2 W = b, IR TS T, R qen ¥ e
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A T UH TN A G W e @ oy - A/ e
@ R B, 095 B wAEl & e @ e R OA R
7% <ufq I IEAT BRI WY B, I R A AR W
G @ ywifee w2

A (@) ofier e B Oy ww A Wel Al @ A e
TR @ IawE S A IHE 2, IO AT W g D
e ¥ ween A9 e H AW W WA H

). (a) In the Harris-Todaro model, suppose the initial level of
‘ urban employment is E;, = 2 million, the total urban
| labor force is L;; = 3 million, the urban wage is fixed by
law at W, = 6, and the rural wage is W, = 3. If the
probability of finding a formal sector job is defined as

Bl

(i) Will a person who is currently in the rural sector
find it optimal to migrate to the urban sector?

Explain.

(ii) If urban employment and the urban and rural
wages remain fixed, solve for the level of the
urban labor force which will result in the post

migration Harris-Todaro equilibrium.

P.T.O.
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(iii) Starting with the initial situation, how many ru
people must migrate to the urban sector in seal
of jobs to achieve the equilibrium as obtained
part (ii)? 25,28

(b) Briefly explain the Harris-Todaro model of rull:‘al-ur‘_
migration, and argue that despite acceleration in |
rate of absorption of labour in the formal sector,

informal sector as a fraction of the total labour fo

increases.

(3r) BRE-TR Aee A, 797 & fF 70 ISR & ARAE | |
B E, =2 @@, HA A 5% A B L, = 3 @A, T
A W, = 6 LT 3 99 A TS 8 AR A 3
W, =31 3R v steaiiRe &= @it Ated @ a6t 4%
2 E /L, ™

(i) = 2 =f S adwe ¥ gl A X 2, 9w W
&7 ¥ TG HEAT IUGET GHRN ! G|

(i) R BT SR AR MEQ JAR AET Forgd foum |
MEY W 9 B WD g ' W e '
4T @ I BRE- AR qgerT BN



r

a3 5

(iii) o foufy ¥ 3 o, Y @) & T X W e
U & S e faas arior AR & A5 @t e
¥ Y a7 A wEaRa e wfee?

(@) @7 ¥ aefor-wed yarET @ BRa - g AUSH W wHAY ql
T ¥ altvaRe @ ¥ s Emiwer A W X RO &
AT, THA S T B JW D Y N IHITRE &F qE@ar 2

In the rural informal credit market, will the moneylender’s
preferred contract involve credit rationing? Analyse the

reasons and discuss. (15)

AT FEEReE S0 AR ¥, I UFETE & TEael FgEy §
I BAN? HRON o fAmewer WOk w=l &l

(a) In the presence of widespread under-nutrition in the
rural labour market, the effect of changes in the
distribution of landholdings may be judged desirable not
only for their own sake but also for the economy.

Discuss. (9)

(b) Briefly explain how a policy of lending by the formal
sector to large informal lenders can have a mixed effect

for small borrowers with no access to formal credit.

(6)

0 L0 1
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5.

(3r) TFEr sm W ¥ wue HeR-9wm @t gufedfd
& famw ¥ BN O GRadAl & wwE @ F @ad
wifex afesr sreferaen & fag ot afediia w=r o 9
i et d

(@) @9 ¥ Ta] & te=Re 87 gv @3 IaaiRa SUREl
# IUR A N A F TR B IuRSFarsn w7, R
R H#U oF Ugd A6 2, & Pl wwa A o3
2l |

(a) Sharecropping emerges as a way to share not jus
output of productive activity but the risk associated y
it as well. Elaborate.

(b) Explain how the way debt contracts are specified
rural informal credit markets can lead to a rise in ki

inequalities in poor societies.

(3) m&ﬁmﬁnﬁﬁmmmﬁﬁaﬁaﬁaﬁmﬁ
WS OiRaw & W WET R @ UEH A @ T A I
21 famr ¥4 =@

(@) weK B e @@ ¥ T/ SEy TE SR
Toit # FAfdee &, et w0 gl A SR s A gfe
el B



T
s
~1

xplain the concept of sustainable development, and how it
is estimated. Are the movements in GDP, HDI and
sustainable development reiated? Discuss through empirical

evidence, (15)

aae fAeTE o EURIT T TAAS 3R FHR HTAT FEA D qddnl
# rEn w1 R e, wEdeng ik wad Rem & afafafar
¥ gay 27 FANAST GG @ AAR ¥ oG9

“Collectively, however, our actions took the world’s
economy to the brink of disaster, and they could do so
again unless we recognise what went wrong and take the
steps needed to correct it”, In light of the above statement,
discuss the reasons for the global financial crisis of 2007

and what can be done to avoid such a crisis in future?

(15)

‘g € ¥ TR wEr A fAwa ot srifaran woSm9Er & HIR
w o Rar, 3k ¥ v fiw ¥ X aed & W@ 9% & B e Aw
e fr e @ gam IR R gurA & o smawas wen oW
IRE @R @ werw ¥, 2007 & AMaw AT dFHc & FRON W
af W AR wRAsr A W dae | g & fow = B S awa
7

B,
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8. Trade policy is politically contentious because il
important domestic distributional consequences. Discus!
effects of globalization on poor in the developing econo

in the light of conflicting viewpoints of economists.

=R S TeHifas w1 4 Raeme 2 Wi @ 9@ ;
foreror wRomw &1 srfereRt & faarRa gRewnior & wanra ¥ fae
it ¥ T O AT @ weEl W) oaEl el
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it @ forg frdm

| @ yE-a @ fen @ IR Ry e FuiRe e wsee Sgwee
ferfag |

| yEOE S RN A Ve ® - W & 3R WHT @ |

| W Y R U WEE & IR AR 3R W @ ¥ e i
& IR Y

| %@ 9T - 99 o IR AN @ B8 R v s A Afvwg, A e

I &1 WIEAH U 1 BT 91e |
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4496 2

Section A (15 marks eg
Answer any one.

(v ) (UAF 15 ¢
f&dl uas @71 FTR 71

1. Analyse the multi-divisional corporate structure in Steﬁ
Hymer’s analysis of the Multinational Corporation (
and briefly explain its strategic advantages ¢

consequences.

WIHT B1FR & fwdww ¥ 3 ag - wrig wmie 2 =
IR 8T ¥ @S wrifas wEe ARk gk @
x|

2. What are the different types of global value ch
governance? Discuss the theoretical framework to explé

these different types of governance.

s 79 syEer waT & R R @ # 7 3 R w
® A H T daen dgifos wREr )owE wi

3. Modern capitalism has undergone several structural crig
since the last decades of the 19th century till now. Expli
how each of these crises marks the beginning and end

distinct phases of capitalism.
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sy gotlare 1949 @ @ Aot TR A IS TF HF D
dadl ¥ R gH 21 wE R fRE oaw T A dew
e Yoare @ el - el TN A YA SR FHEA N FiEr
1

Section B (20 marks each)

Answer any three.
(smT @) (=& 20 3H®)
fa=T A & IR T4

Explain how the Post-Fordist systems of production not only
restructured production but also pointed to fundamental
changes in corporate forms, labour processes, and

consumption patterns along with spatial reorganisation of

economic activity,

e o frg ot IweT & IwR-Wisardl (Post-Fordist) Womedt
X ad IARA &1 e fhar sfew snfie afafaftal @ vt
TS @ WY - HRARe w9, oW wfEel, sk e @ ded
¥ eyd aRadT & R IR R

Analyse the emerging nature of labour-capital conflict in
globalized production sites including a discussion on some
of the strategies used by the management and counter-

strategies by the workers and their allies.

P.T.O.
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g I WA A sm-gon wud A S w8
WA N Fae - wrfad | o= mier 8@

6. Discuss the tensions and contradictions inherent in the theg
and practices of the neoliberal state. To what extent
these contradictions arise out of a disparity between
declared aims of neoliberalism and its actual motives a

consequences?

qG-JeR T & R ik v F fAfte gwm sk R
R g9l | e 'e 9% g fRuvm Jaderar @ 9fte @
IR 3D Trafas IR 3R R @ e s ¥ I B
27

7. “The incredible contradictions of wealth and power th
now exists in the upper echelons of capitalism have n
been seen since the 1920s” (David Harvey). Do y¢
think this phenomenon is a mere byproduct of neoliberalis
or is it the very core of what neoliberalism is all abou
Discuss and substantiate from experiences of neoliber

transitions.

‘4 3R TR W sfRTEEl AR W s T @ @
R ¥ wigE 2, 1920 & Tww A 3@ TH UEA AG F@m WA A
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=

{%ﬁgaﬁ)aﬂram?rm%f&?uﬁm%maa—maﬁ
o IT-JEE § I H A€ A A9 -IaRaE @ A qoAd B 7
qq-9eR EEA @ R BN g W ol ol gfie @

Fxplain the major shift in the realm of ‘corporate
governance’ and ‘managerial culture’ since the advent
of ‘financialisation’. Discuss how governments have
often promoted a broader ‘equity culture’ concomitant to

this shift.

FrfgEer @ A B W A HORe WEE 3R sy
Fepfy’ @ R A WE oo B @ | = e R T
=4 qee B TEE WER ¥ U s S ep’ S agr
faar |

Explain how “global spaces of production” have gendered
dimensions. Do you agree with the view that globalization
while expanding economic opportunities for women creates

extremely ambiguous and uneven gains? Discuss.

e B By I @ g o @ A s g
mgmam%ﬁamﬁ%mmmmm
mﬁ@%ﬁmﬂﬁmaﬁ%ﬁm%ﬁawaﬁ?mﬁmﬁm
a8 7 e |

P.T:i0.
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10. “Democracy and equity are important not only as
in themselves, but also as means to environmé

3 protection.” (J.K. Boyce). Discuss the statement.
‘e 3R AT -G Hae G A Ad Dl qE AT
2, ¥ yafawor geevr & forg ot weeaqef & 17 (S, «iz|) | 36
W Tl Y| |
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L. (n) What are the changes in the banking system depo
currency holdings and the total stock of money if

makes an open market purchase of 30 crore Rupg

Given that -
(1) Required reserve ratio = 20%
(i) Desired Excess Reserve Ratio = 5%

(iii) Desired currency to deposit ratio = 25%

(b) Describe two ways in which financial intermediar

help lower transaction costs in the economy.

(=) aﬁ#:rwnﬂ?m,gma’rfaﬁvwgm%a@ﬁmir-
ﬁmaﬁﬁa&ﬂﬁmsoaﬁgmaﬁqﬁwm E;
g ?

(@) < sl @ vl o R el wemer sferaea <
AN H HH A A WET wR D |
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! (a) By choosing an intermediate target the central bank
confronts a choice of achieving either a monetary
target or an interest rate target. Which is better? Explain.

(8)

(b) There are two Bonds, Bond A and Bond B, wherein,
Bond A has zero probability of bankruptey, face value
of 1000 Rupees with a maturity of one year and coupon
rate of 5%.

Bond B has 10% probability of bankruptcy, face value
of 1000 Rupees with a maturity of one year, and coupon
rate of 5%.

(i) Calculate the price and yield to maturity of Bond
A and Bond B.

(ii) Why do they differ in price and yield to maturity.
Explain diagrammatically. (7)

(=) nwaﬁawaﬁwﬁu%’mmﬁwwﬁﬁmﬂmm
wa{%a&uaﬁmaﬂ%%ﬁmﬂmm%l

F¥T G ST B 7 AR &Y |

(@) agi A di ¥, dFs- A 9 95 - B, e, i - A Fr Rarferea
i T e 2, T 9 A aRueEa el SR 5%
U @ @ WA 1000 T A JifHd TEd B

P.T.C)
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al=s - B &I Raferges & 10% @ 2, var ad 9 Ry
safer SR 5% &t @ @ D Wa 1000 wwA R
21

(i)a‘iE—Aaa"f%—Baﬁaﬁﬂ?rﬁmtrﬁﬁm
A wW |

(i) & @ aur aRucaar Ita A @@ frsr 2 7 B
W A IR H |

3. (a) What are the main approaches to money stg
determination? Discuss the money multiplier approath

where money is defined as broad money.

(b) Would moral hazard and adverse selection still arise

financial markets if information is not asymmetri

Explain.

(@) = Afds Afew 3k wREa =T By aom ¥ anf
5 ThA € | AR gue P A8 R 7 amem @



(a) “The beauty of the preferred habitat hypothesis lies not
only in its intuitive appeal in combining the best aspects
of the other two hypotheses but also in its power in

explaining the shapes of the yield curve.” Elucidate,

(10)
(b) Explain the advantages and disadvantages of India
r adopting Basel IIL (5)

() “vgder Fam aReear &t Gewar 7 fad 37 & IRaeaal
F AW RSl & WAl A 8, 9w ITA 9% & ER
F A R A IO T A S 217 we &

? (@) ¥Ra & FA- 111 F JEA ® AT M qRAA H AR
Gadl

! (a) Discuss the conditions that led to the current banking
crisis (2008 onwards) in India. (8)

(b) Discuss the factors causing financial crisis in the

financial markets. (7)

() 3 fufedl @ w=f R e wrRor wRa ¥ 9 I6T d@e
(2008 ¥ M) 3mAT |

(@) faha aom ¥ fa<ia 9@e IO & ae SRS W T
cadl

ﬁ P.T.O.
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6. (a) Assuming other things remaining constant, determir
impact of each of the following on the money supp
India :

(i) RBI lowers the required reserve ratio
(i1) Interest rate paid on deposits rises
(iii) Probability of Bank failure rises

(iv) An earthquake in Bhuj

(b) The Central Bank of India increases required reser

Graphically, illustrate the impact of this action on
money supply if :

(i) Money supply is exogenous

(i) Money supply is endogenous

(%) w%wmﬁw%,mﬂ'wﬁw
A YhF B UWE @ uRer &

- (i) SR &1 S mawas R U & &9 wet
(i) o°1 T W AT R/ F YA qg T o2
(iii) % fawerar =t awET 7 W 2

(iv) 991 % W& |



]
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(@) mﬁa%‘;ﬁ%aﬁmﬁﬁaﬁm%luﬁﬁmﬂ,
e & g W @ wdard @ wE A e WAk |

(i) T off afeeia 2 |

(i) #or il Fraona 2

(a) Discuss the implementation lags and effectiveness lags

in monetary policy. (8)

(b) Suppose investors prefer one year bonds to three year
bonds and will purchase a three year bond only if they
expect to receive an additional 2 percent over the return
from holding one year bonds. Currently one year bonds
yield 3 percent, but investors expect this yield to rise to

4 percent next year and to 6 percent year after.

L]

(i) Which of the three models of term structure IS

relevant in this case and why?

(ii) Is the yield curve upward sloping, flat or

downward sloping?

(iii) What is the yield on the three year bond?

(7)

(=) Aifre AR F wEaET AT qE ITEEE A T
& |

PO,
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(@) W A o B o a6 @ @t @ G A &
qol A q8E el B R AT 9§ & 4 dl had qd @
Wa UF af & 9 ¥ 9" AW h FW 2 widwd 3
I I B &t e B 1 gdA # U a9 s 3 Wl
sfota =@ 2, afe Pawen ) 39 2 f& a8 399 ¢
e 4 W qe SR IER S "l 6 gioww 96 qelll

(i) o |G 9l A el A | FHI AT AR A AW
2 3R = 7

(ii) =1 IS aF TR A CH, T AT A AW ¢
a7

(i) 9 o & = W R ITA B 7

8. Write short notes on any two:
(a) Open market operations
(b) Asset Securitization
(c) Banks Strategies for countering asymmetric informa
(7.5%
fFa @ W e o@ ford
(%) @l awiR wisharg |
(@) @@ feraiaseT |
(1) JEARE GO E EEA FA b g Sl I
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. (a) Explain how the two fields ‘Environmental Econo m
and ‘Ecological Economics’, take quite diffe
perspectives but both are ultimately concerned

helping society make decisions about environme
problems.

(b) Establish the results of the First and the Second Theo A4
of Welfare Economics. What conditions must prevai
the market before we deem it competitive for

existence of these theorems?

(%) = Fifog 29 3 &3, ‘watawr ga

(@) e weamr it weel ¢a @@ Rard W @ aRom
Wity #ife | 7@ e & for e Ruf = +
g 2 @fF TR ® gof wfEeh amr e A

(a) The Economic Survey of India (2017-18) mention
study by IIT Kanpur which identifies four
reasons for Delhi’s worsening air quality. In the light
this study analyse the factors that have led to poor:
quality in Delhi and adjoining areas. What possi
solutions are suggested in the report to address |

problem.
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4 (b) Suppose demand for electricity is Q = 200 — P, Marginal
private cost of electricity generation is Rs. 50 per unit.
Smoke is also generated in direct proportion to the
production of electricity. The health damage from smoke

is Rs. 50 per unit of smoke.

* (i) What price will be charged and how many units
of electricity will be produced if the market is

perfectly competitive?

(ii) What price will be charged and how many units
of electricity will be produced if the producer is

a monopolist?

, (iii) In part (i) and (ii) what is the net surplus from
electricity generation taking into account the
damage to health from smoke? (2,2,4)

(&) T HEAT & g A [The Economic Survey of India
(2017-18)] Restt =t st &% san &t o & fow 4 &=
FRON & fEErR aFr 2 1 39 SRl @ fRgeme i
ey wRa @ e ademr 2017-18 & IgER fewn i
JEuE @ Al @t weltd R 21 5@ Faba v @ fog

o1 gora feg g @7

(@) @ o faswel & fog wim Q=200 - P & 8w i 1 2 |
faorel IR &t dd Aol @ 50 T9R W O3S 2

L )



4500 4

(i) afe am of sfeanh @ & feed @
BN 9ur 32 fRE #a W A wme ?

(i) @R I vwfrawd 2 @ e ) e =
Jqured BT 99T 38 fFE e W qr oo 7

(ii) a2 dmw A ol o B fer e s S
F IER TE ITE e FE HiRw |

3. (a) With the help of examples explain the concepts
"weakest-link’ and ‘best-shot’ public goods.

(b) Is excludability necessary for a good to be rival? Justi
your answer. |

(c) (i) What are the pros and cons of using fuel taxes |
address transport related air pollution? What a|
the empirical findings from Costa Rica in th
regard?

(i) Why did the Thai government promote unleade
petrol? What were the two measures it undertoo
in this regard and what was the outcome? (Bat
your answer on Di Falco 2012). (5,8




00 S

| (@) e Te R @ et ¥ e w8 e A
Fife! & IeEW |qied ARAT HIRW |

() Wﬁﬁﬂﬁ@ﬁﬁ%%mwsﬁwﬁ%aﬁﬁ%
WEd ® ? I9A I @ WE SEA |

| (@) (i) uEE gEtE 9g FEw @ gai A d U 9

® T GES qA N JHAA B 7 F@ g H AT
Ret & =1 g § 7

(i) o W&R ¥ MoRfEd o 1 e fear 7 ™
¥ ¥ I o A o A forg dqur I aRom w4
q1 7 (YRR § WER (2012) FOHUR W I
<Y 1)

(a) The major debate between Stern and Nordhaus is about
setting prices for CO2 emissions. In this context discuss
how differences in the approach to the choice of
appropriate discount rate lead to a wide gap in the
proposed emission prices. (Base your answer on Aldy
ct al. 2010.) (7)

(b) When a firm has monopoly power in goods market, a
number of inefficiency problems arise to control

pollution. An emission fee can make matters worse.

P.T.O.
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Elaborate using a diagram how an emission fee furt
distorts the efficient outcome in the goods market,

(%) = AR Nfw & 9o 707 w89 Cozsatraha&ﬂam
&t 81 3 W X aen R B e wer Res
T A TEft ¥ R I @ da ¥ St g
& A 21 Aldy et al. 2010 B FUR W R FA

(@) 9 U@ ®F & U9 a5 9 A UHIER 2 9 weu
g ¥ fuedr 99t IAw Rewa & 5 &1 ¥ R
¥ Iaoi dia Rufy A sk st @ @ @ 2 o
Rl &t 7o ¥ feEr ¥ TaEy & fE vER ST
9 TOR B RO W AR e R IR A

5. (a) Explain using a suitable example why often efficien
according to Coase theorem is not achieved when the
are three or more individuals involved in bargaining,

(b) Two types of residents, old and young, share
community with a paper factory emitting smoke. T
total damage from smoke for all young residents is giv
by 2e* and for all old residents is 3e? where e is
amount of emissions. According to consulting enginel

the total savings of factory from emission is given
60e — e?.
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(1) Graph the marginal savings and aggregate
marginal damage curves taking emissions on the

horizontal axis.

(11) How much emissions will the factory generate

in the absence of any regulation or bargaining?

(ii1) Find the efficient amount of emissions. Also find
the per unit fee on firm to produce this efficient

amount of emission. (3,2,3)

(%) 3fa e @Ra aren Hifve F @ A -d &t afkar
AT @ IER AE A R A 2 @ e R 9 e
. I W FE B e ?

(@) v wE A R A ga I R 2 I A D
§ifSd, 9@ qu WaH, Gen S 2 | g A A @ wo ey
2¢? U1 q@I Fit HA &fd 3e2 1 IMAW & AR yan
I A ¥ Bl S w/A q99 60—’ B |

(i) o =t afow ofmm W AT gy @G a9 quar 99
e afd G F9139 |

(i) frd fom o o 239 & 3nmE F wF U & faeen
JET wAn ?

i 0
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(i) SO & HIA X H A HoQ | a8 o
FIY fF IO & FIT ®R A T w4
. wﬁwwﬁrmﬁﬁﬁﬁiﬁﬂmﬁ@ﬁ?

6. (a) Explain what is a transfer coefficient. Establish ’

conditions for efficient amount of emission from sou
at different locations. In this context, show
inefficiency will arise in applying a uniform emis
fee on different firms with different marginal say

functions. (2,

(b) Define contingent valuation. Describe the varith
problems associated with a contingent valuation sti

(Do not discuss details of the method.)

(=) mﬁa%aﬁmmm%ﬁamwaﬁ:
T | T - S T W Aoz Ig fr Rufy ¥ 3
Jeaoie AqET & o smewas el @ wnfie @i | g
qUEY & A - oW da efy Ol W W UE %
SNGH HE T A RISl I B S |

(@) =wéhie degue # afoaiia AR | wésie deua am
A G aw gl o e g 1 (sraa 9 =
1 JrEggEar 8l )
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~ (a) Consider a city facing the problem of water pollution

(b)

coming through a river. Two firms discharge their waste
into the river. Assume total damage from ambient
pollution in city is equal to 2p? where p is the pollution
concentration in parts per million (ppm). The marginal
savings from emission for each polluter is MS,(e;) = 15 -
Se, . for i = 1,2. The transfer coefficient for firm 1 is
a,=0.5 and for firm 2a, = 1.5.

(i) Find the marginal cost of emission for each firm.

(ii) Find the total ambient pollution and marginal
damage. (4,4)

How does the method of adjusted net savings (ANS) as
used by Geoffrey Heal provide a better measure of
sustainability than per capita GDP? Give examples to

explain your answer. (7)

(%) T WEX A A6 ¥ 9% A WS FY WU & heddl Fifor

qET WEUUT A HAH D B AQX F HO I FH ASE A Bl
2| UEH YW A W W w/A i@ 2p? B TS p WG
& & (ppm) ¥ 21 URAF W A WO A QA TS
MS(e)=15~S5e ,i=1,2 81

TEell G ol BEIERU OIS a = 0.5 T THQ B H A
T a,=1.5 2

P.T.O,
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(i) W& &4 & o Ieasl @1 dwa o 7| &
(i) = =9s weuor @ aw afy @ HAw

(@) sawd @i (2012) & 3@ e e @ o
AT (ANS) &1 aler Fe-iaar (sustainability) 2 A9
ﬁvuﬁmﬁacnpﬂmaﬁl%?wma‘:

Sfa IeEwl &1 A I |

(14
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Part- A
Answer any one question from this part,
each carrying 15 marks.

4 Qe 997 &7 Ik @ | FAdF GIT 15 JF FT B

1. What was the basis of the initial phase of agricultural gro
in Meiji Japan? Why did it not continue after the Fifs
World War?
AN WO ¥ PR Rew D gesmd R w oFw WuR @ ? Y
A gg & 4e 77 fAwm = T8 WY w® g ?

2. What factors made cotton textiles the pace maker of Brit
industrial growth. Discuss.

98 & ¥ FE A e T & aﬁﬁhﬁmﬁmﬂﬁﬂﬁrﬂﬁr g
1 e e a=mn ? awE

3. Briefly discuss the Soviet industrialization debate.

Qfdaa sitanieor Teq & dftra ==t & |

Part- B
Answer any three questions from this part,
each carrying 20 marks.

=8 S 94 &1 3o/ @1 FAF TIT 20 HF F B

4. How does the agricultural sector contribute to industr
growth in any country? Compare the experiences of Jag
and Britain in this respect.
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R o 3w 2 e e X |Qf & 9 dNEE 8 g § 7
7@ dau ¥ W R R & sl &t gae w

Discuss the collectivization of agriculture as a measure of
agrarian reform in the USSR. Was resistance the only
response by the peasants to this process? Discuss.

A @9 ¥ FR-quUR 2 vH I & T A FW & AEET
w7t F¥ | T 39 ulhar &1 Ry § 98 & e Y v W=
ufafear 9 7 |¥Eg |

| “The history of (the British) government economic policy
' and theory since the Industrial Revolution is essentially that
of the rise and fall of laissez faire.” (Hobsbawm) Discuss.

“(frer o) wER A oatie AN 9 Rew W sew stafe
Fif & THa A FEITA YA AOR (FOR) H AT B IIT W
TS & Sfaer @1 271 (SfeEEiw) e & |

! What was the origin of early Japanese industrial capital?
How did it influence the future industrial evolution? Explain

with special reference to the role of Zaibatsu.

SO B TR St oo @ B F o ? Wi & s
I @ T Iyl fran 7 Staeg @ e @ @ we
¥ ZgeT ol & |

P.T.0O.
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8. In what manner were wage differentials used as a pﬂl-
instrument in the USSR? How did workers respond ai
benefit from it?

Afge ¥ ¥ wogd - =1 (wage differential) &1 T&
AU B T N DY wanT fwar war 7 geeh wid worgd o
& IR T IR F el fen ?

9. Write short notes on any two of the following :
(a) Scissor’s Crisis in the USSR
(b) Lifetime employment system in Japan
(¢) Enclosure Movement in Britain

(d) Prices in the Soviet economic system

T A R @A W At ol ford

(%) Qfdgg wa ¥ f&sd g&c (Scissor’s Crisis)
(@) SO T eEd AR e

(ar) fRs % wea=tt ande (Enclosure Movement)
(7) wifas sferaen ¥ 4ed 9
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I.  (a) The third working group of the RBI has defl
“Monetary Aggregates” as well as “Liquit
Aggregates”. State and explain the need and significa
of each one of them used as multiple measures of mo
supply in India. .

(b) A company issues bonds in December 2017 with {
value of 1000 Rupees, coupon rate 7% and two
maturity. What will be the price of the bond

December 2018 if the market rate of interest is |
and

(1) there is no risk of default

(i1) a recent report reveals that there is a 20% chat
of default by the company.

WY -| T @ @ Y gfwfg far 2
T 9 * 9 - B w0 ¥ Ivan fe e e
® WEE T JAWEHA B TAC T A X |

(@) qaimmﬁiﬁa‘atzowﬁ'mnom&%aﬁﬁa@,? g
T R, T A A A IR D WA A o w8
fewmr 2018 ¥ A N S = BN TR =T 9 AR
10 widwa 2 a3k
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(i) Refee 1 @ S 78 2 |

(ii) ver wifear RO A war wwn @ 6 @R @ fwiee
O & 20 WAwE W 2

). (a) Calculate the deposit multiplier and money multiplier

when required reserve ratio is 0.2, desired excess
reserve ratio is 0.05, desired currency deposit ratio is
0.25 and monetary base is 500 lakh Rupees. Explain the

effect on money supply of the following :

(i) If the public increase their currency holding to
50% of the deposits

(i) If monetary base is lowered to 300 lakh Rupees

(iii) If required reserve ratio were lowered to 0.1

9)

(b) What impact each of the following will have on money

multiplier? Give reasons for your answer:
(i) An increase in interest rate
(ii) Use of credit card for transaction purposes

(iii) Spread of banking facilities in the economy

(6)

P.T.O.
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(%) v i T WM oiw R T W T AEEE
I 0.2 B, afesd iR smfea s 005 2,
T S S 0.25 7 9T ARH UK 500 @RT TR
Fafafea = 11 o W e 9 @ w5

(i) afe S=ar Sy = soumIaaa?gaTé‘rl?-a'ﬂaa
2

(i) =R +#few smem 300 A TR T FH B
(i) @l smawEEw MR sEE 00 ¥ W B W i
(|) %=1 ik R 9w Fefofaa =1 =0 wm g ? s :
& fog @ ¥
(i) =t = % 3fa
(i) oeT Sl & fow #fRe = = v
(iii) rfemaen ¥ AT R = fmr
3. (a) What is a financial crisis? Explain how the followin
can lead to a financial crisis :
(i) High interest rates
(i) Huge government budget deficit

(iii) Large amount of foreign currency dcnominat
debt
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(iv) Falling asset prices : (10)

(b) Explain how the loans of the dishonest borrowers tend
to be subsidized by the honest borrowers. In which
situation the loans of the dishonest borrowers are not

subsidized? (5)
(=) it e T 2 7 R R o et fafia whe w6
FRU DY aF GFA ©
(i) Sva = & |
(i) foame wCH@ F9C W |
(iii) A W qeEE O @ aE |
(iv) e @t e ¥ fwee |

(@) mﬁ%%ﬁmmﬁ%aﬂ,éﬂmﬁmaﬁ
mﬁmmm%?ﬁmﬁﬁff%ﬁ#maﬁ

& U geaTEe A8 fT W ?

|, (a) What is the difference between futures and forward
contracts in hedging risk? How are call options different

from put options? (8)

(b) Explain why you agree or disagree with this statement:
“Buying a put is just like short selling the underlying

P.T.0).
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asset. You gain the same thing from either positiol

the underlying asset price falls. If the price goes
you have the same loss.”

& e, ¢ Resa A 93 e far 2 7

(@) = X P o 5@ @ A g # W o ¥ w
¢ @i AafRfa oRewfy =t =7 3= Jr 2 2
saffSe aRewfy @ e fien 2, A s R S Rufy
T RO W e | Al S e ol 2 At e
et B B 2 17

5. (a) Suppose investors prefer one year bonds to two ye
bonds and will purchase a two year bond only if thi
expect to receive an additional 4 percent over the ret 1t
from holding one year bonds. Currently one year bong
yield 5 percent, but investors expect the yield to fall {

4 percent next year.
(i) What is the yield on a two-year bond?

(i) Is the yield curve upward sloping, flat o
downward sloping? Show Graphically.



I
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(b) “Yield curve is generally upward sloping, but at
times flat or even downward sloping yield curves
are also observed.” How can you explain this on the

basis of :
(i) Expectations hypothesis
(ii) Segmented Markets Hypothesis

(iii) Preferred Habitat Hypothesis (9)

(=) o S fF fdue v ad @ a9 @ @ af @ | @)
qeel A qEe el ® AR A af @ e A Rad a9 AL
5@ TE ag @ At ¥ W A B HW 4 e e
@ W B @ 3 B | ada ¥ ve ad die 5 wiaed
SR T 2, Afe fawet @ 99ie 2 R aw 9T e
qe TTEK 4 WiawE 8 e |

(i) @ af df= | w1 I B 7

(i) @n 3T aF FIC AN TE, “Fe a1 AN @ G S
aren 2 7 Witk &9 ¥ R@Ew

(@) “Iat a6 SMER W FAQ A & A 8, dfFT S0 -
e a1 el T AR 9 3R e A ot @ @ g
i & JUR W A 3 hY W d6d € |

(i) amenall aReneTr

P10
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(i) w@fvga TR IReEeg=
(iii) wwdter yma™ yReeqar

6. (a) Several variables can be placed in one or more o
following categories: policy instruments, opera
targets, intermediate targets, or final targets. Whig
the following variables can be placed in which of {
categories and why? '

(1) non borrowed reserves
(11) the interest rate

(ii1) the money stock

(b) What are the problems in monetary policy making fa
by monetary authorities?

* (%) Pt A v @ ofew wE W A Reaw R
qhar 7 :

ﬁ%ma‘a,qﬁ‘ammq,wwﬁmmaﬁwml-
¥ T ot ¥ 4 = & W W@ o wwdr 2 9wy ?

(i) R-Iur Red
(i) =™ =

(i) er whe
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(@) ARe R T ARe AR a X w & e w;

AT A gl B 7

(a) ‘In India, crises have mostly manifested in the form of
high levels of NPAs and their impact on the capital
adequacy levels of banks.” Compare and contrast the
two high bank NPA episodes, describing the
macroeconomic and institutional differences and

similarities across both the periods. (9)

(b) ‘The costs of Basel III will outweigh the benefits in
India.” Explain. (6)

(%) ‘o ¥, Gee AR TIRY B I TR AR A D G
e R T IR Y @ ¥ X e g ¥ A I
%ﬁmﬁn.vﬁﬁﬁﬁgﬂmﬁaﬂtw%ﬁqﬂa,ﬁmﬁlﬁ
¥ waftq e 3R weaTe Wawal SR WARCIS i A
Eadl

(@) Fer- 1 G NG A o ¥ e ' s
& |

Write short notes on any two of the following:

(i) Theoretical versus Empirical definition of money

P.T.O.

L=
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(i) Tools to help solve adverse selection problems:l
(111)) Multiple indicator Approach (7.5
frefafas % @ & @ w aftra @ o
(i) w1 &t derfos a9/ Svasg R |

(i) witee wo el & 5 &R d Aee &
Excaull

(iii) =g-gaw gfeantor |
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(2)
frl uter 9wl & s i

aft v F iE guE ¥
HHRY FeFet ® YA H SEfa B

(@)  Explain with examples how technological innovations ha
helped in changing the nature of goods from being * .

excludable’ to ‘excludable’.

(b))  What is the basic philosophy behind the concept .

Biocentrism ? Elaborate.

(¢)  Derive the conditions for efficiency in exchange ar
efficiency in production in the context of garbage disposi
service and a market good. Use suitable diagrams ane

equations. 438

@ IRV Hiea =AE sifsu fF ffg &R

(b) FERCH F Gw H O qo qyE w T
ﬁm@m: ' |



(©

(a)

(b)

(@)

(3) 4281
FS B free T AR o @ ued ¥ fafma
wd SEA HI Rl vl 1 Tefad il
<fra Ferdl e GO gR SAEA SIS
Discuss how rapid growth of agriculture and industry has
contributed to the pollution of surface as well as ground
water in India ? Answer on the basis of ‘State of

Environment Report-India 2009". 8

()  Explain why the Chinese pollution levy can be
thought of as a hybrid policy. (Do not discuss the

performance of the pollution levy.)

(i)  Discuss the experience with water pollution/effluent
charges in countries other than China, namely,
Colombia, central and eastern Europe and Malaysia.

(Base your answer on Di Falco 2012). 25

i T v # A A A e fr e
i & siet del wAE B UA H ygfow fwA
¥ 7 =rEn FIT | State of Environment Report-India
5009 Y ST =EN § TREE it

P.TO.



)

(@)

(b)

(i) A & SEEl HIdtadn, d0g a9 r g

(4)
() e ®IfST ® dF S 9gue o
wefie At @ w9 d oA o
¥ 2 (g e B v % smen
I 1) |

TH AR & W YgUYl b s &1 oA
FHIST | (VEERR € FIehl 2012 & 3
R IW gifSai)

Define Pigouvian fee. How is it determined in
single and multiple polluters ? Explain using sui

P
diagrams and equations.

Consider a city experiences air pollution from emiss E_{_u
of two firms. Total damage from ambient pollution
the city is p?/4 where p is the pollution concentratit
in parts per million (ppm). The marginal savings
emission for each polluter is MS(e) = 10 — 2e,
i = 1, 2. Two units of emission from firm 1 result in o
unit of ambient pollution. Efnissions from firm 2 ha
four times the impact on ambient pollution as those fral

ﬁrml..



(b)

() What are the transfer coefficients for each firm 7

(i) What is the efficient level of emissions for each

firm ?
(i) Find the level of ambient pollution. 134

ﬁgﬁﬂﬂqﬁaﬁqﬁwﬁaﬁﬁm@aﬂrm

m%wmﬁaﬂu@waﬁm%iﬁ
weEo gl H A EH | g 2 ® B gei S
£ o & TeE o ¥ A R e H &
S Yguu et 4 B TR ¥ T T
(p) T AT parts per million (ppm)ﬁmﬂﬁ%luﬁﬂﬁ
ot Y e @ W A MS(e) = 10 - 2¢, )
Wﬁlﬁzwmﬁiﬁﬁmwm
%lwﬁzﬁmmummﬁmﬁm&ﬂw

o R
P.T.O.



(a)

(b)

(i) AT YU ®H W H [ Fo)

Explain and elaborate the following statement in A

et al. “There is a large difference in the appropriate sta

prices for GHG emissions, depending on whether._
ultimate objective is to limit atmospheric CO, concentratig
to 450 or 550 ppm I- targets that are apprnximat'
consistent with keeping the eventual mean projec _'
warming abnve. preindustrial Iévels to 2.7 and 3.7-_

respectively.”

Define prescriptive regulations. Distinguish between
types of prescriptive regulations - technical standards anc
performance standards. What are the advantages ang

disadvantages of prescriptive regulations 2



(@)

(b)

(@)

(b)

(7) 4281
e @ d@ W fre A B F
W@HW“GHG%WW@H@@I@m
ﬁﬁ@mwﬁa@nﬂﬁa%uﬁmm
1 Hade & f& &9 atmospheric CO, 1 HEAT 450 ppm
q'{WSSOppmmﬁﬂTWﬂﬁ%%ﬁHﬁ 450 %
it g QI qd Sienfie T | 2.7 T 550
2 =1tz W 370c SAfusw A STl

Often damage from a public bad to a victim is private
information known only to her. How can this lead to free

riding ? Explain. 7

() How do supply and demand curves for a public
good differ from those for a private good ? Answer

separately for supply and demand curves.

P.T.O.



(a)

)

(a)

)
(i) How is the efficient level of provision of a p '.

good determined ?

¢l T feafa § W wse # Dewed foon @

q9ET #=i e & 2

() T TH HEA(TH O F AR F A g
iﬁfaaﬁwﬁuhmﬂﬂmmﬁm%f
f6 froft axg #1 2 Wi qon 9fF 9w @
S-S I AT B S

(if) mﬁfﬁﬁ?ﬁaqaﬂ@mwmﬁufm
g ?

() Explain ‘tax interaction effect’, ‘Pigouvian effect’
and ‘revenue recycling effect’ associated with an

environmental tax 2

(i) In the presence of income tax how does a polluténr_t;- .
tax generate double dividend and additional dead
weight loss ? Explain with the help of appropriate

diagram(s). 45



(6)

(a)

()

(a)

(9) 4281
Define and derive the efficiency condition for a stock
pollutant such as CO,. How does it differ from that for

a flow pollutant ? - 6

(i) Wmﬂ@mﬂuw,ﬁgﬁm
g e fei fatem W # E 2

(i) s F Suftafd ®§ TR AgEOT HT BN
mfﬁqﬁgﬁmaﬁﬁaﬂmmaﬁ%ﬁ
Ser= A % 2 Sfea Tl @1 HGG § S

Hifora |

wmﬁqﬁzﬂﬂmzm‘tqﬁmﬁﬁmg@
Waﬁﬁaﬁwﬁﬁaﬂﬁqu@ﬂaﬁz
J I @M g 7

Assume an economy Wwith two polluting firms and
two consumers as victims. Total savings for firm 1 is

given by S, = 16e, — 0.5312 and for firm 2 is given

P.T.O.



(5)

(10) 4
by S, = 20e, —_ef where e, for i = 1, 2 is quanti :
emission from the firm. Each of the two consumers ay

a marginal damage MD(fe) = “ze, for i = 1, 2

() Graph the firm level and aggregate level margi_:

savings functions.
&

(i)~ Graph the individual and aggregate marging

damage function.

(i7) Find appropriate per unit Pigovian fee ant
emission of each firm after the implementation

of this fee.

(¢v)  Find the emission of each firm in the absence j.

any fee. 2

Distinguish between weak and strong sustainabilit}f‘
Why in the case of an environmental good like water bod
the scarcity is not reflected in any form of its price ? What

are its implications on sustainability ? o



(a)

(11) . 4281
w@aﬂm@aaﬁwﬁﬁqﬁﬁﬁw
S ot @ wd e & SudE €1 FH 1A
w1 2 & IS B HEN: HA FAd Herd TH TDR
¥ S = 16e, — 0.5¢% S, = 20, — &y €, 1 = 1, 2 I
2 segd F AE %1 UerE STiE F O

afil MDe) = Ve, i = 1,2 T

(i) ot wH o qen @uu HEh g9d 9w
AR |

(i) ﬁwﬁﬂmﬂmwwﬁﬂiﬁaﬁaﬁ
AU |

(iif) Wmmﬁmm@wm

i @ e ® oW W W F

(v) TOE HH B FGUU H STIHRLH WA

Hifo |

P.T.O.
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U AT A9gd gEATATS § sfax ;_.::
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(29 4909-A
What is production possibility curve ? Explain the concept
of scarcity, choice and opportunity cost with the help of this

curve and show the effect of technological improvement using
this curve. A
Qe WA 9% FN €2 TW 9w w1 weEw ¥
difgqar, gA@ TE SEE AT AU
e FARAT q9r 39 o 1 A F T RERIED
fqera & WA FH SWEA|

What do you mean by supply ? What factors determine supply
of a commodity ? How does increase in supply affect the
market equilibrium ? Explain diagrammatically. 15
tgﬁi@mwm%?@aﬁﬁqﬁﬁ
Pt e HF-ER @ 2 9ff # qfg S HgeE
£ &Y yufaa ww €2 J@fe w1 geEa | e
FHifSA |

(A) What is elasticity of demand ? Distinguish between

income and cross elasticity of demand.



(3) 4909-A
(B) How will you measure elasticity at any point on a
straight line demand curve ? Show that on straight line
demand curve, price elasticity of demand range between
zero to infinity. 9,6
(31) m w1 A= oF ¥ WM oW e W@ faEt
= # faug =i
(@) wH W@t W Y # fed we fag woem
M F @™ hA W9d €2 TH W "o
W AT & HIEd " YA T AW % W™
# ot T—suiEd|
Explain consumer’s equilibrium through cardinal utility approach
both in case of when a consumer consumes single commodity
and multiple commodity. 15
HemErs STAfT fagia & g STHET §qed S
7 S staRensli # W SudET UE o w1 S9N
Al & a9l W UH W AR aA w1 ST R
Tl

P.T.O.



A)

B)

(31)

()

(A)

(B)

(4) 4909-A
Explain the concept of retumns to scale. What are the

reasons for getting decreasing returns (o scale ?

Explain the law of variable proportion. 8,7

ﬁqﬁa‘#uﬁtﬁaﬁmmﬁwﬁmr
= e ® WE B @ FA-HFY B
€27

fafay euml @ fraw W@ el HIfAT |

Explain and draw long run average cost curve. Why
is it called envelop curve ?

Calculate Total Fixed Cost (TFC), Average Variable Cost
(AVC), Average Fixed Cost (AFC), Average Cost (AC)
and Marginal Cost (MC) from information in the table

below :

Output 0 1 2 3 4 5 6

Total 120 | 150 | 170 | 185| 200 | 220 | 260
Cost (TC) 78
(31) ﬁﬁﬁHEW1Eﬁﬂﬁ'ﬂﬁﬁ'ﬁ%’ﬁﬂ'ﬁﬁ“ﬁiuﬁ U

R Taa fowre 9% & weEl Sl L B



(5) 4909-A
(9) = 9l & YR W /o &t @ (TFO),
sirga witadeiter @ (ave), s it @rm
(AFC), 3&d @ (AC) UWd HH<i @d (MC)

&I AT HIfS |

IcUIY 0 I 2 3 4 5 6

A @ATA[120] 150 | 170 | 185 | 200 | 220 | 260

Explain short run as well as long run equilibrium of a firm
in perfect competition. Why all firms in this market earn only

normal profit in the long run ? Explain using diagram. 15

T O it w @ steumei wd didwret Jqe
] A HISA | 39 9N e § gt wF e
H dad WH AN @ b wue €2 Yenfad &
qEFd 9 quie &l |

Write short notes on any mwo of the following : 7.5, 7.5
(A) Properties of indifference curve

(B) Economies and diseconomies of scale

(C)  Price ceiling and price floor

(D)  Deadweight loss.
PT.O.
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4957 A 2

1. (a) What is social cost of monopoly? Explain w
appropriate diagram.

(b) Explain the price and output determination o
monopolist in the long run. Can a monopolist ei
supernormal profit in the long run? Give reason.

(3r) mﬁmmw%?wgﬁhmﬁa%'
Ui HIIY |

(@) vt @ A e mn S B @ o i
T | T T QT N @ oW AT qaddl §
T ATy |

2. What are the features of monopolistic competition markel!
Analyse the short run and long run equilibrium of a firm i
this market. (1

veIftEReE wfakh e &t fagad se-aq @ ? ? 39 9w
¥ G FT FTFNT Ta Sl Ao 1 AT Y |

3. Explain the major difficulties face by new entrants |
oligopoly market? Differentiate between collusive and nome
collusive behavior of oligopoly firms. Highlight the pr |
leadership model of oligopoly. (18

IR R ¥ 7Y A S FH-F A AR H aW

FHE 9T 8 7 ACAReRd WAl @ weanil yad K- gsantt e
H FR A | FENAGR & R Aged S G T



I5TA 3

e

What are the major sources of market failure? How does
the asymmetric information lead to the market failure?

Analyse with suitable examples. (15)

TR fwed @ A wd A-we ¥ 27 I T f
TR AR AEAET S AR & W 8 Juged JeE A AR
cadl

(a) How does market adjust to the changes in demand?

(b) What are the major approaches of internalising

externalities? (7,8)
(31) st ¥ TRadT &) GOR 9 YER ¥ wHEw FRA 8 7
(@) T @ Rm A qE Gy w-we @2 ?
(a) Analyse the theory of comparative cost advantage in

the context of international trade using appropriate

examples.

(b) What arguments you would provide in favour of
protectionism? Are these arguments still valid in the era
of globalization? (9,6)

(a)mmmmwﬁaﬁﬁw
AN AN @ e @ awe S |

P.T.Q.
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7.

(@) WReER D U K HT F qH A P F Y 6 S
& g ¥ f 3 27

(a) What do you understand by economic rent? C
economic rent be equal to total earning or equal to zer
Explain with diagram.

(b) Why the supply curve of labour is backward bendit
9

(37) e TAIR & ST < EER B 7 o AR T o
a1 T D G B e 2 7

(@) s @ g am WS W SR AR g FA e @ 7

Write short notes on any two of the following : (7.5, 7
(a) Kinked demand curve

(b) Nash equilibrium

(c¢) Price discrimination

(d) Excess capacity in monopolistic competition
frafofae ¥ ¥ fFd & w dferm Rooft w@ifom
(o) Rl T =

(@) @ wGe

(W) @b qge

(3) venftenRes WoAfET & <l e sniere
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(2) 4979+

(A) What is natural monopoly ? Explain with a diagram f;.
give 5uit1able example.
(B) Explain long run price and output decision n.
monopoly firm.
(aq)m#ﬁ THIFER F= & 7 %@ﬁ%r:r q =&
Fifod qa STgEd STl aﬁan |
(@) T TR wH A A T SR
fifor #1 wwen Fifw

(A) Explain diagrammatically long run equilibrium of a fir

earn only normal profit in the long run ?
(B) Using appropriate diagram explain excess capacity i
monopolistic competition. :
(1) wfer St § & e
Sfw # |t BH haw GEE AW g @
o HA § 2

(&) STgE v w gerd § THieRid Hff
i ema onfeEd &1 ST Wi



(A)

®)

(1)

()

(A)

B)

(1)

()

(3) 4979-A
What are the basic differences between oligopoly and
other forms of market ? Explain the Cournot Model of

non-collusive oligopoly.

Explain Prisoners’ dilemma with the help of an
illustration. 9.6
SR TE SR % 3T el H STHRYd
s o 52 IoweAn SeduER B HiSd
F A &I

T S I e @ St gfaw w1 aviH
Eaisel

Explain the process of market adjustment when demand
for commodity X increases and demand for commodity

Y decreases.

What are the main characteristics of public goods ?

Give examples. 87
qR GEEd § uhEd R U FISE I
X g% 1 WM GG Sl € q€ y 9% &I HM
F7 @ Wi e

e aE w ge R 7 S
Sifsia |

P.T.O.



(4) 4979-/
Explain the main source of market failure ? Elaborate the taxes
subsidies and pollution permits approaches of internalizing

externalities. . S
IER fawaa & qea wRE B AR @ !
TR & W F T e Ty
e #t foarumel &1 Scafaad wifsu) F
What is economic rent ? Calculate the economic rent when
(i) elasticity of supply is zero, (ii) elasticity of supply is more
than one, and (iii) elasticity of supply is infinity. Use suitable
diagram. '
afdss @ = 2 aﬁﬁﬁ-waﬁm Qa
S& () 9fd ® @@= IH, @) I F: oA

¥ s qa i 9fd #1 W oeE| @ SugE
@fadl &1 gAm s |

Explain the theory of comparative cost advantage of

international trade. What are the main methods of protection
in trade ? : 15

FREE AR & gerrds ard fagia w1 el
FIA | AUR F W & T aid FhQ 82



(5) 4979-A

8. Write short notes on any fwo of the following : 7575
(A) Anti-Trust Law
(B) Contestable market
(C) Free Trade
(D) Deadweight loss in monopoly.

freafafes & @ fadl @ W Gfyw feogoft
fafen
' (31) wifavare fram

(7)) gfaurit seR

(9) T =NR
() uEmfysrR H sifaur =f

4979-A

5 4,500
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(2)

(@) Define the meaning of research and discuss the type

of research in detail.

(b)) What is the difference between a sample and
‘pupulatiun ? Explain with the help of "suitaﬁ
example. | 5 _ | 10,

(31) vu & aid = wRefa s q= =5:'
My B yER & fadem il |

(%) T Wiy qu T @ A I S §2 W
# wea ® wyg fagewo HifEg

(;b) Briefly describe the different steps involved in a re ~:':-
process. | 1

(b) What ‘is the procedure for the review of
literature ?

(31) wF Wm whew § ffea fafe we
ity e &g

() wMu-wfeca # wean & fag @@
fafr 7



(a)

()

(3) 3 4750

Explain the role of stakeholders in a research activity.

What are the essential characteristics of a good

questionnaire ? 6,9

(a)ﬁ?ﬂum—wﬁ%@maﬂsﬁaﬂaﬁ

(=)

(@)

)

(31)

()

(a)

fagamor wISTI

wF e uvAEet & onavas  fasteard
;g ?

Enumerate the different methods of collecting data giving
one example each.

What are the important steps of data preparation
process ? Explain- in detail. 10,5
v @ fou TH I X gY Siwel wIE
F1 fafw= faftrli &t =aren il

st Yo wEm @ e weH N §?
R | e &Il o

“Ethics in research is the need of the hour” Justify

the statement. ’
PT.O.



(b

(1)

(@) < wifemE v T AR TeE

(@)

®)

(1)

(=)

(a)

(4) 47!
Statistical analysis and modeling plays a vital role'
research. Justify.
‘e § Aifaeres 99g #1 smavasa §1”
& =rEfaa SRy

et furm &1 wenfia i@

What is research problem? Define the main issues whig
should receive the attention of the researcher i

formulating the research problem. Give suitable example

Explain how qualitative research differs from quantitatiy

research. 10,

Y S # ¥2 geT e w1 yRifia @
ﬁiﬁ?ﬁummﬁmamfﬁlm

S et A

What is the sampling? Explain various types

sampling.



4750

(5) 4750
(b)) How is the research report preparéd for any

research ? Explain. 8,7

(31) wfqems =0 2 gframm & fafim v =1
fayerur Fifsu

(9) fodt My & fau wmy foaro &8 TR fF
Srar ®? fadEm wifsd |

Write short notes on any fwo : 1575
(@) Observation and Interview methods of data collection
(6) Quota sarﬁpling and Snowball sampling

(¢)  Writing a Bibliography

(d) Research Design

(31) gl TIE Hi EcHd a1 weTER fafy
() ®E1 gfagd qo EEta g

(9) Tag=i ucfifew aed

(3) ¥ YRy

5 1,500
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(2)

Write short notes on any fwo :

(@) Impact of change in input prices on aggregate supply

curve.

() Impact of domestic price level on net exports a

domestic economy.

(c) Planned Investment and its determinants.

(d)  Frictional unemployment and structural unemployment.

frdt St W g feoon fafew -

(ay mvaﬁuﬁﬁqﬁaﬁﬂwm'tgﬁiw
YU |

(b) ﬂiqaﬁqﬂwmmﬁﬂﬁiaﬁtaﬁaz
™ gYE

(o frfsa faw @ g fFuie

(@) FEUIHE USSR FTEARTE SIS |

Derive IS and LM curves. Show the determination of

equilibrium income and interest rate in IS-LM model. 15
IS 7 LM T F1 freww wifie is-um Ated #

Hgfa oma @ =S X % fERe w1 qwisAl



————————
T,

(3) 4922-A

Define inflation. What are the causes of inflation 7 15

R @ g Fifora | HETERIfq & B
€2

Discuss in detail the current and capital accounts components
of balance of payments. 15
g dqew B W o o e & weH H
foega o wINT

Derive long n;n aggregate supply curve. Explain the adjustment

process when the economy is above potential GDP in the

short run. 510
Wwﬁﬁﬁwmiw
seforaRen WP GDp WX A TR R et ®
& gEHESE 9w H AR

Explain the short run Phillips curve. Derive the long run Phillips

curve. 15

STeqFTe fHfas s @i e Fifon | crERE



7.

8.

' ﬂexible exchange rate system. 15 .'

'qﬁaﬂwﬁaﬁﬁmmmﬁﬁﬁmwﬁmﬁﬁw__

(4) 4922-A
Derive the demand and supply curves of foreign exchangt}a

Explain the determination of equilibrium exchange rate in
facet fafrm & @ @ yfd 9 fasfoa I |

T & faulor 1 =wen #ifm

Show labour market equilibriuni in the classical model. Also

derive the aggregate supply curve in the classical mudel.IO,Sf_r
yfaftsd fagia d sm ook Sqom 1 iz wfifted
fagia 4 v 9fd aw frefm i
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fruuft ;58 FEA-TA A SW st o fet frdt @ W
ﬁﬁm;%ﬁﬁﬂ%ﬁwﬁwwwﬁm
=fea |
There are eight questions in all.
Attempt any five questions.
Each question carries 15 marks.
=g yeITA # wo fAersl S €
fr=dt uter ww @ W <R
% UH @ 15 S €

i

PTO.
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Write short notes on any two : l (7.5,7.5)
(@ Long run Aggregate Supply Curve

(b) Open Economy Multiplier

(¢) Crowding Out Effect

(d) Natural Rate of Unemployment.

frafafem & @ fafi @ w @y fewud
fafen

(%) e wa oMyfd =@

(@) et sdore # T

(M) FRRET e yum

(@) R W wERE

Derive the IS curve. Explain the cause of shift in the IS

curve, 15

1S % & frefia sifsu s g 4 fagsa &0
FRU FATEY | /

b

ol



(e (7 4935A

Vhat is the impact on equilibrium level of aggregate
sutput (income) and the interest rate in each of the following

cases 15
()  Government increases nominal money supply

(i)  Government decreases net taxes

(iiP) Government Increases its own expenditure. 15
freffetfaa s feafi # He IR (1) S |
w-awmamwuwm:

¢ W@ER §E F S Tt ®

G TER S i 1 T o ¥

(i) Wmm%mﬁaﬁ\ﬁ%l
Explain determination of equilibrium GDP and Price level in

the short run. Show the impact of aggregate demand shock
on equilibrium GDP and Price level in the context of short
run aggregate supply curve ? 15
wmﬁﬁmmﬂqw (Sirghdt) a
qeg wR w fei wIEE S et awm S
o ® ded W wE@ Hi SAE wafera strerdt
o e W W WA feamu |

P.T.0.



aggregate supply curve vertical ?

guifaa St *t srayron @ e wifsa|
wA oMY T AR w e ¥ 2

I gHAEY |

7. Elucidate various theoretical explanations for the existenty

unemployment.

et & sifca & g # fafu=r Iguifaer =
# WL HifA|
8. Explain the factors that affect exchange rate ':' |

economy.
sdeaen # fafrg v = guifaa &0 o
H TS |

4935A 4
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1. (a) Explain the limit order and market order.

(b) Write a note on NSE.

(a)

(®)

2. (a)

(b)

(©)

2

e smw ik A SR T 10

NSEWIMWI

Or (F19ar)
Explain the functioning of stock exchanges In- :
India.

mﬂmm%maﬁm@m 10

How does brbkerage affect the buying and selling.
of stocks?

wis & Hu-fama garel ¥ S vwfaa a2

What is online trading of securities? Explain in
brief. ¢
wfaspfeal & s SR w82 wiw 4
ST | 3
Which exchange is there in India to trade in
commodities? Write a note on that exchange. |

wRa A Teqall ¥ R & f w22
3 UFES W oot fafay ) 1"-
What is P/E ratio and how is it calculated?
P/E U@ 41 grar 8 ok 3 uftesfera
St & 2

Or (Hg4rn)



3

8256

The returns (%) on securities X and Y under different
situations are given below:

fufirsr Rfefrl & X @ Y Wil ® Al (%)

frafafaa e
Condition of | Probability of |  Possible Returns
the market Return X Y
Bull -3 16 30
Normal 4 12 14
Bear -3 8 6

Find return and risk associated with both the
securities. Which security should an investor choose

and why?

i wRRE ¥ W AR T Sshfew fread |
fRws & o ¥ # @ wfagfy gt =l el

4t ?

15

3. (a) Explain and illustrate how Capital Structure and
Quality of Management can be used to analyze
fundamentals of a company and enable an investor

to take investment decisions.

Fegor @ GHERT R & St wTEAT q9r e
i Toreren et wvh % eawl @ faveuor
i wems € ok faws @ faw fofg @ o
e Tl 21

(b) What is Sensitivity Index?

10

P T. Q)
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GaeTierar Y ¥ ¢ ?
Or (F19N) |
(a) Write a note on CRISIL Mutual Fund Ranking
and its usage.
CRISIL WE¥@ &8 Aviaw aitt sad wam
feoft fafeq:
(b) Calculate EPS and PE Ratio for the year ending
283 17 i
~ |Net Profit After paying Taxes ~ Rs. 15,00,000 I '
" |Number of Equity Shares | 5,00,000{
Current Market Price : |

PE ar(ara 3kt EPS 3% wvmn war @f 2017 & :
T Y ¥ e P @ aﬂs,gg,onﬁ
wwan 3TN W Hen 5,[}0,_I,

4. (a) What are simple moving averages? Discuss their
importance in stock selection process. Which are
. the popular moving averages used in stuc_

market? |
mmmmwﬁ?mwm -"
WWW%?WWﬁWﬁH e
T BT A T2



5 has
(b) Explain the following with reference to technical
analysis of a stock:

(i) Double Top Formation

(i) Inverted Head and Shoulder Formation.
s & aedE ¥ werg ¥ @
(i) Double Top Formation

(ii) Inverted Head and Shoulder Formation. 6

- Or (HFa)
(a) What is a Mutual Fund? Discuss the factors
affecting choice of 2 mutual fund.

uﬁwﬁw%?uﬁmtﬁgmwaﬂﬁﬁ

ST FH T T € 2 9
(b) Write notes on any iwo of the following:

(i) Load and No Load Mutual funds

(ii) Equity and Debt mutual Funds

(iii) NAV.

et @ el Qoo fef;

() i ae araifa wEatel W

(i) @wan aUr B A HE

(i) NAV. 6

5. How does a call option contract differ from put option
contract? Explain with the help of an example.

P. T. QO



fr=1 @ 8 2 W s
Or (J1gan)
(2) What are currency derivatives?
war sfafa aar Y €2
(b) Calculate NAV using following data
01-01-2017:
Long_'lérm Bonds 10,00,( |
- |Equity Shares 12,00,000
Treasury Bills and Cash 3,00,00(
Fund Management Expenses 1,00,000]

Number of units outstanding 60,000]

o

dutafy sivg 10,00,000
A W 12,00,000
Il fael wd Aae 3,00, u%
8 WU o1y 1,00,000{

qERAT THRAT H @& _ 60,0‘0&?
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Instructions:

Attempt five questions in qll:

fﬁn——eﬁtﬁam% ST *ﬁzr]f

Each question curries f..;. s ._fm'. '

TeF e IsmFr & |

Q1. On the eu. of mdepenc*cncc the status of Indian economy was poor, stuznant and

backward. Discuss.

%aawa?rqémmw m;ﬁwsm&mavm &1 FRufy mee, R ok Ao o) =%
|

Q2. Critically ‘examine the-'role of buffer stock and public distribution svstem in
providing food security in India,

HRE H W AT T He 7 W HER (@9 wei) AR aeeie faor
SOTTCHT 3BT 1T 3T ST TH ORYETOT &Y |



Q3. Discuss the critical pollcy issues that arc essential for modernmng Indian agriculture.

muaﬁaamﬁﬁmwé;%uawwm{ﬁﬁﬁmﬁﬂ?mwam

Q4. Discuss if the FDI in retail is to the advantage or diséﬁ\-'aniage of the Indian
nationals. What can be the governraent interventions in this 1*“‘a.r.1

At &% o gaw &1F & et fedel frder (ow gt ang) Wmﬁ'ﬁ#mm
FHEA & AT | gﬁﬂwﬁwacmﬂv&mg‘rwﬁw

QS. Discussing the problems faced by the Small Scale industrieféffSSTsf}- in India, analyse
t'm. government policy and programmes aimed at their Pr’mmlhm

Wﬁmmﬁ(wwm)#mmmmﬁwaﬁMd gtr RGN
W#ﬁ%uﬁmﬁﬁﬁﬁmﬁﬁmmﬁawml

Q6. Discuss the causes responsible for low level of agricuf-tu’ra' -'praductivizy in India.
Explain the various measures adopted by the government. mr mmm' agricultural

productivity in India.

HRE # S8 Icaeshal & foee FX & fov ﬁ?ﬂaﬁ?mwﬁ F | HR A FY
Wrﬁﬁﬁvwmﬁﬂ“mmﬁ ‘”'Ca'ﬁ‘

Q7. Why have been the results of development planning been gi:'rlérxxll')-_f.h'ﬁupg:miming"f
Discuss the institutional and cultural prccondiiioné that am e_'s.semi:rl for.a well
functioning market system: S ,
mﬁmﬁmmmwﬁawmm‘av mwﬁmm
JUTTET & %mmwmmmqéﬁmwﬁaﬁt
Q8. Write short notes on any two of the following: |

et & | &5 %?#G?Tﬁ_j ool fewe:




'-1';_,I".'
b. Prn‘cl«lgsm'_ﬂ't-f Social: Exuhmonm India

c. Indian géﬁémm;:lht’;’s‘_sti‘é.i:éa'g:y for irrigation

Rfamé 3 T sver T 5 iy

d. Reasons for poor pUIFfOI:I:"'II_I.é-ﬁll'lCE of land reforms in India

HRE H A GURT & mﬁaaméﬁ-m
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same medium should be used throughout the paper.
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1. (a) Explain the importance of avoiding double counting in 3
the estimation of domestic product. Describe with an

example. )

(b) Explain the difference between nominal National Income¢

and real National Income. (6)
/

P
(31) t&qm%wﬁmﬂmaﬁm%w?
e w1 e @ Ay e W

(@) mﬁﬁu@qmwﬁﬁmﬂ@am%m
e W | |
1
2. (a) Explain the concepts of APC and APS, MPC and MPﬂ._

What' factors determine the marginal propensity o

consume? (10)

(b) Given the following consumption function C=100+0.6Y.
Derive the corresponding saving function and compulé
the value of saving when Y=800. Q!)

(3r) APC 7@ APS, MPC 7@ MPS & aamunaﬁtmmu%n
g ST waR B fufe T@ W@ 2l

(@) Imim wew C=100+0.6Y far 2| wafua
mﬂ‘wﬁtﬁmaﬁwm@wmmY%{}m
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(a) Define Marginal Efficiency of Capital (MEC) and how it

affects the investment decisions? (8)

(b) Explain the determination of equilibrium level of income

in an open economy with a suitable diagram. (7)

(3r) it Nt e s @t ofnfiw WX T @' FRw P
@ A wfR & ®

(1) Shm oW & 9 TE Get feaE ¥ @ & qgad
wW & Rufor &t = SRR

(a) Suppose you have the following information about a

closed economy: - (10)

C =50+ 0.80 (Y-T)
I =200
G = 100

(i) Find out the equilibrium level of income.

(ii) Suppose G increases to 125 what is the new

equilibrium level of income?

(iii) What level of G is needed to achieve a target

income of 2007

0.
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4799 4
(b) What is net export function? 5)

(3) w%wﬁamﬁww%aﬁiﬁﬂmawaﬁ
“ %: )

C =50+ 080 (Y-T)

[ = 200
G = 100
(i) m%@#wmaﬁ'l *

(i) v & G 125 @& dea1 & A 3mE W FA ager W
= B |
(iii) 200?@%@%%&%@6%%“
& ImawEEa B |
(") gﬂﬁaﬁww%?

l
5. (a) What is the relationship between marginal propensity i

consume and value of simple multiplier? (5)

(b) Explain the process of credit creation in multiple bankin
system. (10]

(a)mwmwmw%@%ﬁﬂﬂ
T 2 7
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() =g AT ween ¥ g o B wfew @ i @

What do you mean by liquidity preference? Explain the
Keynesian theory of demand for money. (15)

T AT & T W € 7 qEr @ A B et g w5
QT T |
(a) What is open market operation and how monetary
authority uses it to regulate money supply? (9)
(b) What is Balanced Budget Multiplier? (6)
(57) @em AR wfshar @ 8 qr AR wfRw s wmoofd
& O A W ST N B

(%) wgfem avie o w@ 7 ?

Write short notes on any three : (5.5:5)
(a) Objectives of Monetry policy

(b) GDP Deflator

(¢) Autonomous Expenditure

(d) Components of BoP

2il.0;



4799 6
st e W afere feoht ford
(37) A Gf & St
(¥) GDP W™
(w) w@mad = a

(2) BoP & 3@dd
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Instructions to the candidates

1. All questions carry equal marks (15 marks each)

2. Attempt any five questions

3. Note: Answers may be written either in English or in Hindi but the same medium of instruction
should be used throughout the paper.

ol & o @der
1L9AF 9 & 3HF FHA ¢ (15 3 )
2.fRw8r g weAT & Iax &)

33 fEEr a1 S # Rl & o Areaw S R mea Wed X 9AIT &
eR1A T & Aread g @Ry
Q. 1 What was the impact of commercialization of agriculture on agrarian classes in Colonial India?

Do you agree that the structure of agrarian relations that evolved during colonial rule was the
reason for stagnation of Indian agriculture?

mmﬁﬁaﬁwﬁtaﬂa@nﬁmwmmaﬁﬁmwaﬁ
#m%%ﬁhﬁéﬁaam%%%ﬁaﬁmaﬁmw?ﬁ@r
fBRar & sror an

Q 2 Discuss the occupational structure in Colonial India. What were the reasons for the virtually
unchanged employment structure? Give reasons for your answer,

mw#mmwwﬁ|mmmm$
T FROT W HIS 3R & ga7 F 7% 5

Q. 3 Discuss the growth of a modern labour force in the cotton and steel industry of Colonial
India.What role did kinship, caste and rural links play in the formation of the labour force?

1



RIS HRA & FIH T4 ST AT F T YR 4T a7 H @R o T
ﬁlmaﬁaﬁwﬁmﬁ,aﬁmmmwa{\mﬁm%

Q. 4 Discuss the major shifts in the composition of trade with respect to exports during the
period1814-1947. What were the underlying reasuns behind these shifts?

131-4-1947mmm*mﬁmﬁmﬁmmﬁmﬁw
| 37 IRada F T Fa1 AT FROT v

Q.5 1921 is marked as the year of the great divide in the demographic history of India. Do you agree

that it represented a great divide? If yes, why? If not, why not? Give reasons in support of your
answer.

Ty 1921 & FRE & FAAIRAPT R # 7o RAS & o & &7 F ARAT
mawmm%%aﬁaﬁmwmwmm#aﬁaw
FNR IR =87, 3 T3 AR NTF W F gFdT F IF F

Q. 6 The beginning of Indian railways was the beginning of modern India but in the long run the

guarantee system contributed substantially to the drain of funds from the sub-continent. Critically
evaluate this argument.

Wm%agmmgﬁmwﬁagmzﬁ,mﬁmﬁm&mﬁ%
SUFEEE F 55 F1 R F 1 derere R g@ @6 @ aiivar ¥ Heaie wy)

Q. 7 Famine refief was limited to the bare minimum ‘absolutely necessary’ for survival and the

stickiest tests wers 2pplied. Famine policy was constrained not by the lack of infrastructure, but by
the notions of what the country can bear. Discuss.

HFE T3 === ﬂrﬁﬂ'wmmﬁmmﬁmwwm

Qﬂwmmmmmsﬁ%mgﬁmmm%waﬁmwa}#
Heel X FFal & = 9o ¥ 9T a7 Tt S

Q8 Economic decline in Nineteenth century India was intimately connected to colonialism and state

policies which discriminated against the well-being of the Indian Economy. Analyse this statement
critically.

Waﬁﬁmﬁsﬁﬁmﬁm&mmmﬁ%ﬁ#ﬁmﬂgﬁ
ﬁra&m@umkwtwﬁmﬁmmwma-igmé
faeayor FY)



[This question paper contains 4 printed pages.]

Your Roll NoO.ciierssaeeeas

Sr. No. of Question Paper : 4891 HC

Unique Paper Code 62277603

Name of the Paper . Economics : Development & Policy
in India — II

wrRE N e faere w@ A - 11

Name of the Course : B.A. (Prog) Economics — CBCS -
DSE

Semester vl

Duration : 3 hours Maximum Marks : 75

g ;3 "0 quiter : 75

Instructions for Candidates

1.

Write your Roll No. on the top immediately on receipt of
this question paper.

2. Attempt five questions in all.

3. Each question carries 15 marks.

4. Answers may be written either in English or Hindi; but the
same medium should be used throughout the paper.

oEl @ fow FEw

L - @ e @ e Re g FulfRe wie WA S
ferfeay |

2. fardl dier wel & IeR ARA |

3 w15 HE w2 |

4. aﬁm—wmrmaﬁlﬁ’rm%ﬁiﬁaﬁtwwﬁw,ﬁ%ﬁw

I T WEAH U Bl BT 18 | S 1o



4891 2

L

What do you understand by food security? Critically examine

the food management system in India.

WG Y& ¥ T T T B 7 R A Wgd YEuT Jorelt &
AR qAT Y | '

Discuss, in detail, the three pillars that are essential for
modernizing Indian agriculture. What are the policies
required by the government to strengthen them?

W H & smyffeitar & fog smawes @9 @ W Rwr @
T W | IR WA A D ol WER FR smavas A w@m
g7

Analyzing the reasons for low agricultural productivity in

India, discuss the measures required to improve it.

RS ¥ & Ff IqEawd & HRON o e S ge, 3 guA
& fog smavas Sl w o=l @

Explain the trends of industrial development in India since
independence. What have been the important features of

Indian industrial policy over the years?

AOMEl & 9 ¥ ¥R ¥ A e = @ & 993 | 96
¥ R St A @ et Rdwa) @ @ 7
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5. Discuss the problems of small scale industries in India.
Critically analyse the Indian government’s policy for the

small scale industrial sector.

WRE A oY IO @ e W owe ay ) o e W
m%%ﬁmwwaﬁ%mmm
& |

6. What have been the main features of India’s Foreign Trade
Policy (FTP) from early 2000s to the present? What shﬂu]d
be the features of the new FTP, aimed at improving the

‘ease of doing business’ in India?

2000 % TWH B IEAR B ¥ T q9 wwg 7 fRwr 2N
Ay (v & R) N e PR @ & 7 wwg A ‘e A D
FREA’ ¥ GUR T R I A A vH A G A 7 P O
ey ?

7. Analyse the trends of Foreign Direct Investment (FD4) i
India. Also discuss the FDI policy and its importance "
India.

R ¥ T R PR (vwdtens) @ e @ Ry a1 o
A TRt Ay 3R THd wEew @) N w=f wY

P.rr'O.
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8. Write short notes on any two of the following :
fmr & @ forelt off @ T o Roit ford
(a) Trade policy reforms in India after 1991
1991 & @€ WRd A AMR Afd gur
(b) Indian government’s strategy for irrigation
e & fov wra waER @ AR

(c) Reasons for poor performance of land reforms in India

HRd A 4 qull & @UF YeuH & @R

(d) Labour regulation in India

d W s Ao

(3300)
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3 TRAGE TR 15 AF B

4. T UIH-UF & 3K e ar B A v v ¥ e, sifF ol
I HT WEAH U B BT AIRY |

1. Examine the performance of agricultural sector in India since
independence. What policy changes are needed to achieve
higher growth in agriculture?

AR B 9E A WA X P 4F B yeEH @t " ) F
¥ I e &) " = & forw @ Ay aRads &6 srasasa
2 ? '

2. Explain different measures of land reforms undertaken by
the government in India. Examine the impact of land reforms

in India.

e @R W e e af guR & R ST sa | sRa
¥ ouft gUR & yWE A A W

3. What are the causes of low agricultural productivity in India?
Give suggestions for increasing the Indian agricultural

productivity.
mﬁﬁﬁﬁm%mw%?wﬁuﬁm
T & fou g @
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Discuss the efficient working (role) of the India’s agricultural
price policy. Briefly explain new challenges faced by

agricultural price policy in India.

WRE it FA ed A ® wua v (i) | o=t ) YRa
ﬁﬁw%%ﬂmﬁmmﬁrﬂigﬂ‘rﬁrﬂwaﬁqﬁw
X | f

Give an overview of trends and patterns of industrial growth
in India since 1990. What are the challenges arising from

government policies in India?

1990 & 9 ¥ WRA ¥ IfE Rem & w3k w@ey @
HAAD < | R A T Al ¥ I A A g F=m
7

Analyse the trends in Foreign Direct Investment (FDI) inflows
in India. What is the role of government policy in attracting
EDI inflows for development?

WA A Ry PR (vw@end) waw ¥ wwm @ fwdw
w | wm @ forg vwdiend war ) srefda wer ¥ ward
@t i T @ 7

What are the reasons of growing trade imbalances in India?
What strategic steps can be taken to correct them?

3 W0
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Wﬁa@%wm@#%mw%?ﬁ@@%ﬁj
w1 ARE wed IJW o GEHS B 7

8 Write short notes on any two of the following:
ﬁﬁ‘ﬁf'ﬁﬁ%ﬁ?ﬂ'ﬂﬁgﬁmﬂﬁlﬁ:
(a) Government of India’s irrigation strategy
R aR @ g A
(b) Privatization — The Indian experience
folteor - wRaE  AFNE

(¢) India’s foreign trade policy in recent years

e & 9ol A WRa & fRw =R Afd

(d) Challenges faced by apparel and leather sector in Indi

ad X U ok R D A% A I A g

(160



This question paper contains S printed pages.

Your Roll. NOo. .iiuasisimniinnimnis
SL No. of Ques. Paper : 9548 . HC
Unique Paper Code  : 62413635
Name of Paper t Personal Selling and
Salesmanship
Name of Course : B.A. (Prog.) : SEC
Semester 1 VI
Duration t 3 hours
Maximum Marks 1 75
(Write your Roll No. on the top immediately
on peceipt of this question papez)
(¢ wErow & Prrt @ W AR T At

T T WY Sme fafeg ()

Notg:— Answers may be written either in English or in
Hindi; but the same medium should be used
throughout the paper.
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Attempt all five questions.
All questions carry equal marks.

vt o ww & I AT
Tt wvit % siw qaT ¥

1. (a) Explain in detail the AIDAS model of selling.

P.T.O.
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frsa % AIDAS wiga & faw & e
ST |

(b) “Advertising and personal  selling  are  two
effective means of motivating prospéctive buyers
but their approach is different.” Explain this
statement highlighting the different features of
advertising and personal selling.

“fygre T Aufes fawa, wiEl GERl (hared)
2 PORT =0 % A AWEl W § U
surm fiet 30 3w %9d &, fagd o date
frrg 9t fafa=r fadwael W YEW SE@ TG
STEHT HiNT | i

Or (3%
What do you understand by psychological closes? Is
ssychological close ethical? Provide the appropriaie
ciccumstances when such closing method can be used.

mdwfE quNT ¥ WM GHEd T2 WA
mvdhes @ A 27 U swgw et
qarsn s QEt weA fafy @ st fwE S Esd
A B ar ‘ 15

_ Discuss in detail the types of objections and strategies
for handling objections. Also support your explanation
by giving suitable examples.
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fafor= yaR & PRYY (mafy sk B & W a
Wit # fm ¥ e W) s e w@)

3fa I T qE ot FHIT 15
Or (9=
(a) Explain the different theories that influence

)

buying behaviour.

Y TGN A ARG O At Rl el =%
e ;i) 7
Write notes on: i

() Consultative selling

(ii) Value added selling.

frafafes w dfya ol fafeae

(i) WHus ey

- (i) &9 Wafda feeg 8

3. (a)

(®)

(©)

Briefly explain the personal selling process.
qaftws fasa whear # W8T ¥ FRwEy | 5
What do you mean by Principle of Contingency? _
AT % R § AW R 42 s

What are the basic steps in planning sales

presentation?

fosra seels Qo & @ T R A2 5
 Or (3199)

P:T. O



9548 s

In the wake of fraditional and modern selling appro-
aches, discuss the utility of both the selling  cchaiques
in detail Also bring out the differences among them
by citing relevant examples.

srgfes T wowrd fae Sunml & e A QA
fosha aaftsl &t I @ feeeen sifsie ) |ord
SR g 3 =R W qaEEy | 15

4. “If a product is good, it would automatically create its
place in the market.” Explain this statement
highlighting the role of personal selling in the
customers driven society.

“qfy U IATE FD 8, A GG AT W T9R H &

# &1 AN T FHUT TN, TN wEfad qAs 4

dufern faga W 9fie H IIR A §Y AT

FHT | 15
Or (3149d)

What do you mean by hidden objections? Differentiate
between satisfaction objection and thinking objections.
Also illustrate through examples how you would deal
with such objections.

aiqmmﬁlﬁfﬁamwﬁm%?mmwﬁ{@
duifs amufy o SR WifWQ | SRl gRT AR +H

Wfﬁmﬁmﬁlﬁraﬁm%ﬁwaﬁ:
¥ : 15
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lhat are the different instances when Lost Sales
jbse can be utilised by the sales representative?
{ wide relevant examples.

i1 e e § wi faswy wfafifa @l fas
¢ (Lost Sales Close) = 3T & WAl @ 7
Al SR MA@ Hfa

Or (39en)

~at do you mean by fear appeal? You are a sales rep

BC Lid. selling pension plans to people in the age

pup 50-60. Devisc a suitable selling proposition for
r prospects and justify your use of appeal.

LG q Y A THEN §? | ABC fedo ¥
st § 1 s 50-60 9 W oemg & &
e e e fawa et 2 o R
VEAET % AT swaws s Afe e il aadt
A o STENT Y HrgEN fag e | 15




